+ )

JiaJl

T i £ 2%

NINGBOJIAJI

-
.
»
-

Terminal Block Manufacturer

E&Zin T ISk




erminal Block Manufacturer
EHirFEIWTIER

(w4 |

TREGBREEBRAE

ik P IETEHSEREEFEIIVEXAHEIE128S
mR%m: 315000

Hi%: 05674-55665696

fEH: 0574-55842261

RItt: www.nbjjjd.com

HRFE: wxs@nbijjjd.com

Ningbo Jiaji Electromechanical Technology Co., Ltd
Add:No.128, Buzheng East Road, Wangchun Industrial Park,
Haishu, Ningbo, Zhejiang.

P.C:315000

Tel:0574-55665696

Fax:0574-55842261

Website: www.nbjjjd.com

E-mail:wxs@nbjjjd.com



TEAEN pemzewsiss

TIREGTEBEREERATCIET2013F, BEFHITR, B—XNEELRT
ik, wit, I, £/, HERKRS—AKUHNTLHIER. ~RESRITPCBEL
imf, ERNESZR T, BEAPCBELZIRTF, MCSERRERZSE, RBIELR T,
M= FELR TSR TIZNBTBAOESR, BatEsl, B, N NE, B,
iR, %P, REA, NEXBEBFEXRAE., TRpHEHTHASE, FAEATEFN—X
¥FIF,

N EEIISO9001, 1SO14001, 1SO80079-34, 1ATF16949, OHSAS18001{K&
AIE, FPMEigUL, CUL, VDE, EX, CQC, CE. CB, ROHS, REACHFEHEXIALE. &
SRENENERE, HAMMERREN, SHNTE~RENTENmEREREERSE, %k
HARRIRENRULEESXRNE, BRTRINRRAEEXITEERX, BEEFEX.

ANBEREIFERNER T AZFIRHEODM/OEMRSIIEFE K EZNEE
KRR, RERMIIBRSE.

Bk, RENSL, BRBEF— FEAENEEFHERKNKEAZRIRE.

BRIEF INTRODUCTION

NINGBO JIAJI ELECTRONIC TECHNOLOGY CO., LTD was founded in 2013, we
are a professional manufacturer that specializing in R&D, design, processing,
production, sale and service of terminal blocks. The products include PCB
screw and spring, pluggable, MCS, feed through and barrier terminal block,
which are widely used in electric power control, automation control, elevator,
instrumentation, communications, power supply, security, lighting, rail
transportation and other related fields. The products are sold all over the
world and have received the unanimous praise from customers.

JIAJI has passed 1SO9001, 1ISO14001, ISO80079-34, IATF16949, OHSAS18001,
the products are UL, CUL, VDE, EX, CQC, CE, CB, ROHS, REACH approved.
Besides, with the excellent management, R&D and QC team, advanced testing
equipment and production device, comprehensive quality inspection system
and UL witness laboratory, we try our best to ensure the quality could reach
the relevant standard as well as meet the requirement of customers.

JIAJI not only develop standard product but also provide ODM/OEM service, in
order to establish a long-term cooperative relationship with customers and
provide them the best solution.

Excellence, quality first, service-oriented, continuous improvement and
customer satisfaction is our eternal purpose.

— 001 —



le:ll:l

i FE W EIVERS

) i, W
1 By
0 C ;!? - I%t'.
. lr === w=
i 4 EI_F : \.V;a'-
= Y% .. k,
o 2 %
%% (ki) ol

= PORDUCT CONTENTS

12$TT0P C B Lk
PCB SCREW TERMINAL BLOCK

17 z/HOW TO ORDER:
I - J-UOR - D00 - B

T Bl Color
0 [FE % No definition 10 k&Grey 40| &&Green |70| EBATrancp.
= s Y 1 |&4ZiEEESingle pitch 20| &&Blue  |50| & Orange |80| & Yellow
Mgé-d?el lﬁliftl?hﬁﬁ E%% 2 Wﬁ:;ﬂﬁliofbl:;ikh 30| %éslack 60| 41 Red ° 90 Elé\\l(\lhite
P003-018
iR IR L iR T
PLUG-IN TERMINAL BLOCK
1J75/HOW TO ORDER:
I |- 1-CJOIP -0
T e Color
0 |5&E Y No definition 10| x&Grey 40| £&taGreen |70| & Trancp.
= P % 1 |#f&igeESingle pitch 20| %&Blue  |50| &t Orange [80[ & Vellow
Mgé-d?el Jﬁilsjhﬁﬁ g%iﬁé 2 Wﬁ:‘EUEEDOLngI:pitCh 30 EBlack  [60] LtsRed ° 90| B2 White
P019-056
WEXPCBiEZin T
PCB SPRING TERMINAL BLOCK
1J75/HOW TO ORDER:
| |- 1-0J0IP - O - B
T e Color
0 |5&E Y No definition 10| x&Grey 40| &taGreen |70| & Trancp.
= i Y 1 |Bf=iE8ESingle pitch 20| EeBlue  [50] & Orange (80| & Yellow
Mgc_i);lael JﬁF?tlgﬂhEE E’Bﬁ% 2 Wﬁ:éﬂg;ozblep;itch 30 %é;ack 60[ 4Tt Red ° 90) EIE\\I(Vhite
P057-068
=i & inF
BARRIER TERMINAL BLOCK
1J75/HOW TO ORDER:
[ 1-000P-gUi-E
T B Color
0 |#&EXNo definition 10| x&Grey  |40| &aGreen (70| #EBATrancp.
= # 1 [BfEiEkESingle pitch 20| #fsBlue 50| #&&Orange (80| Z & Yellow
M%?el gﬁ% 2 Wf%:ﬂﬂEDoﬁbl: ptitch 30 BBlack  [60] rtRed : 90| B white
P069-099

— 002 —




Terminal Block Professional Manufacturer

IZ2ETPCBiZ&inF
PCB SCREW TErRMINAL BLOCK

BETHPCBIRLIR ¥, SMIRITFRM T IRLSE, BITERFENSR, JLUEREEN0.08mm2E3Smm2ERER
S4RE)E2.54mmZE15.0mmaE {#iEE. FRIZITAAIEC60947, UL1059, CSA C22.2 No.158%EfrinE.

PCB universal screw terminal blocks, this typical feature of the screw connection system is characterized by the easy
connection and extremely high contact strengths. Provide the wire size from 0.08mm?2 to 35mm?, Available with different

Pitches from 2.54mm to15.0mm. The product is designed in accordance with IEC 60947,UL1059, CSA CC22.2 NO.158
standards.

— 003 —



+ ) [N el = A=
JiaJi T:E1:|:gm
\ > NINGBOJIAJI

Pitch:5.0mm Pitch:5.0mm Pitch:5.0mm

NB300-5.0 NB300R-5.0 NB305-5.0

# A& ¥ Technical Date

2522 M3.0, i, fEs¥ 2522 M3.0, ¥, s 472 M2.5, W, &5
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M2.5 Steel Zn plated
A BE, EE A BT, EE BA BET, ER
Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated
=i, #5% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EEEBE/FRIR
Rated Voltage/Cllilrhrent 250 [VI/16 [A] RateéVoltage/Cll.l:'hrent 250 [VI/16 [A] Rateé\Voltage/Cu:"‘rent 250 [V]/16 [A]
53] 53] E25 3]
Vﬁﬁ{aﬂ 22-14 [AWG] M*,%?Ra%e 22-14 [AWG] Mi’;ﬁa,%e 22-14 [AWG]
HE HiE HiE
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.4[Nm]
TIRRE 40~ +105 TIERE 40~ +105 TrRRE 40 ~ +105
Operating t«lenriﬁierature 40 ~ +105[C] Operating t(len:nﬁerature 40 ~ +105 [*C] Operating tén:'lﬁerature 40 ~ +105 [*C]
so0 o P b . L’(’q@* *
i | g 5(x-1) & e
L2 [ 138 s 1D g D | Y V5.00£0.1]25 < % ) o)
TS \NPANZANY SR | 2
250 g >‘<| 3 o100 ||| 2.50 s 1D yary
& il 5XX+0.7 NVANVANY/
5007 AN ) d& D O b P.C.B. LAYOUT
P.C.B. LAYOUT — £ O N
07 _ 500 P.CB. LAYOUT |~1250_] \NPAVPANPANVANS ; 5,000
. 07 5.0XK 4
s S — : | A= - —
=) LI i S [
w203 N\ ] =
101.0040.1 [ 250 Emn—- = E J
R \ +5.00£0.1 & Ly '
- [ alc 5.00 250
*5.040.3 _— 5(X-1)

Pitch:7.5mm Pitch:7.5mm Pitch:5.0mm |

NB370-7.5 NB375-7.5 NB301-5.0

(523 M3.0, 9, fEeF (523 M2.5, 0, 5 [-523 M2.5, %, fEEF
Screws M3.0 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
A S, EE A S, R HA B, _
Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated
HiE, EiB bk BiE, ®5 VR HiE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B4 B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated Voltage/Cl’J):'Lrent 250 [VI/16 [A] Rated Voltage/Cl’lerl‘rent 250 [VI/16 [A] Rated Voltage/Cl'JJIrl‘rent 250 [V]/16 [A]
i 22-14 [AWG] i 22-14 [AWG] i 22-14 [AWG]
H5E H5E H5E
Torque 0.5[Nm] Torque 0.4[Nm] Torne 0.4[Nm]
TIFaE . TIFRE | TIFEE |
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]

5. 00KX+0. 5 5. 00(X%-1)

g H ‘,_m.‘7ml d] — 4\( H ﬂ ‘,ﬂj‘mﬂ SO0
2 . e haallalldars ° o7 S (f o =
il SOy ik e . DDA
| gty djm | A\\\\@Hs T SeUISilS
iis=jijs=jiiis=j! ok
070 A~ 7.50%K. . o 0,‘ 0 5. 00K A—
1] | T { "
ERElE [ 90 Sejisa e
Al 750-1 A= 7.5(0%-1) 4’7@1 i




<Y TP CBIELIEF

JiaJdi
o

PCB SCREW TERMINAL BLOCK

Pitch:5.0mm

Pitch:5.0mm

Pitch:5.0mm

NB301R-5.0

NB306-5.0

NB331-5.0

2522 M2.5, i, &5 422 M2.5, 0, fEfE 472 M2.5, W, &5
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
A BE, EE 3 Him, EE R By, #E5H
Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated Block Brass,Sn plated
Hif, %1% Big, #EH /
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer
B Bt Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EEE E/F R EEE E/FIR EEEBE/FRIR
Rated Voltage/Clljlrhrent 250 [VI/16 [A] Rate$VoItage/C3;hrent 250 [VI/16 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/12 [A]
53] 53] Egsi)
i 22-14 [AWG] i 22-14 [AWG] i 22-14 [AWG]
HE HE HE
Torque 0.4[Nm] Torque 0.4[Nm] Torone 0.4[Nm]
TIRRE 40~ “ TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(lenrl']n?erature 40 ~ +105 [*C] Operating t(tenlg'l?erature 40 ~ +105 [*C]

5.000%-1) 250,

//,,,j m 5.00 91.00
\

§ #1.20 % G G // kS

Eﬁf e)) L A

Lol [N
5.00(X%1) —

050 5,000

L]

= =i

El wo

d
E

5.0000-1) {250
P.CB. IAYOUT

aar\a
DJNTN

]

/R

Nlg
L

1 [
¢

5000-1) 1240

1 [
¢

A=
AMWHF

I
:

| 5.00(0(-1)+2.60 |
500(X¢-1)+5.50

Pitch:5.0mm

Pitch:3.5mm

Pitch:5.0mm

NB332K-5.0

NB333K-3.5
# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

NB332J-5.0

[ id M2.5, $0, {EFF 22 M2.0, 54, 22 /
Screws M2.5 Steel Zn plated Screws M2.0 Steel Zn plated Screws
HR ®=i, EH TR EifE, %5 HA /
Block Brass,Sn plated Block Brass,Sn plated Shrapnel
/ / =g, 5
Pin headeer Pin headeer Pin headeer Brass,Sn plated
B - 81t - Bt -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PBT,UL94V-0
HUEE E/H R HEE E/H R EBE/A
Rated VoItage/Cl’J):'Lrent 300 [VI/10 [A] Rated VoItage/Cl’JllrLrent 300 [VI/8[A] Rated Voltage/CllJJIrl‘rent 300 [VI/10 [A]
\l\%e Ran%e 22-14[AWG] \I\I;i%e Ran%e 22-14[AWG] V\%e Ran%e /
H5E H5E 5B
Torque 0.4[Nm] Torque 0.2[Nm] Torque /
TIFaE . TIFaE | TIFEE
Operatiné’iﬂ?erature -40 ~ +105 [*C] Operatin;’Eén;?erature -40 ~ +105 [*C] OperatingEénr.;lpxerature =30~ +120

AN
WY

=
==
[

5.00KK 0.60

050 35X 050

350-1)

FIETEL.

950

10.00

2 81.60

|
e le ¢ ¢

E 500
250 S.000-1)

P.CB. LAYOUT

12.50




+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

Pitch:3.5mm Pitch:3.5/3.96mm Pitch:3.5/3.96mm

NB333J-3.5 NB350-3.5/NB396-3.96 NB350R-3.5/NB396R-3.96

1B / 185y M2.0, 4, s |42 M2.0, X, §Es
Screws Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated
A / A Him, EE BA BET, ER
Shrapnel Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PBT,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EEEBE/FRIR
Rated Voltage/Clljlrhrent 250 [VI/16 [A] Rate$VoItage/C3;hrent 125 [VI/10[A] Rateé\Voltage/CL‘J/:"‘rent 125 [VI/10 [A]
53] E25 3] Egsi)
\A}I%?Ranl%‘e / \I\%?Rar%‘e 24-18 [AWG] V\%?Rar%le 24-18[AWG]
HE HiE HiE
Torque / Torque 0.2[Nm] Torque 0.2[Nm]
TIRRE 30~ +120° TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 30 ~ +120[*C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(tenlg'l?erature 40 ~ +105 [*C]
5 350(00-1)
Y = 3IE(01]
3.50(XX-1)+2.50 91.20 . ,,)I // % . ,;, 777777777 / 7“‘ = s080 ;gg %
3 = 2 g 4 S i
] J% 3 i iﬂ W i T 1 L
| ) | I1F
: L 66e
350 o EE 25 S
3960 1 3’“159()0(—1) )L
W[ et S | N

I e —

9080 |

‘ 043 350X 053
z} ) 396XK
I
1 |
| \ E

3963 sy S

3.96(0t-1} 6.80 T T

IL
wj

s
]

Pitch:5.0mm Pitch:5.0mm E’ Pitch:5.0mm )

NB126-5.0 NB126R-5.0 NB166-5.0
#ASH Technical Date

(523 M2.5, $0, {EFF (523 M2.5, $0, FEEF [-523 M3.0, 4, #EF
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M3.0 Steel Zn plated
BET, EER A BEET, ER HA ST, IR
Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/8 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/8 [A] Rated VoItage/CllJJIr"rent 300 [V]/15 [A]
e OB 26-14 [AWG] e OB 26-14 [AWG] s o 26-14 [AWG]
H5E H5E H5E
Torque 0.25[Nm] Torque 0.25[Nm] Torque 0.5[Nm]
IIREE | IIRaE . TIERE .
Operatinginaierature -40 ~ +105[*C] Operatin;’Eén;?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]
__ 5.0000X-1) y < 150 -
g Iz Ve o [ ﬁ: ﬁ S”L%ﬂf TS{Q - D)
~ | | b4
g W | A\ g | | ﬂ 1]
) N NND 5 | W | | s |l
5 = It ! 81.40 JZ ! P.C.B._LAYOUT 20004140

7.60

5,000

|
|
|
|
|
|
i i
500 J
055 5000 s 2 I}
— P.C.B. LAYOUT H ‘ ‘ ‘ H /
[
K?i 055 5,000 | |

g
%E

060 500 250,
50000-1)

(=]
e
=

100 [7] 500 o070 Il
370 5.0(%-1) 370




siagy BIIXPCBRELZIKT
\_» PCBSCREW TERMINALBLOCK

-
-
-
-
-

PR

olalod dol

Pitch:5.0mm Pitch:5.0mm Pitch:5.0mm
NB167-5.0 NB167R-5.0 NB103-5.0
AR EH Technical Date K& Technical Date A 8% Technical Date
[543 M2.5, $, fEEE 2522 M2.5, 0, fEfE |52 M2.5, W, $E5F
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
A BE, EE A BT, EE HiR By, #E5H
Shrapnel Phosphor bronze, Niplated Shrapnel Phosphor bronze, Niplated Block Brass,Sn plated
=i, #5% HiR, EH =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
2} 2} 2}
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
- /B 5 /BRI i} 5 /B
Rategéﬁ\zvﬁoﬁga%!%lﬂhrent 300 [VI/15 [A] Ratﬁ%ﬁa%!%d;hrent 300 [VI/15 [A] Ratfgr\%ﬁ%a%g%m}rent 300 [V1/16 [A]
Siais N 26-12 [AWG] i 26-12 [AWG] i 24-12 [AWG]
iR, 0.4[Nm] iR, 0.4[Nm a8, 0.4[Nm]
TIRRE 9 TIRRE 9 TIRRE o
OperatingEemfgerature -40 ~ +105 [*C] Operating{;’Eemfgerature -40 ~ +105 [*C] Operating{;’Eemr:erature -40 ~ +105 [*C]

S0000-) _as0 2
RN

DD

150

Il | BSAR F J o |
J{W 7 ?é?mf i\ | jﬂ V \\”
T J I i }Sﬁﬁj%s /Z
P.C.B. LAYOUT 5,000 ‘ i \r% \¥%‘)!\ p
E — )
. Oy
"
wwl = = k h
so0-1)_ | 280,

Pitch:5.0mm Pitch:5.0/5.08mm / Pitch:5.0/5.08mm
NB122-5.0 NB125-5.0/5.08 NB125R-5.0/5.08
%A S # Technical Date % A S # Technical Date %A S Technical Date
A M3.0, 4, & 422 M2.5, 4, &5 22 M2.5, 4, e
Screws M3.0 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
TR =i, %1% =g, #EH TR =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, #% Vakas =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Hoatt g PA66,ULI4V-0 Hoatt g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
EBE/BR TEBE/BR MEES &/
Ratf?@%%a%s{f%d:yrent 300 [V]/10 [A] Ratggi\ﬁﬁ?‘a%e{%dlrhrent 300 [V]/16 [A] Rategau\f)%’a%e/%glr"rent 250 [V]/16 [A]
Mﬁﬁgﬂ 22-14 [AWG] ﬁ?kgfe 22-12 [AWG] M%?REEE 22-14 [AWG]
e 0.5[Nm] . 0.4[Nm] . 0.4[Nm]
Operat%g'?en;}%erature -40 ~ +105[*C] Operat%g'?en;%erature 40 ~ +105[C] Operat%éf;enr.#pgerature 40 ~ +105[%C]

fL

250

985

985

RWAR
AN

AN

N
N
]

[nG|

aaffesie
//

250 500(%-1)

v 7%
SoBpcl) [ 208
\

XX

E20%

vave

e

e
o
©

s00px-1) 250
5080 1) 258

80

— 007 —




+ ‘ = ==
JiaJi T:Eﬁ::gm
o

NINGBOJIAJI

%%
i o Eﬂ
) ) )

Pitch:5.0/5.08mm

NB127-5.0/5.08

Pitch:5.0/5.08mm"  © &

NB127R-5.0/5.08

Pitch:5.0/5.08mm

NB128-5.0/5.08

2522 M2.5, i, &5 2522 M2.5, 0, s |52 M3.0, , e
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M3.0 Steel Zn plated
R Hif, #9% HR Big, #H HiR By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Cllilrhrent 300 [VI/12 [A] RateéVoltage/Cu:'hrent 300 [VI/12 [A] RateéVoltage/Cu:"‘rent 300 [V1/16 [A]
RESEE IRESEE R
Wire Range 26-14 [AWG] Wire Range 26-14 [AWG] Wire Range 22-12 [AWG]
HE HiE HiE
Torque 0.4[Nm] Torque 0.4[Nm] Torque 0.5[Nm]
TIRRE 40 - - TIERE 40 ~ +105 [* TIRRE 40 ~ +105
Operating t«lenriﬁierature 40 ~ +105[C] Operating t(len:nﬁerature 40 ~ +105 [*C] Operating tén:'lﬁerature 40 ~ +105 [*C]
5.00000-1)
=A== O80T B B4 // ==
SO 5 " il }T S
: e | o BT T by !
S 00 yanWanWan\y o PCB, LYoUT
T STAVEASTE B
o 080 e chogxﬁyuw i a //7
I
// o \l
| B j 'miEEE
LN : =L R N
; 25 085 00(xx-1) + 200 " 5.0000-1) 250
0BT T 07 wﬂg’%@é}g =

Pitch:5.0/5.08mm Pitch:7.5/7.62mm d ! Pitch:7.5/7.62mm

NB128R-5.0/5.08 NB128-7.5/7.62 NB128R-7.5/7.62

(523 M3.0, 4, fEeF [543 M3.0, ), EeF [-523 M3.0, W, EFF
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
TR =i, %% SR =i, ¥% iR =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
HiE, EiB Hi, EiH HiE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B4 B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FR ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/16 [A] Rated Voltage/Clljjlrl‘rent 300 [VI/16 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/16 [A]
i 22-12 [AWG] i 22-12 [AWG] i 22-12 [AWG]
H5E H5E H5E
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
TIFaE . TIFEE . TIFEE |
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.ﬁierature -40 ~ +105 [*C] OperatingEénr.}\pxerature -40 ~ +105 [*C]

1570

E0B(XK1)
PCB. Lavour

800(0-1)
B 0B01)
a0 a%0

1

1020

1460
1410

™

8.‘ 60

1020

QL == H O H
RPN |
4 AN WA E
) ST ARV ARNT AL
435 | 7% e
7500%-1)
B o
s
ass | 7sopen)
a4 7.62001)

1570
460

35

7.5000-1)

762001)
750 030
]

=

ﬁ//k

1020

© 0.0

L
TE00H0 60

762080

1460

1410

—— T

i

— 008 —




Y BETRPCBIEL

Jiadi
\» PCBSCREW TERMlNAL BLOCK
L. S
Pitch:5.0mm Pitch:7.5/7.62mm Pitch:5.0/5.08mm
NB128E-5.0 NB128E-7.5/7.62 NB129-5.0/5.08
A8 Technical Date A8 % Technical Date A 8% Technical Date
2522 M3.0, Y, s 2522 M3.0, Y, s |52 M3.0, 4, fEe
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
R =i, #5 R =i, E5 iR =iE, #5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, #5 =i, E5 Vakis =iE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL9I4V-0 i PA66,UL9I4V-0 i PA66,UL94V-0
Ratt??%ﬁga%e/%ﬁrent 300 [V1/16 [A] RatgﬁﬁaE!f%ﬁrent 300 [VI/16 [A] Rat?dmf\%ﬁ%a%é%ﬁent 300[V]/20 [A]
i 22-12 [AWG] i 22-12 [AWG] i 26-12 [AWG]
iR, 0.5 [Nm] iR, 0.5 [Nm] a8, 0.5[Nm]
=) o B o BE o
Operat%giénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iémferature -40 ~ +105 [*C] OperatT—Eg{;E(IemJ:erature -40 ~ +105 [*C]
5 1 e e i g T / CET TET) T
. q 1 8l 5150
SSF El /( ] aa S // == S =8 ‘ / == g L% sl e %%2 va E
& E EN 0 JAANEY AR WA
— 20 N E7J N E T \j) @ S AT\ 8 L )] I
- =i

T

// 7.50(XX-1) —_— 0.60 50X 0.6
-

! s ooy o 7

|

\ '

1 [ n

5.0000-1) e 20

180

=T

g

LI

—_—
it
M
L1t
T
|

——7]
l‘é
T
P

75000-1)

50004050

Pitch:7.5/7.62mm ‘ Pitch:5.0/5.08mm Pitch:7.5/7.62mm

NB129-7.5/7.62 NB129R-5.0/5.08 NB129R-7.5/7.62

2522 M3.0 , e [:2:522 M3.0, $, FEFF [:2:522 M3.0, ¥, $EFF
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
=i, % VLS =i, 5% VS =i, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
HiE, #5 Vakas HiE, #5 Vakas B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
ENEES E/ER R E/ERIR EESBE/BIR
Rated Voltage/Cl’J):'Lrent 300 [V1/20 [A] Rated Voltage/ClIJ“rl‘rent 300 [V1/20 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/20 [A]
i 26-12 [AWG] i 26-12 [AWG] i 26-12 [AWG]
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torne 0.5[Nm]
TRE - TERE ; TERE ;
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}lierature -40 ~ +105 [*C] OperatingE:r.}npxerature -40 ~ +105 [*C]
10 50000-1) . 7ot
==Y =N ” = // R i 3 750752()«4;
3 AFT ® 7é}$€} " ﬁ% 2 1. Il =
i e " \\ =2 L“JH/)L“J 33 =y e
Fe) N/ 5 o dl o
S o 2500 o j[ N %% i 6% o 69 o\}\]é% 3

762X T W 500 #is ”
]/ I St
FOR001)

P.LB. L4YOUT

[

180
=
=

==

1740

1740
1800

§l§
500
e =
F
T
=
_

435
a4

620




+ b [ 4E
JiaJi Tl&{:tgm
v NINGBOJIAJI

-

f“ I-"?.?_‘-' LLE

‘H‘ | ||

Pitch:5.0/5.08mm Pitch:7.5/7.62mm Pitch:5.0/5.08mm
NB130-5.0/5.08 NB130-7.5/7.62 NB130T2-5.0/5.08
AR EH Technical Date K EH Technical Date A 8% Technical Date
2522 M3.0, Y, s 2522 M3.0, Y, s |52 M3.0, R, HE
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
R =i, #5 R =i, E5 iR =iE, #5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, #5 Vakis =i, #5 Vakis =iE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
.
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
/e L5 TR B E/FB e
Ratgaﬁga%!fgd;hrent 300 [V1/20 [A] Ratﬁ%ﬁa%ﬁ%dlrhrent 300 [V1/20 [A] Ratfgr\%ﬁ%a%g%m}rent 300[V]/20 [A]
Siais N 26-12 [AWG] i 26-12 [AWG] i 26-12 [AWG]
iR, 0.5[Nm] iR, 0.5[Nm a8, 0.5[Nm]
35 N BE o R °
Operat%gfé%%erature -40 ~ +105 [*C] Operat%giemfgerature -40 ~ +105 [*C] Operat%gﬁemr:erature -40 ~ +105 [*C]
77777 5.00(0-1). 250
I LE% ;Q#i T ES Ry i
g 50 W N | 5 \ - - Eununzfunz)
LN ee %9 |1t 7000 | 586
“ P 762 | ” wa | : 1 %[E
. - gl b ooe
seon | ron o 220 ziow 22 Il
T i Pas o

1800

1800

=l
=

5\w
—
E;
s
B
H
FE—
:

)

. B

st 752001)
S0A01)

- -— - e -

L] ] -~

Pitch:5.0/5.08mm Pitch:5.0/5.08mm Pitch:5.0/5.08mm
NB130T2A-5.0/5.08 NB130T2B-5.0/5.08 NB130T3A-5.0/5.08
# K& % Technical Date # K& % Technical Date # K& % Technical Date
2422 M3.0, N, ¥EEE 1Re M3.0, N, ¥EE 42 M3.0, W, &S
Screws M3.0' Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
HiE, E5% =iE, #5% Fk =iE, #5%
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
HiF, #5 FEt =iE, #5% FEt =iE, #5%
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Hoatt g PA66,ULI4V-0 Hoatt g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
/A /T REEE /T
Rategg@%ﬁ?'a%!%d:'urent 300 [V]/20 [A] Rateggfl%ﬁ?a%e{%dlrhrent 300 [V]/20 [A] Rategdki\f)%’a%e/%dlr"rent 300 [V]/20 [A]
mﬁﬁaﬁﬂ 26-12 [AWG] vﬁﬁgﬂ 26-12 [AWG] M%?REEE 26-12 [AWG]
g 0.5[Nm] . 0.5[Nm] . 0.5[Nm]
LAFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C] LAFRE 40 ~ +105 [°C]

Operating temperature Operating temperature Operating temperature

o0 _ S0 s s g
S0t [ Tsamu | [ 25
3 el & [ ] ]
| B adba) g
N | = - \S=A{=AS| =
R “ gs Lo 3 3| 1 | s ]
u ! == g 5
| e 5 B |
@ | = of
I bt o9 ey "
ERRL
£, oo
P 050 swwam —
St
ast S0 S |
- T ] T
T T
I P
. —i—
il LA i
i | |
I I 3
[@]@[@ R
1L LI ,
——J 1 |50 25 5| 1000 1500 50
25 508 = 10.16 15.24
5m)(xx 1) S.00{Xx-1)
= "5.08(X~1)




<) EETRPCBIE SR T

JiaJdi
o

PCB SCREW TERMINAL BLOCK

S
|

Pitch:6.35mm

Pitch:6.35mm

W
FPLLL

Pitch:6.35mm '

NB635-6.35
_____#mASE TechnicalDate

NB635VK-6.35
____#mASE TechnicalDate

NB636-6.35
______#ASH TechnicalDate |

423 M3.0, %, #EFE 472 M3.0, %, #EFF 472 M3.0, W, $E5
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
R Hif, #9% HR Big, #EH HiR By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated

Hif, %1%

>4
Pin headeer Brass,Sn plated

Big, #EH

>4
Pin headeer Brass,Sn plated

Hig, #EH

>4
Pin headeer Brass,Sn plated

Pitch:7.5mm )

2} 2} 2}
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
EERBE/FRR EERRE/RIR EERBE/RBIR
Rated Voltage/Clljlrhrent 300 [V1/30 [A] Rate$VoItage/C3;hrent 600 [V]/30[A] Rateé\Voltage/CL‘J/:"‘rent 300 [V1/30 [A]
sz 43 3z 43 2z 43
Siais N 26-10 [AWG] i 24-10 [AWG] i 26-10 [AWG]
HE HiE HiE
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
TIRRE 40~ +105 TIERE 40~ +105 TrRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]
Rt gt 3{5 : 635;?5(—1) )
ayaan T JIo Toloy e
NPA L S Mt o 320 I 3 SRVED USDIN
i i = §T 7777777777 B Vi NVANVANVANY/E
P.C.B. LAYOUT e 2ep. o ===
Lo L 16.85 635K
L] L = N
if f = f f L]
it o [ i P
LU Wh 4 |- By
=" e T I~ ]
| == & i,? i
i = Vi u
T s T i T
%’- °l .imz ﬂwaa - 210 gafﬁiguz‘ § 318 5.35iﬂ.§ s - = 63501 s 100201
¥ g 6.35(X(-1) 430403 055 63500
- =y

Pitch:7.62mm

-

, -

Pitch:9.5mm

NB750-7.5

NB762-7.62

NB950-9.5

# K& % Technical Date # K& # Technical Date # K& # Technical Date

184y M3.0, 4, #EEE 2522 M3.0, 4¥, 184y M3.0, W, #E
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
TR =i, %1% SR Hig, #EH TR =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, ¥ =g, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Hoatt g PA66,ULI4V-0 Hoatt g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
HERBE/RR HERBE/FR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/30 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/30 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/30 [A]
e o 26-10 [AWG] e OB 26-10 [AWG] = o 26-10 [AWG]
H5E H5E H5E
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
IIREE | IIRaE . TIERE .
Operatingiﬂﬁerature -40 ~ +105[*C] Operatinéfé%?erature 40 ~ +105[*C] OperatingEénr.;\pxerature 40 ~ +105[%C]
— N I [ e
a0 e 1 : 2 4| & b 1] Iaswazasw s
IIBEN e A/ i RRE & &5, SO
il SZATaNy g ) T =
| J P 5
m 0.55 —
] )
[ i
g =] . /
: & (
1\
—t I Il) ) uwr [N
460803 | | i &w, N «Lﬂ 473
60203 o iy s oniace g 7.6200-1) 525103 o s ™
§ sy ¢ i




+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

Pitch:10.16mm Pitch:10.16mm ' Pitch:10.16mm

NB116V-10.16 NB116VW=-10.16 NB116VK-10.16

[543 M4.0, 0, HEFE [543 M4.0, 0, FEEE [543 M4.0, W, $E5F
Screws M4.0 Steel Zn plated Screws M4.0 Steel Zn plated Screws M4.0 Steel Zn plated
R Hif, #9% HR Big, #EH HiR By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EEEBE/FRIR
Rated Voltage/Clljlrhrent 300 [V1/52 [A] Rated Voltage/CSlrhrent 600 [V1/65 [A] Rated VoItage/Cl‘Jl:"‘rent 600 [V]/65 [A]
53] E25 3] Egsi)
i 20-6 [AWG] i 20-6 [AWG] i 20-6 [AWG]
HE HiE HiE
Torque 1.2[Nm] Torque 1.2[Nm] Torque 1.2[Nm]
TIRRE 40~ +105 TIERE 40~ +105 TrRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(tenlg'l?erature 40 ~ +105 [*C]
Z 5.08 10.16(Xx=1) 10.1680+0.75
1 Sy 10.16(0-1) S
i1 7N e | e 5 SO
il N NZAE i f_r* A e Q]——é v+ e Al
] g Sl = s cE SNSTAS ISR
| | ) Ml BoeedE || v  BEFET
P.C.B. LAYOUT R i P.C.E. LAYOUT L
—_ P.C.B. LAYOUT
10.16KK 0.60 075 10160
10.16(x-1) 10.1600¢-1)

I
i
I
0
I

| 1] j ' T

I

I = S Bt Ny

10.16,

1
28.50
Jo.8o
EFE=N

4
— A

E
i)
g

e~

4.60£0.3
*5.0040.3

R —

-
DRt 3
o S
| | N

B he |
\
PEp| J
Pitch:12.7mm ' Pitch:5.0mm

NB116VK-12.7 NB117-12.7 NB330-5.0

J

®
v 01.00
180 ) 12.70

635 127001

(523 M4.0, $0, FEFF [543 M4.0, 0, s [-523 M2.5, 4, fEEE
Screws M4.0 Steel Zn plated Screws M4.0 Steel Zn plated Screws M2.5 Steel Zn plated
=i, %1% Hig, #EH HA ST, IR
Block Brass,Sn plated Block Brass,Sn plated Shrapnel Phosphor bronze, Niplated
=i, ¥ bk =g, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FR ENER /R
Rated VoItage/Cl’J):'Lrent 600 [V]/65 [A] Rated VoItage/Cl’Jllrhrent 600 [V]/65 [A] Rated VoItage/CllJJIr"rent 300 [V]/15 [A]
e OB 20-6 [AWG] e OB 20-6 [AWG] s o 28-14 [AWG]
H5E H5E H5E
Torque 1.2[Nm] Torque 1.2[Nm] Torque 0.4[Nm]
IIREE | IIRaE . TIERE .
Operatinginaierature -40 ~ +105[*C] Operatin;’Eén;?erature 40 ~ +105[*C] OperatingEénr.;\pxerature 40 ~ +105[%C]
635 12.7(XK-1)
12.7(XX-1)+10.91 N I | l;ng; gj
1270-1) Y s o1 216 | ol
| . - R w |y oo &) 3 O
| e SIE = B
(T S O W g e e O oOle - lzsl | 3 \—h
e )+« \ Ea L I ; . b Srenss
T P.C.B. LAYOUT P.CB. LAYOUT
P.C.B._LAYOUT 075 12.7(XX-1)+10.16 1L -
12.7006-1) “4 /»— ‘ s U85
N e ,, q
VT =
1.

*5.0010.3
[}

2.70

1 wsipg
SED

I
#3.3040.3

127X 1.00




<) I2ETRPCBIEL R

JiaJdi
o

PCB SCREW TERMINAL BLOCK

& » Py
o’
. LLLLL
- |
Pitch:10.0mm Pitch:10.0mm Pitch:3.5/3. 81mm oYV

NB410-10.0 NB1010-10.0 NBXD350-3.5/XD381-3.81
AR EH Technical Date K& Technical Date A 8% Technical Date
[543 M3.0, %, #EFE 2522 M4.0, 0, FEEE |52 M2.0, W, &5
Screws M3.0 Steel Zn plated Screws M4.0 Steel Zn plated Screws M2.0 Steel Zn plated
VLS =i, #5 VLS HiR, EH VES =i, EH
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated

Hifl,

4]
Pin headeer Brass,Sn plated

i,

4]
Pin headeer Brass,Sn plated

i,

4]
Pin headeer Brass,Sn plated

19.85

i PAG66,ULI4V-0 i PAG6,ULI4V-0 i PAG6,ULI4V-0
Ratféﬁ\zvﬁoﬁga%e/;‘éaﬁrent 300 [V]/?_O [A] Ratft)?%ﬁga%g%ﬁ‘rent 300 [V]/30 [A] Ratfdmr\%ﬁ%a%ggzlﬁent 300 [V]/1 0 (Al
Siais N 26-12 [AWG] i 26-10 [AWG] i 26-12 [AWG]
iR, 0.5[Nm] e, 1.2[Nm] e, 0.2[Nm]
Operat%gfii%erature 40 ~ +105[*C] Operat%gin?n%erature 40 ~ +105[*C] Operat%g'iin?n%erature 40 ~ +105[*C]
el = o= || 1% =
L 24.30 g k O - [\[\ E

I
=

. el ==1E P i H\j)tg
@ | %A = : WE kﬂJ Z - . - )
i s |3 g L — Tt
— S T
EEEEEE LY »Hu
ll....-..l.: : f-" hbbh
Pitch:5.08mm v Pitch:5.08mm lt‘ Pitch:2.54mm J
NBXD508-5.08 NB127-5.08 NBEK254-2.54

# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

9B M3.0, = Ey M3.0, T M1.6, W, @
Screws M3.0' Steel Zn plated Screws M3.0 Steel Zn plated Screws M1.6 Steel Zn plated
TR =i, %1% bzl Hig, #EH TR =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR EEBE/E IR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cu}IrLrent 300 [V]/12 [A] Rated VoItage/CujIr"rent 157 VI/T [A]
e o 26-14 [AWG] e OB 26-14 [AWG] = o 26-18 [AWG]
H5E H5E H5E
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.1[Nm]
IIREE | IIRaE . TIERE .
Operatingiﬂﬁerature -40 ~ +105[*C] Operatinéfé%?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]

WA S IEE
s ;\

Soeease

P.C.B. LAYOUT EEY==1=2)

5.08XX+0.92

1

121

EYayes
ik

508
[ steoen

Rk

5 o—

251 eefeer2.50
==} === L‘

[CICICICIO)

ACACACR L)

T

ﬂj

[

o
10, 16

15,40

ﬂ

il

il lsailsiilsallisailsa]
V= = = = = =
H U

AL

(2-1) x2. 5
XN X2

-

Ly
Lo50

254X 1)+3.00
2.54(X¥-1)

754
= s sl s s sl el el

43 :1 ASZASZASZASZAS:

) SS / ’ iZASZA~z A=)
S T
LY 1.50

P.C.B. LAYOUT

620

9=

620

254(X-1)+300

el

h.50) —asx-1)

e 1
LT
IRT=|
CELT
IRT=|
CELT
IRT=|
LT

— 013 —




+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

5% o -~ B
Y : E EFIFF

.h ‘hr J ”,l\”f‘

Pitch:3.5/3.81mm Pitch:3.5/3.81mm Pitch:3.5/3.81mm‘

NBEK350-3.5/EK381-3.81  NBEEK350-3.5/NBEEK381-3.81 NBEK350A-3.5/NBEK381A-3.81

[543 M2.0, %, #EFE [543 M2.0, %, #EFF [543 M2.0, W, &5
Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated
R Hif, #9% HR Big, #EH HiR By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EERBE/RBIR
Rated Voltage/Clljlrhrent 300 [VI/10 [A] Rate$VoItage/C3;hrent 300 [VI/10 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/10 [A]
53] E25 3] Egsi)
i 28-16 [AWG] i 28-16 [AWG] i 28-16 [AWG]
HE HiE HiE
Torque 0.2[Nm] Torque 0.2[Nm] Torque 0.2[Nm]
TIRRE 40 - - TIERE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]

- 04 350 040

W 2 B
- | F 040 3500 040
ﬂﬁ 3 . /. A AN ‘ mxxH
g LS 1 A raiwaiyaiy
%% = g K& ] I ERINIZAN PN
1 . B 1 s
3871001, |
o Amw\]
\NEANZ/ é

:

S

B ,Im
i

\_‘

.
.

e

090

LW 2

3500011} 3
THET,

o

. | -
= ;s\iil SCLLT
B b e

/ g y— i
Pitch:3.5/3.81mm Pitch:5.0/5.08mm Pitch:5.0/5.08mm

NBEK350B-3.5/NBEK381B-3.81 NBEK500-5.0/NBEK508-5.08 ~ NBEEK500-5.0/NBEEK508-5.08
B A S H Technical Date

(523 M2.5, $0, {EFF (523 M2.5, $0, FEEF [-523 M2.5, 4%, fEEE
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
=i, %1% Hig, #EH TR =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/15 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/15 [A]
BEBE ESBE EESOE
Wire Range 30-14[AWG] Wire R/ange 30-14[AWG] Wire R/ange 30-14[AWG]
H5E H5E H5E
Torque 0.4[Nm] Torque 0.4[Nm] Torque 0.4[Nm]
TrRRE 40~ +105 TRRE 40~ +105 TRRE 40 ~ +105
Operating té%?erature 40 ~ +105[*C] Operating téﬁ?erature 40 ~ +105[%C] Operating ténr.;\pxerature 40 ~ +105[%C]
NI o sy
m(xx—(w Z ~ suse — D}gm'
g [ of e JanWany/an\
o 7 R T\\ o o EF v \/\/ . / g
E o1.50] b . # 1t
Jaaa )),,,,J ) |\
W=A=ASz) % PLB. LAYOUT s 000 am
) 0| o P.C.B. LAYOUT >

e S0 050 //
[}
il
= : i Jr;% - . WS {ﬂi koL en ] =
35000-1) ) 510 5.00(0x-1) 100 |
)

am
5.000-1)
5.0800-1)

1630
=

T
0
2530

[l
] =

8%
[l
BT

150

350

=]
—11[
=
===y
=T
=
W]

?




siagy BIIXPCBRELZIKT
\_» PCBSCREW TERMINALBLOCK

e - . - “
p— um_l P “I

LY Tl
. ) “' | ‘ .“r l
Pitch:5.0/5.08mm Pitch:5.0/5.08mm Pitch:5.0/5.08mm

NBE3K500-5.0/NBE3K508-5.08 NBEK500A-5.0/NBEK508A-5.08 NBEK500B-5.0/NBEK508B-5.08
K AREH Technical Date AR E % Technical Date

[543 M2.5, $, fEEE [543 M2.5, 0, fEfE [543 M2.5, W, $E5F
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
R Hif, #9% HR Big, #EH HiR By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EERBE/RBIR
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rate$VoItage/C3;hrent 300 [VI/15 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/15 [A]
57 44 3k 57 44 3k 37 b 3k
Siais N 30-14 [AWG] i 30-14 [AWG] i 30-14 [AWG]
HE HiE HiE
Torque 0.4[Nm] Torque 0.4[Nm] Torque 0.4[Nm]
LIFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C]

Operating temperature Operating temperature Operating temperature

310 5000-1) s000-1) g

M/( éﬁg‘ mmﬂvr_nr: i 5 g
E o WW{FD:' §%%%‘!‘% i o E
) gd‘m;r
. LAYO! W s 080 IS=ASe) Sk
EIEIE] T
JUH'\'\HL
J/I el I i
AP E S o T [
] B b o v | Lo
5.08(0—1) S.08(01) 254 5 0B0—1)
— —
En
- LT
Pitch:5.0/5.08mm g Pitch:5.0/5.08mm ' Pitch:5.0/5.08mm

NBE2K500A-5.0/NBE2K508A-5.08  NBE2K500B-5.0/NBE2K508B-5.08  NBE3K500A-5.0/NBE3K508A-5.08

A M2.5, 9, {EE 1Rz M2.5, 4, &5 1R M2.5, 4, $EE
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
TR =i, %1% SR Hig, #EH TR =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Hoatt g PA66,ULI4V-0 Hoatt g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
TR E/ BT TR E/ B TEBE/ R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/15 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/15 [A]
e o 30-14 [AWG] e OB 30-14 [AWG] = o 30-14 [AWG]
H5E H5E H5E
Torque 0.4[Nm] Torque 0.4[Nm] Torque 0.4[Nm]
LAFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C] LAFRE 40 ~ +105 [°C]

Operating temperature Operating temperature Operating temperature

ol |
coe £ |
[ N —
060 stxhz.s 060 Li' - 080 5335::%5 060 060 50004250 060
T i i+ /_77 ﬁ /:77 iUB)jg(ﬁ‘
;| i :
i ‘ il ﬁ@ |
| = | = [ET B
1 7 I 1
El 3l 1
. FIEEE I nE ] e T
il L il ”
‘ 1 e " ETEH
I a0 17/-[ 1 i
: ; | I
U "3 Tuy P R
1.60 080 a0l | | Lado, 090 160 080 a0l I | Laol i oso 250
016 M | |soooey 1016 e Lnﬁ(ﬁ—u 25 oot
2565080 1) 254 BB o)

— 015 —



+ ) [N el = A=
JiaJi T:Ef:l:gm
v NINGBOJIAJI

Sl

LTS j ‘
Pitch:5.0/5.08mm Pitch:5.0mm

Pitch:5.0mm | !
NBE3K500B-5.0/NBE3K508B-5.08 NB105R-5.0 NB105V-5.0

KA SH Technical Date K& Technical Date AR E % Technical Date
423 M2.5, $, fEEE 422 M2.5, 0, fEfE 472 M2.5, W, &5
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
VLS =i, #5 VLS HiR, EH VES =i, EH
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, #5% HiR, EH Vakas =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EEEBE/FRIR
Rated Voltage/Cll.llrhrent 300 [VI/15 [A] RateéVoltage/Cll.l:'hrent 300 [V1/20 [A] Rateé\Voltage/Cu:"‘rent 300[V]/20 [A]
53] 53] E25 3]
i 30-14 [AWG] i 26-12 [AWG] i 26-12 [AWG]
HE HiE HiE
Torque 0.4[Nm] Torque 0.4[Nm] Torque 0.4[Nm]
TR N TR N TiEE N
Operatingfénr.ﬁ%erature -40 ~ +105 [*C] Operatinéﬁé?n%erature -40 ~ +105 [*C] Operating{;’i(’en:'l%erature -40 ~ +105 [*C]
ot e st
= {2 . I RS
RiE B NN R e T
g =g e B|eeeeets
g e 8
P.CB. LAYOUT I U’);M I 500025 MI
3, P.C.B. LAYOUT

500425

oo o] s
SSSS
I
i el

360

1050
—
[OR=E=—=—0)
@
©

Q)

— 'S.DDWEIJ
sy So-1)

|
—

|
g

350403

Pitch:5.0mmj ‘ J Pitch:5.0mm Pitch:7.5mm
NB105RA-5.0 NB105VA-5.0 NB105R-7.5

# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

(523 M2.5, $0, {EFF [:2:522 M2.5, $0, FEEF [:2:522 M2.5, %, $EFF
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
VLS =i, % H|il, #EH VS =i, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
HiE, #5 Vakas B, #E5 Vakas B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
ENEES E/ER R E/ERIR EESBE/BIR
Rated Voltage/Cl’J):'Lrent 300 [V1/20 [A] Rated Voltage/Cl’lerl‘rent 300 [V1/20 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/20 [A]
i 26-12 [AWG] i 26-12 [AWG] it 26-12 [AWG]
HE HE HE
Torque 0.4[Nm] Torque 0.4[Nm] Torne 0.4[Nm]
TFRE . TERE ; TERE ;
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}lierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]
ET— 290 5.0(x%~1) B
5.00 00.80 ]
AEEE ] I
saas Il Nt LN
@ @ AR7A \®7EI PGB, LAYOUT
PO VO
\ -
UJ wé pox o . . // . .
ErURE | = S 250 1950 *5‘.00__1_0.3 ] % % % %
il e || BEHEE
] i ) g
e el =i J i
“\ lo=—"% T -
A

o
—
[e)}



<Y TP CBIELIEF

Y&l pcB SCREW TERMINAL BLOCK
Pitch:7.5mm | Pitch:7.5mmJ Pitch:7.5mm

NB105VA-7.5

NB105RA-7.5

NB105V-7.5

# A S Technical Date

[543 M2.5, $, fEEE [543 M2.5, 0, fEfE [543 M2.5, W, $E5F
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated
R Hif, #9% HR Big, #EH HiR By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EERBE/RBIR
Rated Voltage/Clljlrhrent 300 [V1/20 [A] Raten)fVoltage/CL’J“rhrent 300 [V1/20 [A] Rateé\Voltage/CL‘J/:"‘rent 300[V]/20 [A]
k‘ ‘:;‘E k‘ ‘:;‘E ﬁ:‘ “:;"@
Siais N 26-12 [AWG] i 26-12 [AWG] i 26-12 [AWG]
HE HiE HiE
Torque 0.4[Nm] Torque 0.4[Nm] Torque 0.4[Nm]
TIRRE 40~ +105 TIERE 40~ +105 TrRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]
// 5 29 75(0¢-1) 290 5.0(xx-1)
o o o o 2% LL LS P 70 £1.40 5.00 00.80
’ ’ ’ ] : QSSS zj : AJ; 4; (/ eé 4; r_.‘ 71 525
& || | g \ 8 m m = y:‘f‘( o g
e e Vo o o/
P.CB. LAYOUT f A EI
2 e o\e o
. »ca o \

) é é/ é é 5XX = 250 M.ooto\,g R
E a a a =] ® = = T
(( = @55@ E cope |, %i
a5 25 W J os0 29 750 WHD(XHUJ . 280 I i o QEJ

20 73pu-1) . -

SN
LTI B i s B\
Pitch:7.5mm Pitch:15.0mm Pitch:15.0mm .

NBDS4-7.5 NB118-15.0 NB118M-15.0

# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

[ M3.0, M, e 422 M5.0, 0, e 422 M5.0 , W, {EEE
Screws M3.0 Steel Zn plated Screws M5.0 Steel Zn plated Screws M5.0 Steel Zn plated
bzl =i, %1% SR Hig, #EH TR =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B , B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR EEBE/E IR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/30 [A] Rated VoItage/Cu}IrLrent 600 [VI/115 [A] Rated VoItage/CujIr"rent 600 [VI/115[A]
i N 24-10 [AWG] i 20-12 [AWG] i 20-2 [AWG]
H5E H5E H5E
Torque 0.5[Nm] Torque 2.0[Nm] Torque 2.0[Nm]
IIREE | IIRaE . TIERE .
Operating,iéﬂﬁerature -40 ~ +105[*C] Operatingiﬁierature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]

s 1500-1)

@%® 5

%[ oo || " T i e
g - 3 i p e AINE ?
® S ‘E*E] @ Q\&\ PN o oo :;E /@y %I@ ;J eun F;{H T Wi
P.CB. LAYOUT %@@ e | % Ts
J e i

@@@ PCB. LYo
15

i T

80 i ox

5.00+0.3
=Ml
=ty

530 | 1000402 |

15.0000-1)

20.60

75(%-1)




Y pacmn g
JiaJi Tl&{:l:gm
\” NINGBOJIAJI

Pitch:15.0mm

NB118ML-15.0

B M5.0, @, &8
Screws M5.0 Steel Zn plated
R Hif, #9%
Block Brass,Sn plated
Hif, %1%
Pin headeer Brass,Sn plated
B
Housing PA66,UL94V-0
/5 )
Ratgalta,;e//cﬂﬁrent 600 [VI/T15 [A]
RESEE
Wire Range 20-2 [AWG]
HE
Torque 2.0[Nm]
AL -40 ~ +105 [°C]

Operating temperature

250

=
=

f
PRI
9& o—t
% \e
%

Ey
P.C.B. LAYOUT

2450

’_‘,

)
T
30

25

100

31.00

— 018 —



Terminal Block Professional Manufacturer

RV & inF
PLUG-IN TERMINAL BLOCK

Bk iELET, TUOEREEA0.08mm2ET6emm2PFFEXEENSL, EiE2.5mmZE10.1T6mmual{{iEE, TREEEE
Bk Am, EEAE, HkAE. FRIBITESIEC60998, IEC61984, UL1059, UL486E, CSA C22.2 No.158%
EprinE.

Plug-in terminal blocks, provide the wire size from 0.08mm?2 to 16mm2.Available with different pitches from 2.5mm to
10.16mm.Choosing insert direction, contact direction, Plug-in direction according to requests. The product is designed
in accordance with IEC60998, IEC61984, UL1059, UL486E. CSA C22.2 No.158 standards.

— 019 —



+ | = + 4=
JiaJi T:Ef:l:gm
v NINGBOJIAJI

: (}‘f.‘ > .Giiy _
| I'Ell. ﬁ‘

)

Pitch:2.5mm Pitch:2.5/2. 54mm ! Pitch:2.5/2.54mm

NB15EDGKD-2.5 NB15EDGVC—2.5/2.54 NB15EDGRC-2.5/2.54

2522 / [543 / [543 /
Screws Screws Screws
BH T, EH BWH / BH /
Shrapnel Stainless steel Niplated Shrapnel Shrapnel
/ bk Big, #EH bty Hig, #EH
Pin headeer Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Cll.llrhrent 150 [VI/5 [A] RateéVoltage/Cll.l:'hrent 150 [VI/5 [A] Rateé\Voltage/Cu:"‘rent 150 [V1/5 [A]
53] 53] Egsi)
\A%?Ranl?e 26-20 [AWG] V%?Rar%e / \/\%?Rar%e /
156 / 156 / 156 /
Torque Torque Torque
TIRRE 40~ “ TIRRE 40 ~ +105 [* TIRRE 40 ~ +105
Operating t«lenriﬁierature 40 ~ +105[C] Operating t(len:nﬁerature 40 ~ +105 [*C] Operating tén:'lﬁerature 40 ~ +105 [*C]

250 250(Xx-1) 220

25000-1)+4.40
25400-1)+4.40

T

[l

Hep

XXX

R
SRR

==
350

890
v.;
10.10

XX

09

10.10

1920
7.

250000-1)
20 [ 250 25%0%T) 080

25000-1)
= if T (3 67;[
! g
‘ 2.

P.CB. LaYUT

250(0¢-1)+4.40 P.CB. LAYOUT
254(0-1)+44D

Pitch:2.5mm J l'l Pitch:2.5mm Pitch:3.5/3.81m
NB15EDGVH-2.5 NB15EDGRH 2.5 NB15EDGKN-3.5/3.81

# K& # Technical Date # K& # Technical Date

# K &% Technical Date

g / g / g /
Screws Screws Screws
Wh / WA / 15 CRBW, H
Shrapnel Shrapnel Shrapnel Stainless steel, Niplated
‘ B, B A B, 05 B /
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated Voltage/Cl’J):'Lrent 150 [VI/5 [A] Rated Voltage/Cl’lerl‘rent 150 [VI/5 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/8 [A]
V\%e Ran%e / \I\I;i%e RaEe / V\%e RaEe 24-16 [AWG]
58 , 58 / 58 /
Torque Torque Torque
TIFaE . TIFaE | TIFEE |
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}lierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]

250(06-1) 22 2500+1.9 35000-1)+420

20 I hohchchchchohos ETRE]
well L [ilivlisllelelivly] EFEFRASEERaTRs
LA e a sy uwrww«ww«wmwﬁ b b e ULl Ll LA X
i |
g : & i |
» e Seas: |
$o-oododd
S ssooen) 210
o P R i i i i i — Er -
= P.CB. IAYOUT = = L LTI il ITJ!L} |
. Il
00.80
2500419 I w w oo
— l25q - 900 5 1=
[ e DN - =]l == fe=t f== i{;;f
D i || I"l 250 2500%-1) 270 H
£ ‘ ‘ — TTeTTITT g H
‘ ‘ I “I VUHETL Rilassasval: 1h LA
[ wo MMMM T80 L AL | & 5 we/
nr\¢4ﬂ ¥ e
3 220 25000-1) T
3 P.CB. LAYOUT AN N




singy ERRIBERT
 PIUG-INTERMINAL BLOCK

dade &
=YL PIPY

-A/__A/:/'; —'"i“‘-‘--ﬁ._f

e

[ =
Aae P08 ey /

®e

-
. ®Tvee
Pitch:3.5mm

Pitch:3.5/3.81mm Pitch:3.5/3.81mm

NB15EDGKNG-3.5-3.81 NB15EDGKNM-3.5-3.81 NB15EDGKN-B-3.5

# A& ¥ Technical Date # A& ¥ Technical Date

# A& ¥ Technical Date

2522 / [543 / [543 /
Screws Screws Screws
Wh AW, R I REW, me I T RGW, BE
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
_ / e / e /
Pin headeer Pin headeer Pin headeer
Bt Bt Bt
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EERBE/FRR EERRE/RIR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/8 [A] Rate$VoItage/C3;hrent 300 [VI/8 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V1/8 [A]
ey ey ey
i 24-16 [AWG] i 24-16 [AWG] i 24-16 [AWG]
e / e / e /
Torque Torque Torque
TIRRE 40 - - TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]

350000-1)+420 480 3500014420 480

S0 ‘ 3810 1)+ 430
i e
T 0
AT0(REF) 350 350

E]
350006-1) 210 T s 210

HZZHZZI:L:I:ZF:; : e 3.50(0¢-1)+4.20 16.00
TH AT
e = e g;r”;;: LML LM AR e i
i ﬂ 1l AR Y B
H o [E]T & ol % E L i ;\[ nonao [:\ nonao E §
il :
B

T e | iy

Pitch:3.5m.m Pitch:3.5rﬁm ) Pitch:3.5mm "
NB15EDGKNM-B-3.5 NB15EDGKNG-B-3.5 NB15EDGKNH-3.5

# K &% Technical Date # K& # Technical Date # K& # Technical Date

g / g / g /
Screws Screws Screws
A - AHEW, EE A - AEN, R HA - AEN, R
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Pin headeer / Pin headeer / Pin headeer /
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/8 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/8 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/8 [A]
i 24-16 [AWG] i 24-16 [AWG] i 24-16 [AWG]
158 / H5E / fE /
Torque Torque Torque
IIREE | IIRaE 3 TIERE .
Operatinginaﬁerature -40 ~ +105[*C] Operatinéfé%?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]

350(X%-1)

350

1]
350(xx-1)+138 ) 16.00 ‘ 3.50(XX-1)+13.6(REF) ‘ T T T T T T
| |

3.50(0¢-1)+4.20 35000—1)+4.20 16.00 Lo
il ] (W (W h
m, MM LH
]

2075

= =
= =

1N I
mLm mlm
af af

s I
1
B0 dooooa
0 Qoo E*\ﬂ o@ o
t
|

alalalalalal (L

3.50(Xx-1) 3.50(% *1T

= [

[
b LML T A AL,

] s

)

[
Crp

3.50(X~1)+4.30

|

C

22.80(REF)
22.80(REF)

20.90

=
| el—
6.60

8.30




Jiadi
o

i
ER

NINGBOJIAJ

BRAE SR

Pitch:3.5mm

Pitch:3.5mm

Pitch:3.5/3.81mm

NB15EDGKNHM-3.5

NB15EDGKNHG-3.5

# RS Technical Date

NB15EDGVC-THR-3.5/3.81

2522 / [543 / [543 /
Screws Screws Screws
BH REW, me I REW, me I /
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel
/ / E %D 3 ﬁ%%
Pin headeer Pin headeer Pin headeer Brass,Sn plated
2] 2] 2]
i PA66,ULIAV-0 i PA66,ULI4V-0 i LCP,UL94V-0
EERBE/FRR EERBE/EBIR EE R E/AR
Rateé\Voltage/Cl’jlrhrent 300 [VI/8 [A] RateéVoltage/CL’jlrhrent 300 [VI/8 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V1/8 [A]
k‘ ‘:;"é k‘ ‘:;"é ﬁ:‘ ‘:;"é
v\*,ﬁﬁafe 24-16 [AWG] M%?Ran%e 24-16 [AWG] V\}/sizr?kar%‘e /
e / e / e /
Torque Torque Torque
TIERE 40 ~ , 40~ . TiERE 40 ~ .
Operating ten:nierature 40 ~ +105 [*C] Operating tén:nﬁerature 40 ~ +105 [*C] Operating tén:nﬁerature 40 ~ +130 [*C]

3500-1)4105

g 2@ e @ ol
Aild
L]

[
‘ [ H
I

|22 3500-1)
S

35000170

o

a7

33|
3.50(X¢-1)
3.50(XX-1)+10.30

9.25

2075

350001447
381001780
35000-1)#43
3100-1)445

920

NEE]
38 55000-1)
38100-1)

235
250

700

4

 ssop-n)

235
250

7
|
|
H: [
1@
S
L Y
3.00]
1

Pitch:3.5/3.81mm

-

Pitch:3.5/3.81mm

Pitch:3.5/3.81mm

NB15EDGRC-THR-3.5/3.81

NB15EDGVM-THR-3.5/3.81

NB15EDGRM-THR-3.5/3.81

# K &% Technical Date # K& # Technical Date # K& # Technical Date
/ / /

Screws Screws Screws
HH / HE / HE /
Shrapnel Shrapnel Shrapnel
=i, #5% =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B , B -
Housing LCP,UL94V-0 Housing LCPUL94V-0 Housing LCP,UL94V-0
HERBE/RR EEBE/B IR EEEBE/RIR
Rated VoItage/ClIJ):'Lrent 300 [V]/8 [A] Rated Voltage/ClIJ):'Lrent 300 [V]/8 [A] Rated VoItage/ClIJJIr"rent 300 [V]/8 [A]
BEBE EESOE EESOE
Wire Range / Wire R/ange / Wire R/ange 24-16 [AWG]
miE / msE / s /
orque orque orque
Torq Torq Torq
TrRRE 40~ +130 [ TIFERE 40~ +130 [ TRRE 40~ +130 [
Operating té%?erature 40 ~ +130[C] Operating téﬁ?erature 40 ~ +130[C] Operating tén;pxerature 40 ~ +130[C]
350(00-1)+47
SE0-1)450
J.w((m w)Jw 35000K-1)44.3 430 35000-1) 430 SS1)+138
3BI0THE 3BI(0-1)+46 a0 3a10001) 440 3BI-1)+140
i : : : : 350 350001443
oo % . #@@@ r ,,,Tﬁi ; TWT
j ﬁ umﬁl g 19 yid i i © D ¢ Bg@ & Oyt 5 o ooy
= I/ S} 8|
L 3.50(XX-1)+13.8 »Z‘JO 21.40] P.CB. LAYOUT ‘ @3 @3 h
g I Y A 381(XK-1)+140 @
350 | LIl oeso |
38 ss0po-) 235 b 1 —%4350 xi:m
38100-1) 250 | J‘E,Exx,d o
i T r
‘ T | s
Kdkd M5§@ . e 111 R PP A
: : als ua/3 '
° ’ S’s,s(xxfu 430 38T 3.50(x%-1) 430 ! ! ! j;“gj:g
250 3,5;(::—3” -~ 140 3BT 440 PCB LiyoUT

— 022 —




) SRR RIESIR T

JiaJdi
o

PIUG-IN TERMINAL BLOCK

Pitch:3.5/3.81mm

Pitch:3.5/3.81mm

Pitch:3.5/3.81mm

NB15EDGVHB-THT-3.5/3.81

NB15EDGRHB-THT-3.5/3.81

NB15EDGVHBM-THT-3.5/3.81

# A& ¥ Technical Date

Operating temperature

Operating temperature

Operating temperature

2522 / [543 / [543 /
Screws Screws Screws
3 3 3
Shrapnel / Shrapnel / Shrapnel /
Hig, #EH Big, #EH Hig, #EH
Pin headeer BrassTSn plzated Pin headeer BrassTSn pllated Pin headeer Brassl,]Sn pTated
Bt Bt Bt
Homiing LCRUL94V-0 Homiing LCRUL94V-0 Homting LCRUL94V-0
TR/ R/ R/
Rated Voltage/Clljlrhrent 300 [VI/8 [A] Rate{fVoltage/CL’Jllrhrent 300 [VI/8 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V1/8 [A]
k’ ‘:;‘E k’ ‘:;‘E ﬁ:’ “:;"é
\A}I’izrée%Rar%Ie / \I\%?Rar%‘e / V\%?Rar%le 24-16 [AWG]
HE HE HE
Torque / Torque / Torque /
LIFRE -40 ~ +130 [*C] LAFRE -40 ~ +130 [*C] LAFRE -40 ~ +130 [*C]

35000¢-1) 250
381(XX-1) 245

4@3 é $”€3

1620

IH00-1)460
3810149

TH

260

381
350p0-1)

381001)

350008-1) 250
S1(01) 245
350

a1
]

g

350

1330

1520

381001)
35000-1)+50

—=—
1330

350(XK-1) 720

SEI0K1) | 705
350

)

se i

@!J :

1520
300 830

S & @|®

P.C.B. 1AYOUT

1520

440 350-1)+144 710
SEI0C1)+143

Iy

350,
381
3500-1)

3BIXK-1)

Pitch:3.5/3.81m

Pitch:3.5/3.81mm

Pitch:3.5/3.81mm

NB15EDGRHBM-THT-3.5/3.81

NB15EDGVHBN-THT-3.5/3.81

NB15EDGRHBN-THT-3.5/3.81

# K &% Technical Date # K& # Technical Date # K& # Technical Date

Operating temperature

Operating temperature

Operating temperature

g / g / g /
Screws Screws Screws
HH / HE / HE /
Shrapnel Shrapnel Shrapnel
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B gBfet ET
Hoatt g LCP,UL94V-0 Hoath g LCP,UL94V-0 Hoah g LCP,UL94V-0
TEFEE/F EFE /A EEEBE/RIR
Rateggﬁltage/chLrent 300 [V]/8 [A] Ratf?fl%ltage/cdlrhrent 300 [V]/8 [A] Rated*?/—f)ltage/Cdlr"rent 300 [V]/8 [A]
\l\%e Ran%e / V\I;i%e Ran%e / V\%e RanEgle 24-16 [AWG]
58 / 58 / 58 /
Torque Torque Torque
LAFRE -40 ~ +130 [*C] LAFRE -40 ~ +130 [*C] LAFRE 40 ~ +130 [°C]

350(0%-1) 720
38100~1) 715

15.20

3BI00-1)
35000X-1)+144
TEIK-1)+14.3

!

|

35000-1) 340
SEOT) 385

s B

Iy

H—® @ ofe

1530

300 830

DRk iRIRRIE
E H

ok
EiHH 1

1330

260

35000¢-1) 340
381001) 365

350001 34

3EI00-T) |38
9140|350

381

350,

D

1330

930

1520

350(0-1)
381007)
35004-1)+68
ISI0-1)475

5(
|

i\

i

0 |

1.0

— 023 —




+ Y P sE
JiaJi Tl&{:tgm
\ > NINGBOJIAJI

Pitch:3.5mm Pitch:3.5mm Pitch:3.5mm
NB15EDGVHC-THR-3.5 NB15EDGVHCM-THR-3.5 NB15EDGRHCM-THR-3.5
K EH Technical Date K &% Technical Date A 8% Technical Date
2522 / [543 / [543 /
Screws Screws Screws
B ; 3 ; B ;
Shrapnel Shrapnel Shrapnel
HiE, #EH HiR, EH =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
.
i LCP,UL94V-0 i LCP,UL94V-0 i LCP,UL94V-0
/T 2 F R /BB e R /BB
Rategéﬁ\zvﬁoﬁgalggglﬂhrent 300 [VI/8 [A] Ratfé%%a%ﬁ%dlrhrent 150 [VI/8 [A] Ratfg%%a%g%g:}rent 150 [VI/8 [A]
Vrehoige / Vrehorse / Vrehoe 24-16 [AWG]
ik , fja , % ,
Torque Torque Torque
= " B , B ,
Operat%gfén:n%erature -40 ~ +130 [*C] Operat%gﬁemfgerature -40 ~ +130 [*C] Operat%g{ﬁemferature -40 ~ +130 [*C]

S5001)

3800-1)

25
I

| o & oo T e, & a000c-1) 525 e ﬁ
s 1] )%/ 1 e
s g 4|90 o o | f | b i
[ : : : by s [ . &l
| © @9k f ® 0 0|0 J ds
P.CB. AYOUT i“:mw — j
L5004 0 10.60 25000¢+2)
Il Il Il Il Il 200041 350(0-1)+1050
n n n 3500-1) 525
™= ‘
‘ ‘ ‘ ‘ . . % % 66 oot
[ ® b 7 3 ,/ie o\
ﬁ 1= [N H
ol o] sz S
.: . -~ - & », o L/
L L7 ~ t?/ vz S04 &4
i< =223y Ly,
T s O
01&1./ /. ... --..
Tere A »
Pitch:2.54mm Pitch:3.5/3.81mm Pitch:3.5/3.81mm
NB15EDGK-2.54 NB15EDGK-3.5/3.81 NB15EDGKM-3.5/3.81
%A S Technical Date %A S ¥ Technical Date %A S Technical Date
2422 / R4y M2.0, W, HEEE R4y M2.0, M, #EEF
Screws Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated
=i, #5% VS Hil, #H% VS =i, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Pin headeer / Pin headeer / Pin headeer /
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
EERE/ERIR EEBE/ERIR MAE B /R It
Rateggﬁ%agg%d:'urent 150 VI/5 [A] Ratgﬁdﬁfl%ﬁ%a};e{%dlrhrent 300 [VI/8 [A] Rategéﬁ)%a};e/;%dlr"rent 300 [VI/8 [A]
mﬁﬁaﬁﬂ 26-20 [AWG] mﬁﬁgfe 28-16 [AWG] \A];%?REEE 28-16 [AWG]
Tiﬂrﬁe / T(?)Erége 0.2[Nm] Tzﬂrgge 0.2[Nm]
Operat%g,?en;%erature -40 ~ +105 [*C] Operat%g'?en;%erature -40 ~ +105 [*C] Operat%g'?enﬂpgerature -40 ~ +105 [*C]
i ﬁ { ﬁ
lava \Ev\r layanava
2.549X é% é% ,E% 6% ANV AN
B B fE = L o o e |
2.54(XX~1)
254 475 35000 1144.3 475
470 33100-1)+45 470
35000-1)+43 35000-1)
TRI0-1) 46 1 3E001) 1B.20(REF)
' = - 1 g
- F ) —— —— f
: A =] =
s [ 1] // 4 |E9 f
meed || AL SR
10.50 ‘ 2.54*XX+0.6 Eﬂ tﬁ\\\[:!;j tﬂ ;:f((xx::‘w)):‘w;




) SRR

JiaJdi
o

PIUG-IN TERMINAL BLOCK

““-

“di,

Pitch:3.5/3.81mm

I

Pitch:3.5/3.81mm

i

Pitch:3.5/3.81mm

Pin headeer

NB15EDGKA-3.5/3.81 NB15EDGKAM-3.5/3.81 NB15EDGKB-3.5/3.81
A8 Technical Date ¥ A8 % Technical Date A 8% Technical Date
2522 M2.0, 9, s 422 M2.0, 4, HEs 472 M2.0, R, fE
Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated
R =i, #5 FR HiR, #EH FR =i, EH
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
/ / /

Pin headeer

Pin headeer

B B B
tt PAG6,ULI4V-0 waft PAG6,ULI4V-0 ot PAG6,ULI4V-0
EMEER R/ R e E/ERIR BN B/
Rated Voltage/Clljlrhrent 300 [VI/8 [A] Rate$VoItage/C3;hrent 300 [VI/8 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V1/8 [A]
5 e 35 5ie] 4D
i 28-16 [AWG] i 28-16 [AWG] i 28-16 [AWG]
iR, 0.2[Nm] iR, 0.2[Nm] a8, 0.2[Nm]
I N=| o I N=| o I N=| o)
Operatingfé%%erature -40 ~ +105 [*C] Operating{;’EéTn%erature -40 ~ +105 [*C] Operatinéﬁéﬁ%‘erature -40 ~ +105 [*C]
3500-11+4.3 150((“01;:16 LSDEXX*V;MJ
JBI(XK-1)+46 380041118 3BI(X-1)+46
4 N mm/'/mm ) 1 K/
%@ﬁ 00000 7 O0PO
/L i j
40 A50(0-1)+43 470

|/

i}
i

‘ S-S ‘

ey
[ N

— ==
— =y

i
Iy

I 1 I
I
38100-1)

Papy
W l‘m i

Pitch:3.5/3.81mm

Pitch:3.81mm E

Pitch:3.81mm

NB15EDGKBM-3.5/3.81

NB15EDGKC-3.81

NB15EDGKCM-3.81

# K &% Technical Date # K& # Technical Date # K& # Technical Date

124y M2.0, =3 [543 M2.0, M, &5 [-523 M2.0, W, &5
Screws M2.0' Steel Zn plated Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated
HR =i, %% TR Hig, 5 R =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Pin headeer / Pin headeer / Pin headeer /
B gBfet ET
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [VI/8 [A] Rated VoItage/Cl’Jllrhrent 300 [VI/8 [A] Rated Voltage/CllJJIrl‘rent 300 [VI/8 [A]
e Ran%e 28-16 [AWG] e Rafe 28-16 [AWG] s Rafe 28-16 [AWG]
H5E H5E H5E
Torque 0.2[Nm] Torque 0.2[Nm] Torque 0.2[Nm]
I XEF o I lEF o I :EF o,
Operatinginaierature -40 ~ +105 [*C] Operatin;’Eén;?erature -40 ~ +105 [*C] OperatingEénr.;lpxerature -40 ~ +105 [*C]

)15
SHRIE

[Painy

410 ISO1)4+43 4
B

—— =
e —
=0

38100-1)t46

6.60

21.70

C
==t

440 381001 440

6.60

6.60

21.70

T
o
[

7

470 38|(XX 1)+4.6

e
Ur“\\

‘ 8.95

470

895
12.30

12.30

92.50

@%%%%%

200




+ Y s =+
JiaJi T:Eﬁ::gm
\ > NINGBOJIAJI

Pitch:3.8/3.81mm Pitch:3.5/3.81mm Pitch:3.5/3.81mm % ol

NB15EDGKD-3.5/3.81 NB15EDGKDM-3.5/3.81 NB15EDGB-3.5/3.81

# A& ¥ Technical Date

# A& ¥ Technical Date

gz M2.0, 5, f g / g /
Screws M2.0' Steel Zn plated Screws Screws
; REW, me I REW, me I /
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel
/ / bty Hig, #EH
Pin headeer Pin headeer Pin headeer Brass,Sn plated
B B B
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PA66,ULI4V-0
EERBE/FRR EERRE/RIR EEEBE/FRIR
Rated Voltage/CllJIrhrent 300 [VI/8 [A] Rated Voltage/Cu:'brent 300 [VI/8 [A] RateéVoItage/Cu:'brent 300 [V]/8 [A]
53] 53] 230
V%?Ranl%e 28-16 [AWG] Vﬁ?kar%e 28-16 [AWG] \A}I%?Rar%e /
HE HiE HiE
Torque 0.2[Nm] Torque / Torque /
TIRRE 40 ~ +105 [* TIRRE 40 ~ +105 [* TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(len:nﬁerature 40 ~ +105 [*C] Operating tg]:'lﬁerature 40 ~ +105 [*C]

3.50(xx-1) 430 350(0¢-1) 430 3.50(X¥~1)+3.7

38100-1) 0T st zy e e
35 350?71 3.5000-1) 3BI0K-1)+46
oz 40 350

i ] il R

81

{8

ki
i
ki
i
it
@

21.00(%EF)

hﬁ Fﬁﬁzr—_\‘
—

{
L

|
ﬁ
[ S—
a
d

m
i
m
52
n

1240

1240

AN

u%

P
)
A\

= “Ejﬁ} 35000 1)444

3B10-1)+45
35000144 350p-1)4138 35000-1)

381(0-1)45 814D 381(01)

|
Pitch:3.5/3.81mm Pitch:3.5/3.81mm Pitch:3.5/3.81mm

NB15EDGBM-3.5/3.81 NB15EDGA-3.5/3.81 NB15EDGAM-3.5/3.81

(=823 / A M2.0, ¥, fEEF 422 M2.0, 5§, fEEE
Screws Screws M2.0 Steel Zn plated Screws M2.0' Steel Zn plated
B ; B ; BA ;
Shrapnel Shrapnel Shrapnel
HiE, #5 Vakas HiE, #5 Vakas B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
ENEER E/ER R BB E/RR EESBE/BIR
Rated Voltage/Cl’J):'hrent 300 [VI/8 [A] Rated VOHBQE/CLTTI‘TeI‘It 300 [VI/8 [A] Rated VoItage/Cl'JJIrl?ent 300 [V]/8 [A]
\I\I;i%e Ran%e / \A%e Rar%e 28-16 [AWG] V\%e RaEe 28-16 [AWG]
HE HE HE
Torque / Torque 0.2[Nm] Torque 0.2[Nm]
I XEF o N=| o N=| o,
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’ién:'npxerature -40 ~ +105 [*C] OperatingE::ﬁpxerature -40 ~ +105 [*C]
3500014136 ) 350000-1) 0.60 680 3.5000-1)
3s00-1) nn S8R g‘ T s - 1 1 o7 [ SE00D) o
l oa0 | (220 j i 3 a4 ’l m m T El
g - ilaiaie o .
@@] @ﬁ ]: | e i((g @l / A | e ea( il @g
i N ) d 9z §
a5 | - 50
38100 1)r48 P.CH. ].AY(TU;J P.C.B. LAYOUT ISU1)+136 o

IBIXK-1)+13.8

|

A

WWWW

==

) T T T [2) @ (2] b !
Bonjn B ¥
sz EER ' Ll e
100 580 m g o 3.50(x-1) 0 350(X0-1)
o | L as 675 m 080 381001) 381(01)
3.500-1) 3.50(xx-1)+3.7 3.50(xX-1}+3.7
3BI001) 38100-1)+46 3BI00-1)+46

— 026 —



) SRR RIESIR T

JiaJdi
o

PIUG-IN TERMINAL BLOCK

Pitch:3.81mm

Pitch:3.81mm

Pitch:3.81mm

NB15EDGKR-3.81

NB15EDGKRM-3.81

NB15EDGKRN-3.81

3.81

== == I == R == [ == Jy << iy =<}

11.20

18.35(REF)

00 0 0 0 0 @ §

18.35(REF)

381(0-1)+13.8

O BB E

e

IS

2522 M2.0, N, &5 2522 M2.0, $, e |52 M2.0, %, fEE
Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated
TR Hif, %1% R Hig, #H R By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Cll.llrhrent 300 [VI/8 [A] RateéVoltage/Cll.l:'hrent 300 [VI/8 [A] Rateé\Voltage/Cu:"‘rent 300 [VI/8 [A]
53] 230 Egsi)
\A*,%?Rafe 28-16 [AWG] vﬁfﬁkar%e 28-16 [AWG] ﬁﬁafe 28-16 [AWG]
HE HE HE
Torque 0.2[Nm] Torque 0.2[Nm] Torque 0.2[Nm]
TIRRE 40 - - TIERE 40 ~ +105 [* TIRRE 40 ~ +105
Operating t«lenriﬁierature 40~ +105[%C] Operating t(len:nﬁerature 40 ~ +105[*C] Operating tén:'lﬁerature 40 ~ +105[*C]
38101446 381001145
_ 381(0-1)
3.81(XX-1)+4.6 o) S
381(X-1) 381 11.20 ] K

\\&\\\:.I;.‘

18.I5(REF)

11.20

44 440

Pitch:3.5mm

Pitch:3.5mm

Pitch:3.5mm

NB15EDGKNR-3.5

NB15EDGKNRT-3.5

NB15EDGKNRG-3.5

# K &% Technical Date
/

# K& # Technical Date # K& # Technical Date
/ /

Screws Screws Screws
Wh AW, 8 WA AW, e AW,
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
HiE, EiB BiE, ®5 HiE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/8 [A] Rated Voltage/Cl’lerhrent 300 [VI/8 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/8 [A]
i 24-16 [AWG] i 24-16 [AWG] i 24-16 [AWG]
HE H5E H5E
Torque / Torque 0.2[Nm] Torque 0.2[Nm]
TIFaE . TIFaE . TIFEE |
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}lierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]

3.50XX+0.7

CH T

i}

J B OE

-
M5
=5

H
j
J

b2}
—

3.5000%~1)

24 40(REF)

2250

3.50XX+0.7

CH T

TH
j]:tj]:t
0

T T
=R
TR

)
M

3.50
3.50(xx=1)

3.50(XX+1)

2440(REF)

2250

35006+0.7

T THTHT

i

Pl |
h——
i
o == F
L%

3 B B H =3
Lr \

.10

S

i€
||
350
35000-1)

35(0+2)+3.1(REF)

— 027 —




s Y == b [ 42
JiaJi Tl&{:tgm
\ > NINGBOJIAJI

=
Pitch:3.81mm

Pitch:3.5/3.81mm ' |

1250

-

—F—
s
a8100-1)
38100-1)+5.20

Pitch:3.81mm
NB15EDGGB-3.81 NB15EDGGBM-3.81 NB15EDGVC-3.5/3.81
KA SH Technical Date #% A S ¥ Technical Date %A S Technical Date
1 M2.0, M, gy M2.0, 9, #EEF Ry /
Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated Screws
iR =i, #5 Val HiR, #EH HA /
Block Brass,Sn plated Block Brass,Sn plated Shrapnel
=i, #5 =i, E5 =iE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
.
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
/e L5 TR B E/FB e
Ratgaﬁga%!fgd;hrent 300 [VI/8 [A] Ratﬁ%ﬁa%ﬁ%dlrhrent 300 [V/8 [A] Ratfgr\%ﬁ%a%g%m}rent 300 [VI/8 [A]
Whe honge 28-16 [AWG] e henge 28-16 [AWG] e henge /
Tzﬂrqige O'Z[Nm] Tiﬂrcfge O'Z[Nm] Tﬁéﬁe /
P! o mE o R o
Operat%gfé%%erature 40 ~ +105[*C] Operat%gﬁemfgerature 40 ~ +105[*C] Operat%gﬁemr:erature 40 ~ +105[*C]
IO 1)41420 3810 1) 1420 35000-1)+47
“381(0-1)1880 S8 3001 3s SBICT50
L o szm(qu) 54
ARIANIARIARIAR IR s EE TEePN e
bk abavana]d /1O [ O : B $§S@ b s
é? L@ éi, prT
92.25
92.25 7.00

m

]
SN
L]

a1
L=}
a1

e

38100-1)
381(0-1)+520

920

340

[E| 3B 350p0-1) [245~
381(X0-1)

v '] iiil
L y
v

Pitch:3.5/3.81mm

-BBEEEC )
B

Pitch:3.5/3.81mm Pitch:3.5/3.81mm
NB15EDGRC-3.5/3.81 NB15EDGVM-3.5/3.81 NB15EDGRM-3.5/3.81
%A S Technical Date %A S ¥ Technical Date %A S Technical Date
B / e / e /

Screws Screws Screws
BH / BE / BE /
Shrapnel Shrapnel Shrapnel
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Hoatt g PA66,ULI4V-0 Hoatt g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
== = 7 =2 = 7= b= = ;ﬁ
Roted Voltage/cavent 300 (V1/8 (4] Roted Voltge/cavent 300 (VI/8 (4] Roted Voltge/cavent 300 (V1/8 [A]
BT / BT / BT /
Wire Range Wire Range Wire Range
58 , 58 , 58 ,
Torque Torque Torque
Operat%g,?en;%erature -40 ~ +105[*C] Operat%g'?en;%erature 40 ~ +105[C] Operat%éf;enr.#pgerature 40 ~ +105[%C]

ﬁgﬁg

5 i
L% o 99
¥ 350
381 sopoe1) 350
381(01) ;i: I8
P.C.B. LAYOUT

720

920

35000-1) 235
3B1(0-1) 245
35000-1)+47
38100-1)450

920

1.20

340

430 3.50(0x-1) 685

40 550 381000) 655 ssopon)ees
58] IEK-1)145
g @ggea & PR g ggl
91.40 PCB. LavOIT ;
7.00
: 1l
fl i
bl
[l (] [
350 sas
3.81 6.95
3.50(xx-1)
381(0x-1)
3.5000-1)+13.7
3BI(XX-1)+140

el

ook

i
9140 3 350 u 685
350(Xk-1) 685 [387;,
381(Xx-1) 695 0
P.CB. 1aY0UT

700

A&EH ninirr

350(0=1)#13.7
381(0-1)#14.0

920

— 028 —




Y ISR RESRT
PIUG-IN TERMINAL BLOCK

JiaJdi
o

Pitch:3.5/3.81mm

Dby

Pitch:3.5/3.81mm

- o Fry :
Sk

Pitch:3.81mm

# RS Technical Date

NB15EDGLC-3.5/3.81

NB15EDGLM-3.5/3.81

# A& ¥ Technical Date

NB15CDGM-3.81
| #ARSH TechnicalDate

1100

T 3s00-1) 2.15]
38100-1) 230

35000-1)#43
IE1)HE

690 341 3s000-1) 423
7.00 381001) 440

350000-1)+138

3810014140

2522 / [543 / [543 /
Screws Screws Screws
BH / BH / BH /
Shrapnel Shrapnel Shrapnel
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing PA66,UL94V-0 Homing PA66,UL94V-0 Homting PA66,ULI4V-0
EEE E/F R HEE E/H iR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/8 [A] Rated Voltage/CSlrhrent 300 [VI/8 [A] Rated VoItage/Cl‘Jl:"‘rent 300 [V1/8 [A]
EEEE / EEE / EEE /
Wire Range Wire Range Wire Range
156 / 156 / 156 /
Torque Torque Torque
TIRRE 40 - - TIRRE 40 ~ “ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]
3500%-1) 215 3.5000-1) 690
3B1(X-1) 7.00
120 _;_g?_“ ( // ] h 381(0-1}410.0 " 500 _ 381(0-1)
o 9 ole i E —e o ]
R I N Yl e o
7 1 L — i Ol gﬂ?:’lfgﬂr’l o
S o] o ‘ il bl B R
[440]
381(0X-1)+18.2

3B100-1)+1434

350403

250

940403 7.517‘

0.80

Pitch:3.81mm

Pitch:5.08mm

Pitch:5.08mm

NB15EDGVF-3.81

NB15EDGK-5.08

NB15EDGKM-5.08

# K &% Technical Date # K& # Technical Date # K& # Technical Date

A / 1844 M2.0, 5, 1844 M2.0, 4, $EEF
Screws Screws M2.0 Steel Zn plated Screws M2.0 Steel Zn plated
A / Hig, #EH =iy, 5
Shrapnel Block Brass,Sn plated Block Brass,Sn plated
=i, ¥
Pin headeer Brass,Sn plated Pin headeer / Pin headeer /
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/8 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/8 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/8 [A]
\l\%e Ran%e / V\I;i%e Ran%e 28-16 [AWG] V\%e RanEgle 28-16 [AWG]
H5E H5E H5E
Torque / Torque 0.2[Nm] Torque 0.2[Nm]
IIREE | IIRaE . TIERE .
Operatingiﬂﬁerature -40 ~ +105[*C] Operatinéfé%?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]
ais 381(0-1)+46 015

381001)

75

1320

am
J—
[m—

)

Il

(il

[

¢

P W
I——

o
Iu]

)

s

¢

—
A g —

?

[ima] [

A
o
A

e

—
 ——
—
 ——
—
 ——]
—
 ——

(—

(
(
(
(

A 7/ —
A T

EW

t
"
t
=]
t
"
i)
"

fe

T
=
11.20

5.08(0¢-1)

5.08XX

508(x¢-1)
5.08(X~1)49.0
50B0-1)414.2

— 029 —



+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

e 5%

&
i » \F
I - O . - iii FF'FF '
LA ]

Pitch:5.08mm Pitch:5.08mm Pitch:5.08mm

NB15EDGVC-5.08 NB15EDGRC-5.08 NB15EDGVM-5.08

2522 / [543 / [543 /
Screws Screws Screws
A B BA
Shrapnel / Shrapnel / Shrapnel /
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EEEBE/FRIR
Rated Voltage/Clljlrhrent 300 [VI/8 [A] Rate$VoItage/C3;hrent 300 [VI/8 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V1/8 [A]
53] E25 3] Egsi)
\A}I%?Ra nl%le / \I\%?Ra r%l e / V\}/’i:rie%Ra r%l e /
HE HiE HiE
Torque / Torque / Torque /
I N=| o I N=| o I N=| o)
Operatingfé%%erature -40 ~ +105 [*C] Operating{;’EéTn%erature -40 ~ +105 [*C] Operatinéﬁéﬁ%‘erature -40 ~ +105 [*C]

T — 5.08(Xx-1)#142
s [ | il s
so8pn-1) | ® © 6 66 o 508(0-1)+9.0 -
S080-1) o 7 st BB T
= | B EEEEE : St * * o) A
o R b o ofe 14 — 14
[ i | sy 3
‘ soa ‘ P.CB. IAYOUT O Lot

300203

a0

=171

5.08(0-1)

==
=

340403

Pitch:5.08mm Pitch:3.5/3.81mdm‘ . Pitch:3.5/3.81mm
NB15EDGRM-5.08 NB15EDGVT-3.5/3.81 NB15EDGVTM-3.5/3.81

g / g / g /
Screws Screws Screws
B i i
Shzﬁwl / Sh?;giel / Sh?;:iel /
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Hoatt g PA66,ULI4V-0 Hoatt g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
HERBE/RR HERBE/RR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/8 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/8 [A] Rated VoItage/CllJJIr"rent /
\l\%e Ran%e / V\I;i%e Ran%e / V\%e RanEgle /
H5E H5E H5E
Torque / Torque / Torque 0.2[Nm]
IIREE | IIRaE . TIERE .
Operatinginaierature -40 ~ +105[*C] Operatin;’Eén;?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]

35001454 3500-1)+138
ISI00-1)142

oHlEHo|
B8

3810%-1)#5.2

s H@@H
L —— 2l 3
AREREE o

210

534003

R I
AEEEEE || i 7 9Je

200

29

590 [3em
4 740 (381
1.1 350(X0-1)

381001)

- 8] |2.70| 3.50(xx-1) 690|350
S sop-1) s

255 38100, 70 (58
38100-1) o) 35000x-1)
PGB, 1AYOUT IE001) PGB, 1avOUT

— 030 —



simgy IERT L
 PIUG-IN TERMINAL BLOCK

“BEE-

o i “.‘.‘

. ot
Pitch:3.5/3.81mm - Pitch:3.5/3.81mm ’ Pitch:3.5/3.81mm

NB15EDGRT-3.5/3.81 NB15EDGRTM-3.5/3.81 NB15EDGVH-3.5/3.81

2522 / [543 / [543 /
Screws Screws Screws
A B BA
Shrapnel / Shrapnel / Shrapnel /
Hif, %1% bk Big, #EH bty Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
EERBE/FRR EERRE/RIR EERBE/RBIR
Rated Voltage/Clljlrhrent 300 [VI/8 [A] Rate$VoItage/C3;hrent 300 [VI/8 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V1/8 [A]
53] E25 3] Egsi)
\A}I%?Ra nl%le / \I\%?Ra r%l e / V\}/’i:r?Ra r%l e /
HE HiE HiE
Torque / Torque / Torque /
I N=| o I N=| o I N=| o)
Operatingfé%%erature -40 ~ +105 [*C] Operating{;’iﬂ:ﬂ%erature -40 ~ +105 [*C] Operating{;’EéTn%erature -40 ~ +105 [*C]

scipss aon-hioa Ss0-i)ras
[ saioipaz | prrm SETT

oo el

H|H 2 ge
% H(H
o) @@%@

| R

VT Bl
al ue
7 e @ T
+ e€\<e 4] 1° e m mn i ”
) [ | ]
o \
| | ~ 18k
Yy F J;HJ ‘ 2 L
20| 3, s "Jso00t-1)
2l | P ':J.mj‘“mx,,) SHIfcT)
381(0-1) mm ) LB, WYoUr
P.C.B._LAYOUT 38(0-1)

< -
EEBER - EBBEE .-
" n . Migim
;) * RS
I T ~ BBk .
Pitch:3.5/3. 81mm J Pitch:3.5/3.81mm ' - Pitch:3.5/3.81mm il

NB15EDGVHM-3.5/3.81 NB15EDGRH-3.5/3.81 NB15EDGRHM-3.5/3.81

[=V72 124y / 124y
Screws Screws Screws
BH / BE / BE /
Shrapnel Shrapnel Shrapnel
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/8 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/8 [A] Rated VoItage/Cl‘JJIr"rent /
BT / BT / BT /
Wire Range Wire Range Wire Range
H5E H5E H5E
Torque / Torque / Torque 0.2[Nm]
TrRRE 40~ +105 [ TRRE 40~ +105 TRRE 40~ +105 [
Operating té%?erature 40 ~ +105[*C] Operating téﬁ?erature 40 ~ +105[%C] Operating ténr.;\pxerature 40 ~ +105[%C]
LE0(0t- 14138 =
e g obEEEe
- < Bl 8
g 8§19 glg @
ARE=ANE]
R oo
BEEE [elefielfel e
Oleloke L UTT 2
0 25 | 5o o) | g
280 zagwm") SEI(0-1) 695 |
IBI0-1) 35000-1)+138
’ 35000 1)+49 z -
| TBI0AN)152 ﬂ Ls1.40
o - o ole
g g ” P E I .
i R L i
e hE(AS
e S | L F
e e TR 695
Sty £es wor

LR LATOUT




+ | = %=
JiaJi J l& {::F: gm
o

NINGBOJIAJI

Pitch:5.0/5.08mm Pitch:7.5/7.62mm Pitch:10.0/10.16mm

NB2EDGK-5.0/5.08 NB2EDGK-7.5/7.62 NB2EDGK-10.0/10.16
# A& ¥ Technical Date # A& ¥ Technical Date # A& ¥ Technical Date
R M3.0, 4, s By M3.0, 4, 4E8 8 M3.0, W, @i
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
iR Hif, #5 FiR =iE, #5% FiR =R, #5%
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Pin headeer / Pin headeer / Pin headeer /
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
< /BB < /BB fii 4z=N
Ratggﬁﬁ?’a’ggﬁu@rent 300 [VI/15 [A] Ratgaﬁa%!%ﬁrent 300 [VI/15 [A] Ratfgf\%ﬁ%a%é%ﬁent 600 [VI/15 [A]
j,%ﬁj?n%e 28-12 [AWG] vﬁﬁ?ﬂ 28-12 [AWG] vﬁﬁ?ﬂ 28-12 [AWG]
iR, 0.5[Nm] iR, 0.5[Nm] a8, 0.5[Nm]
TIFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C]

Operating temperature Operating temperature Operating temperature

10.00XX-5.0
T0.160-5.08
5.08XX 7.62(XX~1)+5.6 10.00(0x-1)
5.00(KK-1) 7.50(Xx-1) 10.1600-1)

o 0B 750 76200-1) 0
5.08 7.62

WL

5000 7.500-2

10.16

18.10

Ii
SNy S—
1
—

3 C A ‘Kl\pﬁlpfﬁl\uuﬁi‘ C f\ C: r*E;:
7<3)@ ¥ W o) & NPANUANTAN S I Bt
M oo 0 @ @O @) @3

11
UL
=l
L]
.
l\ =
[T
1505
711
=1
=
L=
=
1
e
11
]
||
=
i
]
I
L

1k

Pitch:5.0/5.08mm Pitch:7.5/7.62mm Pitch:10.0/10.16mm

NB2EDGKM-5.0/5.08 NB2EDGKM-7.5/7.62 NB2EDGKM-10.0/10.16
# K& % Technical Date # K& % Technical Date # K& % Technical Date
(=873 M3.0, Y, e 2422 M3.0, 9, B [:2:522 M3.0, W, e
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
FiR =i, B FiR =i, E5 FiR =i, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Pin headeer / Pin headeer / Pin headeer /
okt PA66,UL94V-0 okt PA66,UL94V-0 ot PA66,UL94V-0
EBEMER EBEMAER EFRE/FER
Ratfdﬁﬁnage/cu"r“rem 300 [VI/15 [A] Ratggi\iltage/cdlrhrent 300 [VI/15 [A] Ratfﬁmi\ﬁ)ltagelcglrl‘rent 600 [VI/15 [A]
i 28-12 [AWG] i 28-12 [AWG] it 28-12 [AWG]
. .
e, 0.5[Nm] e, 0.5[Nm] e, 0.5[Nm]
TIERE o TERE o TERE o
Operating’iemf:erature -40 ~ +105 [*C] Operating’iemferature -40 ~ +105 [*C] Operating’iemjjerature -40 ~ +105 [*C]
5.00(XX+2) 7.500%+10.5 10.00XX=5.0
508(0+2) 7.62K+10.28 10.08XX-5.08
T 162’?)()(— 1556 :S ?gg:: 3
%‘ 5.08X% . 0o
fi h /H f L] (L] h /H
D A S5-6-Or6 ENNENN
SoASH @)% L ¥ ¥ ¥ 08 @/@
O @ O)/m| | 0O O o oo
u \‘ u
g il g i f j— [
= | ) — = N |
GG @1 O @/@Z@ o i
‘ 5.00 5.00(xx-1) 500 ‘ :oo 7500%-1) 600 L%‘ 10.000¢+5.00 Zgg

508 508(0-1) 508 610 7.620%-1) 610" 10.16X+5.08

— 032 —



singy ERRIBERT
 PIUG-INTERMINAL BLOCK

4 Pitch:5.0/5.08mm

) Pitch:5.08mm .
NB2EDGKH-5.08 NB2EDGKHM-5.08 NB2EDGKA-5.0/5.08
AR EH Technical Date AR EH Technical Date K EH Technical Date
[543 M3.0, %, #EFE 2522 M3.0, %, #EFF |52 M3.0, W, $E5
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
R =i, #5 i HiR, #EH i =i, #5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
. / - 7t / - A% /

Pin headeer Pin headeer Pin headeer
.
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
/BB L5 2 FR /PR 7
Rategéﬁ\zvﬁoﬁga%g‘ajlrhrent 300 [VI/15 [A] Ratﬁ%ﬁa%ﬁ%ﬂhrent 300 [VI/15 [A] Ratfgr\%ﬁ%a%g%m}rent 300 [VI/15 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
iR, 0.5[Nm] iR, 0.5[Nm] a8, 0.5[Nm]
P! o mE o R o
Operat%gfé%%erature 40 ~ +105[*C] Operat%g'iemfgerature 40 ~ +105[*C] Operat%g{ﬁemr:erature 40 ~ +105[*C]
il el || seee
OQOP| |* A
G ‘\\UD oI B3 E3\E3 E3
=] EEI\ =]==] )
4 5.08(XX~1)+7.08 ///

i [l R
T il i

= e :
i

[ g

i

j
%

508
5.08(xx~1)
508

'
5.08(XX=1)+5.62 +% so0px-1)

00

508
08001, 5.08(XX+1) 5.08(Xx—1)
Sospcijsaez 5080072) Soor
- -
L Q%"ﬂ
4

Pitch:5.0/5.08mm . Pitch:7.5/7.62mm

Pitch:7.5/7.62mm

NB2EDGKA-7.5/7.62 NB2EDGKA-5.0/5.08 NB2EDGKAM-7.5/7.62
%A S Technical Date %A S ¥ Technical Date %A S Technical Date
[V M3.0, 9, fEeF 124y M3.0, 0, e 472 M3.0, i, fEEF
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
VEES Hif, #% VS Hil, #H% R =i, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
A / B / 4 /
Pin headeer Pin headeer Pin headeer
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
B/ REFB /B e /B A
Rategg’_\\llzoﬁ%a’;ggj:yrent 300 [VI/15 [A] Ratggi\ﬁﬁ?‘age{%dlrhrent 300 [VI/15 [A] Rategau\f)%’a};e/%glr"rent 300 [VI/15 [A]
vﬁﬁa"ﬂ 28-12 [AWG] ﬁ?kgfe 28-12 [AWG] M%?REEE 28-12 [AWG]
g 0.5[Nm] . 0.5[Nm] . 0.5[Nm]
Operat%g'?en;%erature -40 ~ +105 [*C] Operat%g'?en;%erature -40 ~ +105 [*C] Operat%éf;enr.#pgerature -40 ~ +105 [*C]
500 500xx 500 7.50(0+2) 4.5

{ { 5.08 5.08XX 5.08
5.10 610

AR . ==

1260

1260

[an]

12.60

A yaryas] N
e 216 OO O

I
i
26.00

i

S

——= g
AR
g T
He

el e
=
E’WW
i

P || e

7.62

— P

750
762

7500%-1) 7.5000-1)
7.6200-1) 05 762001)
750002 500 S000X-1) 500 | 75002
76202 5.08 5.08(xX~1) 5.08 76202

— 033 —



+ 7Y e
JiaJi T:&fﬂ:gm
\ > NINGBOJIAJI

Pitch:5.0/5.08mm ii

Pitch:7.5/7.62mm

NB2EDGKB-5.0/5.08 NB2EDGKB-7.5/7.62 NB2EDGKBM-5.0/5.08
AR EH Technical Date AR EH Technical Date K EH Technical Date
[543 M3.0, %, #EFE 2522 M3.0, %, #EFF |52 M3.0, W, $E5
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
R =i, #5 i HiR, #EH i =i, #5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Pin headeer / Pin headeer / Pin headeer /
.
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
/e L5 2 FR /PR 7
Rategaﬁkzvﬁoﬁga%g‘aﬂhrent 300 [VI/15 [A] Ratﬁ%ﬁa%ﬁ%ﬂhrent 300 [VI/15 [A] Ratfgr\%ﬁ%a%g%m"‘rent 300 [VI/15 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
iR, 0.5[Nm] iR, 0.5[Nm] a8, 0.5[Nm]
TIERE o TERE o TIERE o
OperatingEemfgerature 40 ~ +105[*C] Operating{;’Eemfgerature 40 ~ +105[*C] Operating{;’Eemr:erature 40 ~ +105[*C]

i [ o S50 3%

FR VAV Vs Yai) 2 [N N AN N
s \ P90 | eosan
OO0

JI/
L

|
1

i

%0

i

T
il = T T
i : ‘ il
|
) \ \ \
i 5 |
i [z ]
500 ' T8 soe-1)
508 s.q0p-1) 78200-1) ggg
S 7.500(-2 500 50000-1) 500 |
508X 7.624-2 5.08 5.08(Xx-1) 5.08
- @
- - ._‘_,...
- - ” -

Pitch:7.5/7.62mm Pitch:5.08mm Pitch:5.08mm
NB2EDGKBM-7.5/7.62 NB2EDGKAH-5.08 NB2EDGKAHM-5.08
# K& % Technical Date # K& % Technical Date # K& % Technical Date
[ M3.0, W, e o M3.0, i, #EEE (=73 M3.0, W, {EE
Screws M3.0' Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
Fte =i, E5 HR =i, R B =i, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Pin headeer / Pin headeer / Pin headeer /
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
EH E/BE 7 EH E/E 7 = =
Ratf?%l%%a%s{fg#rent 300 [V]/15 [A] Ratggi\iﬁ?a%e{%dlrhrent 300 [V]/15 [A] Ratf&mi\ﬁ)%a%e/%glrl‘rent 300 [V]/15 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
g 0.5[Nm] . 0.5[Nm] . 0.5[Nm]
Operat%g'?en;%erature -40 ~ +105[*C] Operat%g'?en;%erature 40 ~ +105[C] Operat%éf;enr.#pgerature 40 ~ +105[%C]
7.50(4X+2)-4.5 5.08(XX+2)
T 782+103 g?g PN ﬂh’ AN AN 508(0+1)
8 [ ] ‘((m (S5 ASS IR s> B> § MQ‘_D// D@D
10 OO O YA YanVany Dlie> e BE
i NN — e
W
\ 7//
b bk L o E@ g
B ala A ENENENEIE @ %@ @I
82 g so0c-1) = [sos |
iy e 5?5:;”




) SRR

JiaJdi
o

PIUG-IN TERMINAL BLOCK

Pitch:5.0/5.08mm

-

Pitch:5.0/5.08mm

Q“”QE
\ &
!I..

Pitch:5.0/5.08mm

NB2EDGKC-5.0/5.08 NB2EDGKCM-5.0/5.08 NB2EDGKD-5.0/5.08
AR EH Technical Date AR EH Technical Date K EH Technical Date
1 M2.5, &, @b 1844 M2.5, 40, §EEE [-F22 /
Screws M2.5 Steel Zn plated Screws M2.5 Steel Zn plated Screws
iR =i, #5 i HiR, #EH e - AER, R
Block Brass,Sn plated Block Brass,Sn plated Shrapnel Stainless steel, Niplated
Pin headeer / Pin headeer / Pin headeer /
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
</H /E) i /R
Ratggﬁﬁ?’a’gg}‘é’u@rent 300 [VI/15 [A] Ratgaﬁa%!%ﬁrent 300 [VI/15 [A] Ratfg%ﬁ?’a%é%ﬁent 300 [VI/10 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
B o B o B /
B o BE o R g
Operat%giénr.ﬁ%erature 40 ~ +105[*C] Operat%g’iémferature 40 ~ +105[*C] Operat%gﬁemferature 40 ~ +105[*C]
o (@éﬂ@%@@%@
| TR [HEe T
11D D PG
3§ ] ﬁ ﬁ
| \\ ; LR
] g P]jﬁ
8 { £
) o, £% .
\3 )
ik St

=
Pitch:5.0/5.08mm

Pitch:5.0/5.08mm

Pitch:7.5/7.62mm

NB2EDGKDM-5.0/5.08

# K &% Technical Date

NB2EDGKDG-5.0/5.08

NB2EDGKD-7.5/7.62

# K& # Technical Date # K& # Technical Date

22

22

Operating temperature

-40 ~ +105 [°C]

Operating temperature

-40 ~ +105 [*C]

Operating temperature

o / / /
Screws Screws Screws
BH AGW, me I ARG, H 15 AGW, Ea
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Pin headeer / Pin headeer / Pin headeer /
B4 B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated I\foltage/cg:'hrent 300 [VI/10 [A] Ratedﬁltage/cglrl‘rent 300 [VI/10 [A] RatedT\‘/%Itage/Clljjlrl‘rent 300 [VI/10 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
158 / fE / fE /
Torque Torque Torque
TIERE TIRRE TIRRE

-40 ~ +105 [*C]

5000+2)

@
Sl

1500

25.60(REF)

[l

e

{eneiend]
FETTE

25.60(REF)
2360

m?:n;

ﬂ
y

I
0

08 500/u1-1)
3080-1)
[ R
T emwes

0004 1260(REF)
5080 12.60(RE)

25.50(REF)
2350

750(08-1)

T P
76

| i

LR L
7500-1)156
76001455

— 035 —




+ | = + 4=
JiaJi Tl&{:tgm
\ > NINGBOJIAJI

Pitch:7.5/7.62mm

Pitch:7.5/7.62mm

Pitch:5.0/5.08mm

NB2EDGKDM-7.5/7.62

NB2EDGKDG-7.5/7.62

NB2EDGKDA-5.0/5.08

Operating temperature

2522 / [543 / [543 /
Screws Screws Screws
Wh PR e TEW e AW, EY
Shrapnel Stainless steel Nlplated Shrapnel Stainless steel Nlplated Shrapnel Stainless steel, Niplated
Pin headeer / Pin headeer / Pin headeer /
Bt Bt Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EEE E/FIR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/10 [A] Rate$VoItage/C3;hrent 300 [VI/10 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/10 [A]
32483 524430 ey e AEA
Siais N 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
e / e / e /
Torque Torque Torque
LIFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C] LAFRE -40 ~ +105 [*C]

Operating temperature

Operating temperature

75006¢1)420

TR 188
75000445
752004458
75000-1)

50 PS20T)
762
o ol 1ol @] o

[ ISl
i il

I B e S
7500-1)156
75201455

1501

£}a

25.500REF)
5%

75000-1)

L__—‘w w760
762

W :@q"ou [© 'ﬁ m
Moo AL
Al

= P =T
7.500-1)+56
7520-1)3586
7.5000X~1)+18.25(REF)
7.62001)+18.25(REF)

B

5.00%
5.08%X

Rl
5.08(XX—1).
e T =T
EEEN =R
5 N N O W A
i
g ] = w/f
R MM

5.08XX+0.6

16.70(REF)

4

Pitch:5.0/5.08mm

i‘
",“‘.‘ :"

- I"

My
l‘l““‘ ‘

Pitch:5.0/5.08mm

Pitch:5.0/5.08mm

NB2EDGKDAM-5.0/5.08

NB2EDGKDB-5.0/5.08

NB2EDGKDBM-5.0/5.08

# K &% Technical Date # K& # Technical Date # K& # Technical Date

g / g / g /
Screws Screws Screws
A REW, ER A - AEN, R HA - AEN, R
Shrapnel Stainless steel Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Pin headeer / Pin headeer / Pin headeer /
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/10 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/10 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/10 [A]
JEEEE JEEEE LR
Wire Range 28-12 [AWG] Wire R/ange 28-12 [AWG] Wire R/ange 28-12 [AWG]
158 / H5E / H5E /
Torque Torque Torque
TrRRE 40 - - TRRE 40~ - TRRE 40 ~ +105
Operating té%?erature 40 ~ +105[*C] Operating téﬁ?erature 40 ~ +105[%C] Operating ténr.;\pxerature 40 ~ +105[%C]
5.00(XX+1) 5.00xx 5.00(XX+1)
5.08(XX+1) 5.200(%:) 5 0B(XX+1)
5.080X—1)
5.00
e LLH ] ngﬁf
"’: A T
i I N o A
i e A o o © I e T T T R
(" = - ——
B TR | nnan i nnan
i H
! H1TE | (B & & & | | T e E
g S 1 SHes eere g : Ve = e 2 ? SHes ee e
L R N
BESEESIIESEESE - R U S & S e
S.00x:06 [ Sl Dy ey | 1470 5.0000.6
7o 7050 s re0cE0) sl
5.08(XX+2) 16.70(REF) 5.08XX+0.6 5.08(0(+2)

— 036 —




) SRR RIESIR T

&Il p|UG-IN TERMINAL BLOCK
;; >3 - ; P, : -
ag’/y a /// ' an :
.a . a ;.a : a .. f
O S388¢ INQ, (
SSsas SS3as Ssso )/
Pitch:5.08mm W Pitch:5.08mm 4 Pitch:5.08mm -
NB2EDGKDH-5.08 NB2EDGKDHM-5.08 NB2EDGKDHG-5.08

# A& ¥ Technical Date

# A& ¥ Technical Date

# A& ¥ Technical Date

[F22

[-F22

Operating temperature

-40 ~ +105 [*C]

Operating temperature

-40 ~ +105 [*C]

Operating temperature

R / / /
Screws Screws Screws
Wh AW, R e AW, R e T REW, @
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Pin headeer / Pin headeer / Pin headeer /
Bt Bt Bt
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Clljlrhrent 300 [VI/10 [A] Rate$VoItage/C3;hrent 300 [VI/10 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/10 [A]
ey g ey
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
e / e / e /
Torque Torque Torque
TIERE TIERE TIRRE

-40 ~ +105 [*C]

]g

210

I

5.08(XX+2)
508(XK+1)
508(XK-1)

2210

5.080x-1)
508

210

Pitch:5.0/5.08mm

Pitch:5.0/5.08mm

B B8 \\ B B8 ‘ ] : E ‘ E g
\ i vy i ih
j E]
] |
H(
T .
5.08XX 5.08XX
-
l - Jl - - i

Pitch:5.0/5.08mm"

%A S Technical Date %A S ¥ Technical Date %A S Technical Date
184y M3.0, 4, #EEE [:2:522 M3.0, ¥, [:2:522 M3.0, W, #E
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
VEES =i, %% VS Hig, 5 R =i, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Pin headeer / Pin headeer / Pin headeer /
B gBfet ET
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
EERE/ERIR EEBE/ERIR MRE B E/FE i
Ratf?@%ltage/chhrent 300 [VI/15 [A] Ratggi\ﬁltage/cglrhrent 300 [VI/15 [A] Rategau\f)ltage/djjlr"rent 300 [VI/15 [A]
vﬁﬁa"ﬂ 28-12 [AWG] ﬁ?kgfe 28-12 [AWG] M%?REEE 28-12 [AWG]
HE HE H5E
Torque 0'5[Nm] Torque O‘B[Nm] Torque O‘S[Nm]
I XEF o I :EF o I :EF o,
Operatinginaierature -40 ~ +105 [*C] Operatin;’Eén;?erature -40 ~ +105 [*C] OperatingEénr.;\pxerature -40 ~ +105 [*C]
5.000-1)
s ‘ gq — ] ba}i
o (] ==
=2 g & D — adD-—=——
4 b sl s =
L] ] /L . - s Tor=§ S LOp==
g E D fas) D= g D B ——
fanWan fanWanY W= : & o —
= o) o ttﬁ? P 8D
- 8= 8 5 ——

el
1=

=]
[

Br=m
1S
=
]

4=52.2,61.8(REF)

4=52.261 B(REF)

— 037 —




C ) e

# A& ¥ Technical Date

# A& ¥ Technical Date

JiaJi J
v NINGBOJIAJI
; :'_ = //‘_//' //'k/ B
i h
— [
Pitch:5.0/5.0$n“ Pitch:5.08mm Pitch:5.0mm .
NB2EDGKL-5.0/5.08 NB2EDGKLM-5.08 NB2EDGKN-5.0

# A& ¥ Technical Date

L F22

M3.0, i, fEs¥

[F22

M3.0, N, HEE

[-F22

Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws /
TR Hif, %1% R Hig, #H BA B,
Block Brass,Sn plated Block Brass,Sn plated Shrapnel Stainless steel, Niplated
7t / ; / ' /
Pin headeer Pin headeer Pin headeer
B Bt Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
BE/BiR EBJE/EBiR N R/
Rategaﬁkzvﬁoltage//cglrhrent 300 [VI/15 [A] Ratft)?zvénlta};e//cglrhrent 300 [VI/15 [A] Ratfgﬁlta};e//cg:"‘rent 300 [V]/12 [A]
ey g ey
i 28-12 [AWG] i 28-12 [AWG] i 24-16 [AWG]
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torque /
TIERE TIERE TIRRE

Operating temperature

-40 ~ +105 [*C]

Operating temperature

-40 ~ +105 [*C]

Operating temperature

-40 ~ +105 [*C]

2550

) 1
ml
W

Tl ol [k
WL WY
== Wraws i

O &

2550

N2

1090

B

B

S0000-1) 4420

i

é

feHeaHeaH )

NN G N P \W N S

500

500p0-1)

50000

==
e,

Pitch:5.0mm

al®

Pitch:5.0/5.08mm

Pitch:5.0/5.08mm

NB2EDGKNM-5.0

NB2EDGB-5.0/5.08

NB2EDGBM-5.0/5.08

# K &% Technical Date # K& # Technical Date # K& # Technical Date

g / g / g /
Screws Screws Screws
A - AHEW, EE A / HA /
Shrapnel Stainless steel, Niplated Shrapnel Shrapnel
/ =i, 5 =g, 5
Pin headeer Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Hoatt g PA66,UL94V-0 Hoath g PA66,UL94V-0 Hoah g PA66,UL94V-0
B /T B /R /B
Rated VoItage/Cl’J):'Lrent 300 [V]/12 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/15 [A] Rated Voltage/CllJJIrl‘rent 300 [V]/15 [A]
\l\%e Ran%e 24-16 [AWG] \I\I;i%e Ran%e / V\%e Ran%e /
158 / H5E ; H5E /
Torque Torque Torque
TIERE TIRRE TIRRE

Operating temperature

-40 ~ +105 [°C]

Operating temperature

-40 ~ +105 [°C]

Operating temperature

-40 ~ +105 [°C]

26.20(REF)

500042)
5000+)

1090

)
=]

V/

[

50000-1)+420

g
254

11 i
HeiHm]

35t 50600-1)

350 50000-1)
508 ot
500

=

I
— D]

n O oEjjos om

soe 508
350 5.00(0x-1)
508042
5002

{7&; ¢ effe &

1020

Fo o ole o

BB, 1aYOUT

020

—

S ok o ok [
508 oo

500
5.08(0642)

5000042)

5.0800-1) 508 254
‘ 500 250




singy ERRIBERT
 PIUG-INTERMINAL BLOCK

gl L.

L

Pitch:5.0/5.08mm Pitch:5.0/5.08mm Pitch:7.62mm
NB2EDGA-5.0/5.08 NB2EDGAM-5.0/5.08 NB2EDGB-7.62

50\t PCB. LAYOUT

J 0
I

190
180

2522 / [543 / [543 /
Screws Screws Screws
BH / BWH / BH /
Shrapnel Shrapnel Shrapnel
Vil Hif, %1% bk Big, #EH bty Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rated Voltagelcglrhrent 300 [VI/15 [A] Rated VoItage/Cl‘Jl:"‘rent 300 [V]/15 [A]
T , EE 5 , EE O ,
Wire Range Wire Range Wire Range
e / e / e /
Torque Torque Torque
TIRRE 40 - - TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]
5.08(00-1)
s L PR N —
- e s - = -
. f‘ Sy B W L ) spe ¥
B f m—rf ?«a@@:@@ = E o\ & o
E e oo o ﬁ e ® ea[‘ ® =
: = o

508
S0

/ A g |
i I !
THITIT i
r \+ 3 i @ apjan  ap
il i gl
P> iD_1D- Do ol cla/cn s |91} ? o | L
s OB 05,08 O 50800+2) :‘ 37 7.6200¢-1)
E 5.00(0+2) 7.620-0.1
S
- - e —_—

Pitch:7.62mm Pitch:7.62mm Pitch:7.62mm

NB2EDGBM-7.62 NB2EDGA-7.62 NB2EDGAM-7.62
B A S8 Technical Date
/

B / e / e
Screws Screws Screws
BH ; BE / BE /
Shrapnel Shrapnel Shrapnel
735t HiE, EH bk Hif, %5 VR =g, 5
in headeer rass,Sn plate in headeer rass,Sn plate in headeer rass,Sn plate:
Pin head B Snplated Pin head B Snplated Pin head B Snplated
B B B
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
TEFEE/F EFE /A HEES E/ER T
Ratf?@%ltage/chhrent 300 [V]/15 [A] Ratggi\ﬁltage/cglrhrent 300 [V]/15 [A] Rategau\f)ltage/djjlr"rent 300 [V]/15 [A]
BT / BT ; BT /
Wire Range Wire Range Wire Range
158 / H5E / H5E /
Torque Torque Torque
IIREE | IIRaE 3 TIERE .
Operatinginaﬁerature -40 ~ +105[*C] Operatinéfé%?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]

20y \ég 6‘9 [P ) b— 1 1 Ji T I
it o ol e & B
ngiL Jle el e o N ° i ° E
5 s N g 1 lea® ®
i i
// /L
Poa. urour

TR
Jlarsrany

Lz | ow
T.62(X06H1) 4276

7620021

il

\
il

7620021

[l L0010l

BN

e eiasl,|

1 ||s

t t t t
7.62(X%+1)+2.76

oo =njien ep

762001




siaoy TIREL

o

NINGBOJIAJI

» » ;. FI’, o

Pitch:5.0/5.08mm

y

Pitch:7.5/7.62mm

Pitch:10.0/10.16mm

NB2EDGV-10.0/10.16

NB2EDGV-5.0/5.08 NB2EDGV-7.5/7.62
A8 Technical Date ¥ A8 % Technical Date ¥ A8 % Technical Date
2522 / [543 / [543 /
Screws Screws Screws
BH ; BH / BE /
Shrapnel Shrapnel Shrapnel
Pin headeer Biif_lsln giﬁ%d Pin headeer Blﬁif_lsln glgaiid Pin headeer Blﬁif_lsln ﬁlgaiid
i PA66,UL9I4V-0 i PA66,UL9I4V-0 i PA66,UL94V-0
/58 < /E8 3 7 /6B
Ratggﬁﬁ?’a’ggﬁu@rent 300 [VI/15 [A] Ratgaﬁa%!%ﬁrent 300 [VI/15 [A] Ratfgf\%ﬁ%a%é%ﬁent 600 [V]/15 [A]
AR , AR , BEBE ,
Wire Range Wire Range Wire Range
e / e / e /
Torque Torque Torque
TIERE 9 TERE 9 TIRRE o
Operatinéﬁémferature -40 ~ +105 [*C] Operating’iémferature -40 ~ +105 [*C] Operating{;’EemJ:erature -40 ~ +105 [*C]

500006-1)
50801

250
5]
500

t0.0000-1)
T0I6001]

1000

015

250
257]

850

Davavavavavas]

205

s00(20-1)
SOEE0T)

rllalaln

10000%-1)
TGO

250) 1000
5 0.1

isfasfuisst

Pitch:5.0/5.08mm

Pitch:7.5/7.62mm

Pitch:10.0/10.16mm

NB2EDGR-5.0/5.08

NB2EDGR-7.5/7.62

NB2EDGR-

10.0/10.16

g / g / g /
Screws Screws Screws
A HE e
Shrapnel / Shrapnel / Shrapnel /
HiE, EiB BiE, ®5 HiE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/15 [A] Rated Voltage/Cl’lerhrent 300 [VI/15 [A] Rated Voltage/Cl'JJIrl‘rent 600 [V]/15 [A]
V\%e Ran%e / \I\I;i%e RaEe / V\%e RaEe /
HE H5E H5E
Torque / Torque / Torque /
TIFaE . TIFaE . TIFEE |
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}lierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]

50000
5080

) 780

i T 3

i
i

m——

ngg;‘::; 250 500(X4-1)
- B e
o 1o & o &
1 - \:\
I b kY
) )
i i i i
:u D:'J P.CB. IAYOUT

75002
7602

75000-1)
TR0

750
742

o

275
281

i

==

120

24|
24

PCB. 1AYOUT

5.00(20-1)
508(20-1)

B [ B 0

T000(-1)

250

T 250 g 1IE001)
é_g?+ oo :n_L .TT‘ // #1.70
r W } R © &

B ‘\".\‘
i i
Sii=n=l=li==li=| Py

— 040 —




) SRR

JiaJdi
o

PIUG-IN TERMINAL BLOCK

e T

b I»

Pitch:5.0/5.08mm

U

r
>
AP
"rr

Pitch:7.5/7.62mm

Pitch:10.0/10.16mm /

NB2EDGVC-5.0/5.08

NB2EDGVC-7.5/7.62

NB2EDGVC-10.0/10.16

2522 / [543 / [543 /
Screws Screws Screws
3 3 BA
Shrapnel / Shrapnel / Shrapnel /
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EERBE/FRR EEE E/FIR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rate$VoItage/C3;hrent 300 [VI/15 [A] Rateé\Voltage/CL‘J/:"‘rent 600 [V]/15 [A]
T , EE 5 , EE O ,
Wire Range Wire Range Wire Range
HE HE HE
Torque / Torque / Torque /
TR o TR o TR o
Operatingfé%%erature -40 ~ +105 [*C] Operating{;’iﬂ:ﬂ%erature -40 ~ +105 [*C] Operating{;’EéTn%erature -40 ~ +105 [*C]

5.00(0%-1)
] sm S0 ] pro
o
b ﬂhﬂ}jﬁj
\
i
/.
5.00000-1)
S08p0-1)
soomis e an
OB L s ‘ —
8| i I
i 1 & ea&“\eéi
) i _d
':ﬂ D:ﬂ Df():ﬂ D:. P.C.B. LAYOUT

100000t-1)

P.CB. 1AYOUT

[ T 1o 0 sal o a0 oo
36T ez ] %} r
| 3|
il i iy | plafuafalaguiaop
4 RE |
) ‘ I
P Ji ]
375, 7.5000-1)
i o —
Feaik of ‘ l { ST =
gt ol i1
1 I : #\‘\
= = Sn==i=Il=/=lI=]

P.LB. LAYOUT

- v v . o
Pitch:5.0/5.08mm

Pitch:7.5/7.62mm

=

B e
” . —

Pitch:10.0/10.16mm

NB2EDGRC-5.0-5.08

NB2EDGRC-7.5/7.62

NB2EDGRC-10.0/10.16

# K &% Technical Date # K& # Technical Date # K& # Technical Date

[=V72 V73 124y
Screws Screws Screws
A A HA
Shrapnel / Shrapnel / Shrapnel /
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/15 [A] Rated VoItage/Cl‘JJIr"rent 600 [V]/15 [A]
BEBE ESBE EESOE
Wire Range / Wire Range / Wire Range /
H5E H5E H5E
Torque / Torque / Torque /
TrRRE 40~ +105 [ TRRE 40~ +105 TRRE 40~ +105 [
Operating té%?erature 40 ~ +105[*C] Operating téﬁ?erature 40 ~ +105[%C] Operating ténr.;\pxerature 40 ~ +105[%C]

500014

W'\ 40 780
W e
i
=
5.00(00-1) 2;?&3
Bl i &
1 r O O &y |
‘, |
g A\ !
h I
) |
Si= ===} {B—

0

i

I
S

LIl

0
7500 w0 |

762X

75000-1) 375, 750006-1)

) S8 7200
| Sl a0 750 e _‘ 5170
B | 782 7

T o o &

I g 4
Seacay

=== H=/=I

75,

P.CB. LAYOUT

0020 1)414

r SREX )14 7 L 40 780
ESjEags S i
H
q
T 1
50
T000f-1)
1000001) TO1600=1)

TR01)

- oo i a
H g o e
=

120

= I=II=/=I]

LS\
=

PCB. LAYOUT

— 041 —




+ Y s =+
JiaJi T:Eﬁ::gm
v NINGBOJIAJI

Pitch:10.0/10.16mm

NB2EDGVM-10.0/10.16

Pitch:7.5/7.62mm J

NB2EDGVM-7.5/7.62

Pitch:5.0/5. 08mm

NB2EDGVM-5. 0/5.08

2522 / [543 / [543 /
Screws Screws Screws
A A BA
Shrapnel / Shrapnel / Shrapnel /
Hif, %1% Big, #EH bty Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/CllJIrhrent 300 [VI/15 [A] Rated Voltage/Cu:'brent 300 [VI/15 [A] RateéVoItage/Cu:'brent 600 [V]/15 [A]
RESEE IRESEE IRESEE
Wire Range / Wire Range / Wire Range /
HE HE HE
Torque / Torque / Torque /
TIRRE 40 ~ +105 [* TIRRE 40 ~ +105 [* TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(len:nﬁerature 40 ~ +105 [*C] Operating tg]:'lﬁerature 40 ~ +105 [*C]

ST
500 200 sm 250 100000c-1)

fso. 5000-1)
ENE 5 e 1 Py
] e EL) TS0

i

i

D OO TR D F i DT D
Y [ | i 3
il i [ : [ 3
7.500%-1) 250 50 100000-1) 500
- A, 0 T8 e A - e s TP T
SO = ‘ ‘ // ‘ / o g L It o4 i &us{zxx»v) _
o R T == T (o]
)

170 P.CB. LAYOUT

o

S

P.LB. LAYOUT

Pitch:10.0/10.16mm

Pitch:5.0/5.08mm Pitch:7.5/7.62mm

NB2EDGRM-5.0/5.08 NB2EDGRM-7.5/7.62 NB2EDGRM-10.0/10.16

[=V72 V73 124y
Screws Screws Screws
BE ; BE / BE /
Shrapnel Shrapnel Shrapnel
HiE, EiB Vakas Exich HiE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR ENEER /R ENER /R
Rated Voltage/Clli):'hrent 300 [VI/15 [A] Rated Voltage/ClIJ“rl‘rent 300 [VI/15 [A] Rated VoItage/Cl'JJIrl?ent 600 [V]/15 [A]
T / T ; PO /
Wire Range Wire Range Wire Range
158 / fE / 58 /
Torque Torque Torque
T :Efs o, N=| o T 25,1? o
Operatinéﬁéﬁ?erature -40 ~ +105[*C] OperatingEén:'npxerature 40 ~ +105[C] OperatingE::ﬁpxerature 40 ~ +105[%C]

5.0000+2)
S08(xi2) e 7500042)-45 5.00(20+2)
g [Co BB BB T F== I : Sy
([ e i i (D I o ED ] s
] i D i > (S > T o
i g [ i [ il
.00(XX-1)
T R— ?5’3 PR e
;gg m o9 | 1000 1.0
A _ H I 2
QL 7’ NE f | ; Le o1
s == T s
: \\ Ln -
) ras o

ECB. uyorr

— 042 —



singy ERRIBERT
 PIUG-INTERMINAL BLOCK

Pitch:5.0/5.08mm

NB2EDGRR-5.0/5.08 NB2EDGRRC-5.0/5.08

Pitch:5.0/5.08mm

Pitch:5.0/5.08mm

NB2EDGRRM-5.0/5.08

2522 / [543 / [543 /
Screws Screws Screws
BH ; BH / BE /
Shrapnel Shrapnel Shrapnel
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PA66,ULI4V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rate$VoItage/C3;hrent 300 [VI/15 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/15 [A]
T , EE 5 , EE O ,
Wire Range Wire Range Wire Range
e / e / e /
Torque Torque Torque
I N=| o I N=| o I N=| o)
Operatingfé%%erature -40 ~ +105 [*C] Operating{;’EéTn%erature -40 ~ +105 [*C] Operatinéﬁéﬁ%‘erature -40 ~ +105 [*C]

R s
<] 508(04+2) 40 780
] ] e EER|  Tem H
! i T i [
| | =k o[ I B R J
| \ 2 i 2 of
| i \ B
! ! & i
i L - /AL K i K
T 1T T | 550 TT T]T T T TIT TT o
5.00000-1) 5.00(%-1)
508001 50000x-1) SOB001) 250500 50000-1) 500 s s ;mg 500
= £ ElE =
19 sm o1 0| a0 SCEOCD N P ] s 240
52T o

==
11

YN jinm @[\‘\%(yg
I i
Lo

k i
NS

P.CB. LayoUT

Pitch:5.08mm

Pitch:5.08mm v Pitch:5.08mm

NB2EDGVG-5.08 NB2EDGRG-5.08 NB2EDGV-THT-5.08
/ / /

Screws Screws Screws
3 3 3
Shzﬁwl / Sh?;giel / Sh?;:iel /
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing LCP,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/15 [A] Rated VoItage/CllJJIr"rent 300 [V]/15 [A]
BEBE ESBE EESOE
Wire Range / Wire Range / Wire Range /
H5E H5E H5E
Torque / Torque / Torque /
TrRRE 40~ +105 TRRE 40~ +105 TRRE 40~ +130 "
Operating té%?erature 40 ~ +105[*C] Operating téﬁ?erature 40 ~ +105[%C] Operating ténr.;\pxerature 40 ~ +130[C]

s sats s
494 o 50800 5.0800-1) 0o00)
T 1 494 5.08 9170 5000448
[\, 9170 T T T T Q) I ": :‘ | 5.08K+14
EQI & oy =6 ¢ of¢
= )i E I\ L
P.CB. L4YOUT ”
P.CB. 14Y0UT 0 324] 508 | 850 5,080
S080C1) % L9 A ¥ N A V¥ 1/ RV
w0t i
" 3 ! 8 \
B =t B W
g il i
K H i
K . i
g Ei T Bl
g Ji I |8
p:: i i |38 | 254|508 oo
K 550 760 50800-1)

— 043 —



+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

Pitch:5.08mm Pitch:5.08mm Pitch:5.08mm

NB2EDGVC-THT-5.08 NB2EDGVM-THT-5.08 NB2EDGR-THT-5.08

2522 / [543 / [543 /
Screws Screws Screws
BH / BWH / BH /
Shrapnel Shrapnel Shrapnel
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing LCRUL94V-0 Homiing LCRUL94V-0 Homting LCRUL94V-0
EEE E/F R EEE E/FIR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rated Voltage/CSlrhrent 300 [VI/15 [A] Rated VoItage/Cl‘Jl:"‘rent 300 [V]/15 [A]
RESEE / IRESEE / R /
Wire Range Wire Range Wire Range
e / e / e /
Torque Torque Torque
TIRRE 40 - - TIERE 40 - ‘ TIRRE 40~ +130°
Operating té%?erature 40 ~ +130[C] Operating t(ten:n?erature 40 ~ +130 [*C] Operating t(ten:n?erature 40 ~ +130 [*C]
gﬂﬂ‘ 256 508 SOE0X-1) 508 508-1)
7 . T =lN=Ilz=l=gl | z.m‘ 508 ‘ ﬂjm
T e <3 ) i o o o of &)
B0 o o) I o ol & 5 (.
i _d :r Y/ ool soe | sosoo) | sos ’ i !
P.C.B. LAYOUT P.CB. LAYOUT r'}r‘J } 1.0
2L, Lol io__J
850 5080014 s P.CB. LAYOUT S08001)
T ] V0 3 ==t —
if & i 850 _
i A Q i Q B 7
I ) s i
- . O O i & g s
3 B —5
sm] sl P Mo = oo | [ ow - m‘ = -
-

Pitch:5.08mm Pitch:5.08mm

Pitch:5.0mm

NB2EDGRC-THT-5.08 NB2EDGRM-THT-5.08 NB2EDGLF-5.0

g / g / g /
Screws Screws Screws
BH ; BE / BE /
Shrapnel Shrapnel Shrapnel
Wk =i, ¥ A% =i, 5 A =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B _ B -
Housing LCP,UL94V-0 Housing LCPUL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cu}IrLrent 300 [V]/15 [A] Rated VoItage/CujIr"rent 300 [V]/15 [A]
BT / BT ; BT /
Wire Range Wire Range Wire Range
158 / H5E / H5E /
Torque Torque Torque
IIREE | IIRaE 3 TIERE .
Operatingiﬂﬁerature -40 ~ +130[C] Operatingiﬁierature 40 ~ +130[C] OperatingEénr.;\pxerature 40 ~ +105[%C]
30800-1)
3.14‘ 5.08 | :17: 2.54 508 5.08(-1) 5.08
T e oo T — il
i | gl © & S
LA o o P 5
. : ! L
H | ;!
- — PGB, 1aY0UT ’
1
E s . i 4/(
| s D It D E:EJ HE
! s 'Er@ I ) F* | EE
B -] [ L ! \g]
| 8] 508(0042) ‘Uw )
P soacets ] o
P.C.B. LAYOUT

— 044 —



singy ERRIBERT
 PIUG-INTERMINAL BLOCK

»“‘\.\

»

Pitch:5.0mm Pitch:5.0/5.08mm Pitch:5.0/5.08mm’

NB2EDGRF-5.0 NB2EDGVT-5.0/5.08 NB2EDGVTM-5.0/5.08

2522 / [543 / [543 /

Screws Screws Screws

BH / BWH / BH /
Shrapnel Shrapnel Shrapnel

Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated

Bt Bt Bt

Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rate$VoItage/C3;hrent 300 [VI/15 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/15 [A]
T , EE 5 , EE O ,
Wire Range Wire Range Wire Range
e / e / e /
Torque Torque Torque
TIRRE 40 - - TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(lenrl']n?erature 40 ~ +105 [*C] Operating t(tenlg'l?erature 40 ~ +105 [*C]
1470 250 S0000-1) 5.08(00-1)
54 50300y 508 o o
250 | [5.00[5 0000 1)[5.0] = 750
il ‘ F@Jk LT

180

275

& @ o i
1% I
W\ ;
oo g ol LEELE‘”
2 Lol W1 13
T 508
H.a
5.08 |5 08[5.0800-1)| 5.08|
5005003 00(0—7) S0

22 5080042)+1.5
PCB. 1AYOUT SO000H2)+15
254 508 5.08(-1) 508 25¢

1210

180

1520

39

R

24

P.LCB. LYOUT

y

Pitch:5.0/5.08mm Pitch:5.0/5.08mm y Pitch:5.0/5.08mm

NB2EDGRT-5.0/5.08 NB2EDGRTM-5.0/5.08 NB2EDGVTC-5.0/5.08

g / g / g /
Screws Screws Screws
BH ; BE / BE /
Shrapnel Shrapnel Shrapnel
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cl’JllrLrent 300 [V]/15 [A] Rated Voltage/CllJJIrl‘rent 300 [V]/15 [A]
BT / BT ; BT /
Wire Range Wire Range Wire Range
158 / H5E / H5E /
Torque Torque Torque
I N=| o I N=| o I N=| o,
Operatingfén;%erature -40 ~ +105[*C] Operatingfén;%erature 40 ~ +105[C] OperatingEénr.;lJpgerature 40 ~ +105[%C]

s0000c-1) 256 508 508001) 508 sm SO0
0T 320 | {Soseen)
77
i Te 9 M
(]
! it
=

275
1520
280
1520

—® o ff” &

) ey
J
-] i
555
J e
5085063 S0B{e2)41.5
300 500 50000-1) 500 PRI
I PLB. LYOUT ) ™ 254
250 [ b0 BO01) 500 250
A=
® %
(NN
" o
TTuruvyvvy tﬁ
I 1
il 20 [ st
254 50800-1) s00p0-1)
250 50000-1) S0801)

508001

— 045 —



+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

Pitch:5.0/5.08mm = Pitch:5.0/5.08mm Pitch:5.0/5.08mm

NB2EDGRTC-5.0/5.08 NB2EDGVH-5.0/5.08 NB2EDGVHM-5.0/5.08

# A& ¥ Technical Date # A& ¥ Technical Date

2522 / [543 / [543 /
Screws Screws Screws
BH / BWH / BH /
Shrapnel Shrapnel Shrapnel
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rated Voltage/CSlrhrent 300 [VI/15 [A] Rated VoItage/Cl‘Jl:"‘rent 300 [V]/15 [A]
T , EE 5 , EE O ,
Wire Range Wire Range Wire Range
HE HE HE
Torque / Torque / Torque /
TIRRE 40 - - TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(tenlg'l?erature 40 ~ +105 [*C]
5.0000-1) somts1s 50000642)
o) - S
324 508 A i S0800HT)
‘—eaeseaéf Lé( éﬁé\%ﬁéﬂ ‘

olp ¢

| i E[ ‘ ‘ 7 ‘ i
B £ B i

i ‘ ) L Vj
570|300 b zils | i

2

210
@
@
@
&

210

78 (508

5.000%-1) 220
SR 1] stoo14
P.CB. 1aYOUT 320 50000-1) . 250 ;ﬁ;:j;
i e /s e PP
i /
i —o & @ ea“‘s }
. I i
: Il L
I e I
0| Jse| oo Lo @ @ saﬁ’s/eai 750 | 500
334 5.08 e
o | P® swon ‘ sy | AR A TS sy
% —— B0B001) PGB LYo S06(08-1)
) T— . Ll B B .
Pitch:5.0/5.08mm Pitch:5.0/5.08mm Pitch:5.0mm

NB2EDGRH-5.0/5.08 NB2EDGRHM-5.0/5.08 NB2EDGRHB-THR-5.0
/ / /

Screws Screws Screws
B i i
Shzﬁwl / Sh?;giel / Sh?;:iel /
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g LCP,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/15 [A] Rated VoItage/CllJJIr"rent 300 [V]/15 [A]
\l\%e Ran%e / \I\I;i%e Ran%e / V\%e RanEgle /
H5E H5E H5E
Torque / Torque / Torque /
IIREE | IIRaE 3 TIERE .
Operatinginaierature -40 ~ +105[*C] Operatin;’Eén;?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +130[C]

500016 am2)
0BXH.E )

sofocs) [
- T ) i

XTI ‘ ]
I o] I d @}’9
Loasssl L=sr ) . R

]
T
o
LT
koLl
g
s
2

350
B
N

B.0800-1) . R ~
Btse] e
r FraTe r i
Vam! il | i '
if ] b i } | s s
IR ISFIRIIE = | L
i 5 bolg i m ; 3
! g i ! il [ "
I e © 8 &)e i —o & & 9/jo— —
f 1 ! P.C.B. LAYOUT L 7! 1 ! P.CB. LYoUT




) SRR RIESIR T

JiaJdi
o

PIUG-IN TERMINAL BLOCK

Pitch:5.0mm

Pitch:5.0mm

Pitch:5.0mm

NB2EDGRHBN-THR-5.0
|_____BARSBHTechnicalDate

NB2EDGVHB-THR-5.0
| BARSHTechnicalDate

NB2EDGVHBM-THR-5.0

# A& ¥ Technical Date

Operating temperature

-40 ~ +130 [*C]

Operating temperature

Operating temperature

[543 / [543 / [543 /
Screws Screws Screws
BH ; BH / BE /
Shrapnel Shrapnel Shrapnel
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing LCRUL94V-0 Homiing LCRUL94V-0 Homting LCRUL94V-0
EEE E/F R EEE E/FIR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rate$VoItage/C3;hrent 300 [VI/15 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/15 [A]
RESEE / IRESEE / R /
Wire Range Wire Range Wire Range
e / e / e /
Torque Torque Torque
TIERE TERE -40 ~ +130 [°C] TIERE -40 ~ +130 [°C]

750
7
f
i
k
5
o
©

2007

500(4+1)

P.CB. LAYOUT

1150

1
s |

5000042)

1760

00px-1)

g I

1780

2007

260

1780

01.00

1150|387

17.60

Al

500,
5000%-1) | 30|

Pitch:5.0mm

Pitch:5.0/5.08mm

Pitch:5.0/5.08mm

NB2EDGVHBN-THR-5.0

NB2EDGL-5.0/5.08

NB2EDGLC-5.0/5.08

# K &% Technical Date
/

# K& # Technical Date # K& # Technical Date
/ /

Operating temperature

-40 ~ +130 [°C]

Operating temperature

Operating temperature

Screws Screws Screws
BH ; BE / BE /
Shrapnel Shrapnel Shrapnel
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Hoatt g LCP,UL94V-0 Hoath g PA66,UL94V-0 Hoah g PA66,UL94V-0
B /T B /R /B
Rated VoItage/Cl’J):'Lrent 300 [V]/15 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/15 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/15 [A]
BT / BT ; BT /
Wire Range Wire Range Wire Range
158 / H5E / H5E /
Torque Torque Torque
TIRRE TIRRE -40 ~ +105 [*C] TRRE -40 ~ +105 [*C]

11.50
2007

5.0000+1)

B00(0+2)

1

17.60

1200
©

i

500(xx-1) 750

g |
|
=
==
@
|
07 ‘

20

!

o & (( u‘/ =
50000-1) | 4.90
P.CB. avoUT

2007

01.00

1150|387

17.60

N

111
il

500
5000%-1) | 40

1480

1260

500(0x-1)
@ 5.0800-1)
W’—H‘Oﬂ #1.70
o @ of eg

\

1650

1260

)\
I

P.CB. LAYOUT

!l

s00(0:-1)
0B 1)
500420
508K+20

— 047 —




C ) e

NINGBOJIAJI

JiaJi J
o

Pitch:5.0/5.08mm

Pitch:5.08mm

Pitch:5.0mm

NB2EDGLM-5.0/5.08

NB2EDGKR-5.08

# A& ¥ Technical Date

NB2EDGKRM-5.08

# A& ¥ Technical Date

Pin headeer

>4
Brass,Sn plated

Pin headeer

>4
Brass,Sn plated

Pin headeer

[543 M3.0, %, #EFE [543 M3.0, %, #EFF [543 M3.0, W, $E5

Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
A / R Hig, #H R By, #E5H
Shrapnel Block Brass,Sn plated Block Brass,Sn plated
=i, #5% HiR, EH Hig, #EH

>4
Brass,Sn plated

Operating temperature

-40 ~ +105 [*C]

Operating temperature

-40 ~ +105 [*C]

Operating temperature

i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
BER &/ BER &/ EEEBE/BiR
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rate$VoItage/C3;hrent 300 [VI/15 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/15 [A]
s Ty i
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
iR, 0.5[Nm] iR, 0.5[Nm] a8, 0.5[Nm]
TIERE TIERE TIERE

-40 ~ +105 [*C]

1260

8000c-1)
B0B(01)

s00pe1)

- B 7

%frFH:H:H?FH—T%

TTTTTT

750 5.0000-1)
762 5.08(XX~1)
000042
B0B0Z)

1650

1260

9.0

PLB. LAYOUT

5080416
5.08(0-1)

5N
5
!’V/‘W.\
o
AN
AN

2
o

1930

1520

S0B00CH)#5.1
50816

Pitch:5.08mm

Pitch:7.62mm

Pitch:7.62mm

NB2EDGKRN-5.08
# AR B Technical Date # AR B Technical Date

NB2EDGKR-7.62

NB2EDGKRM-7.62

184y M3.0, 4, #EEE [:2:522 M3.0, 4¥, 184y M3.0, W, #E
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
HR HiE, TR Hig, 5 R =iy, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [VI/15 [A] Rated VoItage/Cl’Jllrhrent 300 [VI/15 [A] Rated Voltage/CllJJIrl‘rent 300 [VI/15 [A]
e Ran%e 28-12 [AWG] e Rafe 28-12 [AWG] s Rafe 28-12 [AWG]
H5E H5E H5E
Torque 0'5[Nm] Torque O‘B[Nm] Torque O‘S[Nm]
TrRRE 40 - - TRRE 40~ - TRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating téﬁ?erature 40 ~ +105 [C] Operating ténr.;lpxerature 40 ~ +105 [*C]

50801451

5080016

782000-1)

oo

190

7.6200-1)+18.00

ofo o o orele

Eiin=n=n=\=1=1

78200-1)
TR0 752

762(%-1)+12.20

— 048 —




) SRR RIESIR T

JiaJdi
o

PIUG-IN TERMINAL BLOCK

Pitch:7.62mm

.._/.'././;/;/‘.‘ »
~ v

Pitch:5.0/5.08mm

bl

"/
@4 /
Pitch:5.0/5.08mm 'R‘

NB2EDGKRN-7.62

NB2EDGKDR-5.0/5.08

NB2EDGKDRM-5.0/5.08

1 M3.0, W, gy / Ry /
Screws M3.0 Steel Zn plated Screws Screws
7R =i, B I REW, me I T REW, @
Block Brass,Sn plated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/15 [A] Rated Voltage/CSlrhrent 300 [VI/10 [A] Rated VoItage/Cl‘Jl:"‘rent 300 [V]/10 [A]
32483 524430 ey e AEA
Siais N 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
HE HE HE
Torque 0.5[Nm] Torque / Torque /
TIRRE 40 - - TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]
- soo(uxs2)
7.62(0-1)+12.20 :Zmﬁ;
SR
S———~— : : 2 IS H=I=II=CI=I /
@ o © o o 9 ) ©0lo
=== = R T
i T N N )
762 T T 1T
7.6200-1)
T8N 14752 | T —
If
76200-1)4180 F—-”" B @ E] i
{ — — — HH — { — 8 < I -- B\B B
| ] m T
\ S i i
v ® P A VAT TP P R WA
D DD DD [
L2 L2 L2 822 = s00(0x-1) - snfu-1)
- 5.0800-1) 5.0800-1).
50000-1)+560 5000014560
S0R(u-1)1580 SO0

Pitch:5.0/5.08mm

Pitch:5.0/5.08mm

Pitch:5.08mm

NB2EDGKDRN-5.0/5.08

NB2EDGKDRG-5.0/5.08

NB2EDGKRZ-5.08

# K &% Technical Date # K& # Technical Date # K& # Technical Date

g / g / g M3.0, 5, @
Screws Screws Screws M3.0 Steel Zn plated
A - AHEW, EE A - AEN, R 7 =iy, 5
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Block Brass,Sn plated
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/10 [A] Rated VoItage/Cl’Jllrhrent 300 [V]/10 [A] Rated VoItage/Cl‘JJIr"rent 300 [V]/15 [A]
e o 28-12 [AWG] e OB 28-12 [AWG] = o 28-12 [AWG]
H5E H5E H5E
Torque / Torque / Torque 0.5[Nm]
IIREE | IIRaE 3 TIERE .
Operatingiﬂﬁerature -40 ~ +105[*C] Operatinéfé%?erature 40 ~ +105[C] OperatingEénr.;\pxerature 40 ~ +105[%C]

500006+1)
50800+)

26800%EF)

HiNEIN

NN NN EE

s00006-1)
R0

S0000X-1)4560

5000014560

SR=
i

i
i
i

5000X-1)49.60
012960
50001470

5O 1170
L L 7 L3 1

B B B B\E B

ISR

I N N 6

5.000¢-1)

508001
50000-1)#5.60
S8 1+550

5080016 1620

1930

eeees

L=1020:4060

— 049 —



+ ) [N el = A=
JiaJi T:E‘:l:gm
v NINGBOJIAJI

Pitch:5.08mm Pitch:5.0mm Pitch:5.08mm
NB2EDGGB-5.08 NB2EDGGBM-5.08 NB2EDGVK-5.08
A8 Technical Date ¥ A8 % Technical Date ¥ A8 % Technical Date
2522 M3.0, Y, s 2522 M3.0, Y, s |52 M3.0, 4, fEe
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
R =i, #5 FR HiR, #EH FR =i, EH
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated

=i, #5% HiR, EH =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
/683 /683 7 /6B
Ratggﬁﬁ?’a’gg}‘é’u@rent 300 [VI/15 [A] Ratgaﬁa%!%ﬁrent 300 [VI/15 [A] Ratfg%ﬁ?’a%é%ﬁent 300 [V]/15 [A]
Vﬁﬁj?ﬂ 28-12 [AWG] M*,%?REEQ 28-12 [AWG] Mi’;ﬁ?fe 28-12 [AWG]
iR, 0.5[Nm] iR, 0.5[Nm] a8, 0.5[Nm]
& N aE N e N
Operat%giénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iémferature -40 ~ +105 [*C] Operat%gﬁemferature -40 ~ +105 [*C]
5.08(XX-1)+6.6 EEEEED IS
= DX X)
CAX XXX XX g
P T —
\ )
SOBX-1) 5080 1)456
T St ] y
08000 1)+ L L1 1
mo g UL
e ranEEEE, soccoakos
508 1)+184 25.70R6F)
Pitch:5.08mm Pitch:5.08mm Pitch:5.08mm

NB2EDGVKM-5.08

NB2EDGUVK-5.08

NB2EDGUVKM-5.08

# K &% Technical Date # K& # Technical Date # K& # Technical Date

(523 M3.0, %0, fEFF [:2:522 M3.0, $0, #EEF [:2:522 M3.0, W, &8
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
VS HiE, #5 VS HiE, #5 R B, 5
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
HiE, #5 HiE, #5 B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
ENEES E/ER EMEER E/ER R ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/15 [A] Rated Voltage/Cl’lerl‘rent 300 [VI/15 [A] Rated Voltage/Cl'JJIrl‘rent 600 [V]/15 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torne 0.5[Nm]
TFRE . TFRE ; TERE ;
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]

5.08(06+1)

508(XK-1)466
5.08(tx-1)
508

P

5 oo

I

L o

s

2060

08XK-1)+164

29.20(REF)

’/' 26.70fEF)

.

5a8u-1166

5.08(00-1)

i

Y

50800K+1)

S080-1)+55
508(011)

P
LS
e
=i
=l

L

S0BU-1)H164




singy ERRIBERT
. PIUG-INTERMINAL BLOCK

%‘.

Pitch:5.0/5.08mm Pitch:5.0/5.08mm Pitch:5.0/5.08mm

NB2EDGRK-5.0/5.08 NB2EDGRKM-5.0/5.08 NB2EDGURK-5.0/5.08

# A& ¥ Technical Date

2522 M3.0, i, fEs¥ 2522 M3.0, ¥, s |52 M3.0, , e
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated
TR Hif, %1% R Hig, #H R By, #E5H
Block Brass,Sn plated Block Brass,Sn plated Block Brass,Sn plated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Cllilrhrent 300 [VI/15 [A] Rated Voltage/Cu:'hrent 300 [VI/15 [A] Rated VoItage/Cu:"}ent 300 [VI/15 [A]
RESEE IRESEE R
Wire Range 28-12[AWG] Wire Range 28-12[AWG] Wire Range 28-12[AWG]
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
TIRRE 40~ +105 TIERE 40~ +105 TrRRE 40 ~ +105
Operating t«lenriﬁierature 40~ +105[%C] Operating t(len:nﬁerature 40 ~ +105[*C] Operating tén:'lﬁerature 40 ~ +105[*C]
%W = %W% ; ;
XXX oXxy CIEXXXXIXX IS XXX (XY
)] ;
) ‘ i
= s ey
e - st

508014

]
i I

IZANPANISAN4
h G o

0

TD

)
26.70(%EF)

42.50(REF)

!

@ @ o 27.700eEF) 5000414
- 5.08K0+1.4
500p0042)
508(0r+2)

7.7(RF)

3350REF)

Pitch:5.0/5.0é?nm ‘ Pitch:5.0mm Pitch:5.08mm

NB2EDGURKM-5.0/5.08 NB2EDGKP-5.0 NB2CDGM-5.08

(523 M3.0, 9, fEeF [543 M3.0, 4, s [-523 /
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws
TR HiE, EiB VS HiE, EH e /
Block Brass,Sn plated Block Brass,Sn plated Shrapnel
HiE, #5 Vakas HiE, EiH Vakas B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
ENEES E/ER HERBE/FRR ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/15 [A] Rated Voltage/Clljjlrl‘rent 300 [VI/10 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/15 [A]
\l\%e Ran%e 28-12 [AWG] \I\I;i%e Rar%e 28-12[AWG] V\%e RaEe /
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torque /
T :Efs o, T :EF; o 2EIF§ o
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.ﬁierature -40 ~ +105 [*C] OperatingEénr.}\pxerature -40 ~ +105 [*C]
5.08(0-1)
E E » N
NN
= MHH{{EJHHM
i =i //
savi) QI ‘ i ‘
g%q f Y‘Y‘ ]
500(XK+1) ‘ JL ‘
50800+1) "
il 508000+1)
j i m [ T
Y i i -
g g I 1 10— S o
H ‘\ Il LoD GRS = G
¥ S mia|
i B B f,’ [= = 6%‘ ” @% -
1505 |50 | 50B0-1)#15.24 530
:Zgi:g DSD;Z))((K ! SOB0-1]+25.4

— 051 —



simgy SiEEE

o

NINGBOJIAJI

Pitch:3.96mm

Pitch:3.96mm

- __"_ —
——

Pitch:3.96mm

NB396K-3.96

NB396V-3.96

NB396R-

3.96

M2.0, M, $EE

[F22

gL

R / /
Screws M2.0 Steel Zn plated Screws Screws
IS RGW, BA I / 35 /
Shrapnel Stainless steel, Niplated Shrapnel Shrapnel
/ Big, #EH Hig, #E5H
Pin headeer Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Homthg PAG6,UL94V-0 Homiing PA66,UL94V-0 Hemting PAG6,UL94V-0
EERE/AR EERRE/RIR EUE R /R
Rated VoItage/C:l:'hrent 300 [VI/8 [A] RateéVoltage/Cll.l:'hrent 300 [VI/8 [A] RateéVoItage/C(Jlr"l'ent 300 [V1/8 [A]
RESEE IRESEE REEE
Wire Range 26-16 [AWG] Wire Range / Wire Range /
HE HiE HiE
Torque 0.2[Nm] Torque / Torque /
TIFRE 40 -~ . TIFRE 40 ~ . LITRE -40 ~ g
Operating t’enrlﬁierature 40 ~ +105[C] Operating t(len:nﬁerature 40 ~ +105 [*C] Operating tlenll'lnperature 40 ~ +105 [*C]

\Nivj

39600-1)
3980

I
Sex
I g

N0

AN
m|
A

a9s(or-1)

RN

I o

[
I::.
a—

2950

[ b

D @ @

A

396000-1)

3%

740

1 1 e
> o ola]

P.LB. LAYOUT

39600

|
]
|

| I::I” O

o

1060

10.10

39600-1)

198|398

11.60
1010

& @ @,%ﬁ

\\
H
i

P.CB. LAYOUT

Pitch:5.08mm

Pitch:5.08mm

I | o

Pitch:5.08mm

vy J J

NBSOSK—S 08

NBSOSV—S 08

NBSOBR—S 08

[ M2.5 EEE 124y o
Screws M2.5 Steel Zn plated Screws Screws
A - AW, A / e /
Shrapnel Stainless steel, Niplated Shrapnel Shrapnel
/ B, B &, B9
Pin headeer Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/10 [A] Rated Voltage/Cl’lerl‘rent 300 [VI/10 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/10 [A]
\l\%e Ran%e 22-14 [AWG] \I\I;i%e Rangle / V\%e RaEe /
HE H5E H5E
Torque 0.4[Nm] Torque / Torque /
TIFaE . TIFaE . TIFEE |
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]

&)

1580

50800-1)

508

825

P
|

Pany

©©

Pany

”/77‘>7j\ #1.70
[
S
)

PCB. LAYOUT

jﬂjﬂ_ﬂjﬂ :

1000

28] 508 [Il. oo
s0800-1)

[0 [ [

50800

PCB. LaYoUT

1000




) SRR

JiaJdi
o

PIUG-IN TERMINAL BLOCK

!!II.

Pitch:7.62mm

Pitch:7.62mm

Pitch:7.62mm

NB3EDGK-7.62

NB3EDGKM-7.62

NB3EDGVC-7.62

423 M3.0, %, #EFE 422 M3.0, R, fEe |52 /
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws
TR B, #H R Hig, #H BA /
Block Brass,Sn plated Block Brass,Sn plated Shrapnel
/ / =i, B9
Pin headeer Pin headeer Pin headeer Brass,Sn plated

B PA66,UL94V-0

B PA66,UL94V-0

B PA66,UL94V-0

Housing Housing Housing
Ratf?%%a%ﬁ%ﬁem 300 [VI/30 [A] Ratf?%%a%ﬁ%ﬁ‘rent 300 [VI/30 [A] Ratfdmaﬁ%a%ggzﬁent 300 [VI/30 [A]
Siais N 28-10 [AWG] i 28-10 [AWG] i /
e 0.5[Nm] e 0.5[Nm] e /
Operat%gfin?n%erature -40 ~ +105 [*C] Operat%gin?n%erature -40 ~ +105 [*C] Operat%g'iin?n%erature -40 ~ +105 [*C]
e
N q Ty Joe ¢ el d
{@THE = ==l e EE":’%%] H H H : N{(sﬁ ® @ YL@J
- . ron o

‘ IO

2gese

7aa0642)

381|762 259 762
76200-1)

) I

Pitch:7.62mm

Pitch:7.62mm

Pitch:7.62mm

NB3EDGVM-7.62

NB3EDGVZM-7.62

NB3EDGRC-7.62

# K &% Technical Date # K& # Technical Date # K& # Technical Date

[=Y72 124y 124y
Screws Screws Screws
A A, %J‘;'i_% A / HA /
Shrapnel Stainless steel, Niplated Shrapnel Shrapnel
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn pllzated Pin headeer Brass,Sn pfated
B - B , B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR EEBE/E IR EEEBE/RIR
Rated VoItage/Cl’J):'Lrent 300 [V]/30 [A] Rated VoItage/Cu)IrLrent 300 [V]/30 [A] RateéVoltage/Cdlr"rent 300 [V]/30 [A]
BT / RO / BT /
Wire Range Wire Range Wire Range
158 / H5E ; fE ;
Torque Torque Torque
IIRaE | IIRaE . TIERE .
Operating,iénaierature 40 ~ +105[*C] Operatingiﬁﬁerature 40 ~ +105[C] Operatinéfén;pxerature 40 ~ +105[%C]

7820042)

7.6200¢+1) 1143 | 762 91.50
F—T
T . Ty
i
\H\H\H\/\ GQJJ@
7.62(00-1) B P.C.B. LAYOUT
r— 1

L} |
[T —

762 259 782 |

78200042)

7.62(0+1) 11.43 7.62 91.50
ol s
W
e e e e e e _2je

259

i

vas | 7 | 2 | [
78200-1)

76200 i

s e

81, 7.62 0
76200-1)

e @JL"; o
el za
7.6260-1)

PCB. LAYOUT

1425

r— 1

782

I

20
o

— 053 —




+ Y == b [ 42
JiaJi Tl&{:tgm
\ > NINGBOJIAJI

éﬂ

T ) ')JVJ

Pitch:7.62mm

Pitch:7.62mm

= |
.'.““H
¥ 7 v 2 I ’.‘

Pitch:7.62mm

NB3EDGRM-7.62

NB3EDGRZM-7.62

NB3CDGM-7.62

2572 / [543 / [543 /
Screws Screws Screws

BH ; BH ; BE /
Shrapnel Shrapnel Shrapnel

i,

4]
Pin headeer Brass,Sn plated

Big, #EH
Pin headeer Brass,Sn plated

Hig, #EH
Pin headeer Brass,Sn plated

Pitch:7.62mm

i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
EERBE/RR EERE/A R EE R E/AR
Rated Voltage/Clljlrhrent 300 [VI/30 [A] Rated Voltage/CSlrhrent 300 [VI/30 [A] Rated Voltage/Cl‘Jl:"‘rent 300 [V1/30 [A]
k‘ ‘:;‘E k‘ ‘:;‘E ﬁ:‘ ‘:;"é
\A}I’izrée%Rarligle / \I\%?Rar%‘e / V\%?Rar%le /
HE HE HE
Torque / Torque / Torque /
TIRRE 40 - - TIRRE 40 ~ “ TIRRE 40 ~ +105
Operating ten:nierature 40 ~ +105[C] Operating t(ten:n?erature 40 ~ +105 [*C] Operating t(ten:n?erature 40 ~ +105 [*C]
7.52000+1)
762(006+1) 7 zetot) ‘/{ 7.620%-1)
e If i "
pRvesesamuiry ‘\;x @%%%%%@ - =
e | e J .I o E o oo 14742 1 R s o sje ‘H*‘H*‘H*ﬁ} i —
14 | 7e 76200-1) Ve
reafoi-i) g m N '—m
PCB. 1AYOUT R.CB. LAYOUT 762+ e
7620047) T 76200642) s
‘ ;
| | I
u ] M ] ) & | e = 2
Iy oriIgn -
o 28l
"
> = ”/ v y / . - ‘: i. 4 -

“Wumn.

Pitch:7.62mm

Pitch:7.62mm

NB3EDGKH-7.62

NB3EDGKHM-7.62

NB3EDGVH-7.62

# K &% Technical Date # K& # Technical Date # K& # Technical Date

i i i i
7620 {‘*A 19.70

71 sz(xx+z) A 19.70

(=472 M3.0, =3 (=472 M3.0, (47
Screws M3.0 Steel Zn plated Screws M3.0 Steel Zn plated Screws
HR =i, %% TR Hig, 5 HA /
Block Brass,Sn plated Block Brass,Sn plated Shrapnel
/ / =g, 5
Pin headeer Pin headeer Pin headeer Brass,Sn plated
B - B , B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR EEBE/B IR EEEBE/RIR
Rated VoItage/Cl’J):'Lrent 300 [V]/41 [A] Rated VoItage/ClIJ)IrLrent 300 [Vv]/41 [A] RateéVoltage/Clljjlr"rent 300 [V]/41 [A]
BEBE ESBE EESOE
Wire Range 24-8 [AWG] Wire R/ange 24-8 [AWG] Wire R/ange /
H5E H5E H5E
Torque 0.5[Nm] Torque 0.5[Nm] Torque /
TrRRE 40~ +105 [ TIFERE 40~ +105 [ TRRE 40~ +105 [
Operating té%?erature 40 ~ +105[*C] Operating téﬁ?erature 40 ~ +105[%C] Operating tén;pxerature 40 ~ +105[%C]
510 7.62(x¢-1)
e
- . R B [ §7e &
¥
T A s ol v
[ e s e [ s e g e P o )e =
7.62(XX+1) #1.60 9{
7.62(XX-1)+5.6 76200-1)45.6 P.C.B._LAYOUT -
7.62(0¢-1)
7.62 T.62X+2.0(REF) 1425
| ) 6"07 L) —y 1350 |
1 1 : B N 5

80 | 7.62 ==— 250
519 752(XX 1) 62 340

i

500

7620126

— 054 —




) SRR

&gt pjyG-IN TERMINAL BLOCK
S L y ,_,_‘:‘J.:o‘ = \_“"; a» ;:.-‘ a"-d —
/ | |
P\ | I ‘ £
\\‘ .I . ..lllxo
Pitch:7.62mm Pitch:10.16mm Pitch:10.16mm

NB3EDGRH-7.62

NB3EDGK-10.16

NB3EDGKM-10.16

Ll

Pitch:10.16mm

e / L F22 M4.0, 0, =423 M4.0, ¥, EEE
Screws Screws M4.0 Steel Zn plated Screws M4.0 Steel Zn plated
Eilay / FR HiR, #EH VA =i, EH
Shrapnel Block Brass,Sn plated Block Brass,Sn plated
=i, #5%
Pin headeer Brass,Sn plated Pin headeer / Pin headeer /
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
EERBE/FRR EERRE/RIR EERBE/RBIR
Rated Voltage/Clljlrhrent 300 [V1/41 [A] Raten)fVoltage/CL’J“rhrent 600 [V]/55 [A] Rateé\Voltage/CL‘J/:"‘rent 600 [V1/55 [A]
k’ ‘:;"é k’ ‘:;"é ﬁ’ “:;"é
\A}I’izr?Rar%Ie / \I\%?Rar%‘e 20-6 [AWG] V\%?Rar%le 20-6 [AWG]
HE HiE HiE
Torque / Torque 1.2[Nm] Torque 1.2[Nm]
I N=| o I N=| o I N=| o)
Operatingfé%%erature -40 ~ +105 [*C] Operatinéﬁén:n%erature -40 ~ +105 [*C] Operating{;’EéTn%Ferature -40 ~ +105 [*C]
10.16(XX-1)+8.60 10.160-1)+850
// 9160 w,(w(xx]—v 101600-1)
i o = 07 -
. ot/ mr m T ] .
o °lo e—s i g I 8
1T il | 11— WL
7.62(00-1) 5.19] 762, g‘ g = — . T o e T e N s
) | | sn 7 i e B a\lan i N
P.C.B. LAYOUT GB GB @B @E Wi D GE @B GE Z i W
7571:3;:5) s o m @ o@m omlm ﬁi 2 o g oflao %
) 1350 e 2w
// 016X0-1)+10.0 ===
r 9 e Bl Bl el e e if
W zl %.L s [ :
=~ - || W |
Iy 4=l e e e
A 3 L lsm | 14 10.1600-1)#2032
B SECTONA-A e L 10.1600-1)+27.92 ]
ARV gy
£ 2 g™ee
: -y ,/&// A
| ///'/ /,//// £ //74 A /

Pitch:10.16mm

Pitch:10.16mm

NB3EDGVC-10.16

NB3EDGRC-10.16

NB3EDGRRC-10.16

# K &% Technical Date # K& # Technical Date # K& # Technical Date

10.1600-1)
10.16(xx-1)+13.20

T016(00-1)
560 [ 7076

BB 1AYOUT

g / g / g /
Screws Screws Screws
BH ; BE / BE ;
Shrapnel Shrapnel Shrapnel
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR EEBE/B IR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/55 [A] Rated VoItage/ClIJJIrLrent 300 [V]/55 [A] Rated*VoItage/Clljjlr"rent 300 [V]/55 [A]
BT / BT ; BT /
Wire Range Wire Range Wire Range
158 / H5E / H5E /
Torque Torque Torque
TrRRE 40~ +105 [ TRRE 40~ +105 TRRE 40~ +105 [
Operating té%?erature 40 ~ +105[*C] Operating téﬁ?erature 40 ~ +105[%C] Operating ténr.;\pxerature 40 ~ +105[%C]
10.16(00-1)+1320
g ]

10.160%-1)
oo [0 sso] 0w w0
-
.y b T
L4 @ e g | b o
s El o ; 3
Raw® | i ) 1l 3
i A L 10.16(0-1)+120 | i g
I}/} E 10.1600-1)+13.20 I




+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

Pitch:10.16mm

- Wy ////////
d‘“nﬂm

Pitch:10.16mm

Pitch:10.16mm

NB3EDGVM-10.16

NB3EDGRM-10.16

NB3EDGRRM-10.16

2522 / [543 / [543 /
Screws Screws Screws
BH ; BH / BE /
Shrapnel Shrapnel Shrapnel
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
Bt Bt Bt
Homiing PA66,UL94V-0 Homiing PA66,UL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Clljlrhrent 300 [V1/55 [A] Rate$VoItage/C3;hrent 300 [V1/55[A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/55 [A]
T , EE 5 , EE O ,
Wire Range Wire Range Wire Range
HE HE HE
Torque / Torque / Torque /
TR o TR o TR o
Operatingfé%%erature -40 ~ +105 [*C] Operating{;’EéTn%erature -40 ~ +105 [*C] Operatinéﬁéﬁ%‘erature -40 ~ +105 [*C]

10.1600-1)

1340 N

"10.1600-1+27.92

10.1500-1)

1358 r‘—:]ms
—r
ﬂ ‘F TRy ® Vea
lo }G‘{ﬂ@ z I\ @gq®
L

10.1600-1)+20.32

NE
I
|

e

To15001)
e [T
I 1 [
e @ ,,/
o oll e

f f ———
[ o160 1)420.32 | K

H

wvsxxwzﬂ;z

P.CB. LAYOUT

o {@we\w \ \

TOT6(0-1)+2752

i

1016(00-1)

1396 [ 7006

1
ea” ®7§I§

1398 [T7038 00

t t f
10.1600-1)+20.32
T01600-1)#2797

1800
1
1860

10.16(0¢-1)420.52

P.LB. LAYOUT

10.1600-1)+20.32

P.LB. LAYOUT

NB2EDG-PWI

NB2EDG-PWP

NB15EDG-PWP

# K &% Technical Date # K& # Technical Date # K& # Technical Date

-40 ~ +105 [°C]

Operating temperature

-40 ~ +105 [°C]

Operating temperature

g / g / g /
Screws Screws Screws
BH / BE ; BE ;
Shrapnel Shrapnel Shrapnel
Pin headeer / Pin headeer / Pin headeer /
B B B
Hoatt g PA66,ULI4V-0 Hoath g PAG66,ULI4V-0 Hoah g PAG6,ULI4V-0
TEFEE/F EFE /A HEES E/ER T
Ratf?@%ltage/chhrent 300 [V]/15 [A] Ratggi\ﬁltage/cglrhrent 300 [V]/15 [A] Rategau\f)ltage/djjlr"rent 600 [V]/15 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
58 , 58 , 58 ,
Torque Torque Torque
TIERE TERE TIERE -40 ~ +105 [*C]

Operating temperature

20

34.30(REF)

-

060

3.27.
]

275
1.5

L 055

26.40(REF)

— 056 —




Terminal Block Professional Manufacturer

HEINPCBIEZIKF
PCB SPRING TterMINAL BLOCK

BEXPCBELIR T, ERNAD B BEERMVZEEERE, TLUERREN0.08mm? Elemm? HERENSL,
BEE2.5mmZET0.16mmaJ#i%E, FTLARRIEZPCBELHFHEEENER, BM7T RiEE. FRiRITFEIEC60998,
UL1059. UL486E. CSA C22.2 No.158FHErinE.

PCB Spring terminal blocks, available with two connection methods cage clamp contact and dish clamp contact. Provide
the wire size from 0.08mm?2 to 16mm?2, Available with different pitches from 2.5mm to 10.16mm. It can be used instead
of printed circuit universal screw terminal blocks, more flexible. The product is designed in accordance with IEC60998,
IEC61984, UL1059. UL486E, CSA C22.2 No.158 standards.

— 057 —



f/‘ [ PN =
JiaJi T:Eﬁ::gm
v NINGBOJIAJI

Pitch:2.54mm e Pitch:2.54mm / Pitch:5.0/5.08mm )
NB141V-2.54 NB141R-2.54 NB142V-5.0/5.08
K EH Technical Date H K& Technical Date AR E % Technical Date
24 24 44
s%?ieﬁs / smc%eﬁs / swc%eﬁs /
W AW, R e AW, R e AW, mR
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Hif, %1% Hi, %% bty Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
Rateﬁdm%ﬁga%!f%ﬁrent 150 [VI/4 [A] Ratggﬁﬁga%gf%ﬁent 150 [Vl/4 [A] Ratﬂ%ﬁa%ﬁ%ﬁent 300 [V]/10 [A]
¥ i 26-18 [AWG] i 26-18 [AWG] i 24-14 [AWG]
e / e / e /
Torque Torque Torque
= o BE o R °
Operat%g’iénr.ﬁ%erature -40 ~ +105 [*C] Operat%gﬁémﬁserature -40 ~ +105 [*C] OperatT—EgE:emJjerature -40 ~ +105 [*C]

25400-1) 500,
508

e $ o] -
L, o lE i
MaElizEEEs s

i
500001 (]
5.0800-1)

7
i

eeeee

LT

254XX+)

1390

RN
1.00 | 5.00
gy 282
o)

5
50006#2.5
5086425

330

—_—

—

p—
350

F

t

T

300 508 2.540x-1)

Pitch:7.5/7.62mm J Pitch:5.0/5.08mm Pitch:7.5/7.62mm
NB142V-7.5/7.62 NB142R-5.0/5.08 NB142R-7.5/7.62
#¥ A S8 Technical Date #¥ A S8 Technical Date KRS H Technical Date
Y22 4y 4
S%%J/s / S%%J/s / S{%ev/s /
e RN, R A RN, R HAE CNEW,
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
i, HH Vakis =i, 5 Vakis HiR, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
okt PA66,UL94V-0 okt PA66,UL94V-0 ot PA66,UL94V-0
=8 /R == /R = [ /E
Ratsxgﬁﬁ?‘a%e/%glrhrent 300 [VI/10 [A] Ratggﬁﬁ%a%e/%glrbrent 300 [VI/10 [A] Rat?gi\‘/%ﬁga%e/%gﬁent 300 [VI/10 [A]
i 24-14 [AWG] i 24-14 [AWG] it 24-14 [AWG]
HiE / HiE / HiE /
Torque Torque Torque
i o mE 9 mE o
Operatinéfé%?erature -40 ~ +105[*C] OperatingEemperature 40 ~ +105[C] Operatingﬁemperature 40 ~ +105[%C]

1]
Il
1]
Il
Il

&

s 145

Hl =2 = ;Ir = = o) ] gzzizgzzizizg —
H | B GIEIEIEIEIER AT
1 ] = 1 R E
! j i ]
NN LT b L |
250 &:—a 750 100 w] | 260 | glu]g 050 {2t L%J - 8 185

28 i 7.50(4A-1) T soooe) T5000-1)
TEO-T] OB-1) 7.8200-1)
750042.5 5000425 7500
TEUN+25 50806250 760

— 058 —



<) WMEXPCBIELETF

JiaJdi
o

PCB SPRING TERMINAL BLOCK

T My ~eail
S <24 ==
e S ‘\\
‘NL—.;_, | £op r"]lll] Fiy
Bl Ny
PRELERE T eanadld
B e
ff: 515 ,";‘]l- e W,
Pitch:2.5mm " Pitch:2.54mm I Pitch:2.5mm '
NB211V-2.5 NB211V-2.54 NB211R-2.5
AR EH Technical Date A 8% Technical Date K E 8 Technical Date
Y24 Y24 24
S%%ievls / 5{%6715 / Sw?;ievls /
e FBW, B T TRBW, B e TREW, ER
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
=i, #5% HiR, EH =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL9I4V-0 i PA66,UL9I4V-0 i PA66,UL94V-0
- /E - /E 7 - /E
Ratt??%ﬁga%g%u@rent 150 [VI/5 [A] Ratgﬁﬁa%!%ﬁrent 150 [VI/5 [A] Ratféiﬁa%é%ﬁent 150 [VI/5 [A]
i 26-18 [AWG] i 26-18 [AWG] i 26-18 [AWG]
Tiﬂrtfge / Tzfrlgge / TZHrEe /
= . B . i .
Operat%giénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iémferature -40 ~ +105 [*C] Operat%gﬁemferature -40 ~ +105 [*C]

250(0-1)

16.00(REF)

28000 |

25400-1)
170 25¢

=] Y/ |
tew%' & |
o e
oo b | i

/A

0
i

S
=]
E=ESTN
iTE=

OO0
&) !l
£ @ |
2y g2 i
|
© i [
M | HH L
1000 l1.70] 2.54(0¢-1)

R

=]

1

OO A

) = I £

® 7t

g g A\
By e\ k| e 1 L
1 o8 FILLLOIIIT]
Ol = RNy

-
—
—

Pitch:2.54mm ’

Pitch:5.0mm Pitch:5.0mm
NB211R-2.54 NB211V-5.0 NB211R-5.0
ARS8 % Technical Date K AKEH Technical Date KRS H Technical Date
g i g p g p
Screws Screws Screws
B W, B G, BR B G, B
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
iR, & HiE, #5 B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
okt PAG6,UL94V-0 okt PAG6,UL94V-0 ot PAG6,UL94V-0
=EE/BT == [ /E == R /E
Ratfgezoﬁ%a%s{fgﬂhrent 150 [VI/10 [A] Ratggﬁﬁ%a%e{%gﬁent 300 [VI/10 [A] Ratgﬁﬁa%e/%gﬁent 300 [VI/10 [A]
i 26-18 [AWG] i 26-16 [AWG] it 26-16 [AWG]
e , e ; e /
Torque Torque Torque
i o mE o mE o
Operat%g’iénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iemj?erature -40 ~ +105 [*C] OperatingEemJjerature -40 ~ +105 [*C]
T | SSSAE v . llefefolele
0 I [=2eses B =<' =51 )< =
) L= 900090 o0 199900
= st m )i dod A eld 1 Il
11 — il il
A T L W W
e il IERIRTIRIATN s L
OO0 i ! i
o | B Rk TN
& N i °|8 { " a E il
Bl 5 | ‘ 2 i
LN L l e T T { i B I N
g | il ) I
© Eﬁ B T 1111 w "
i Mo : i
2 - ) [ sopo-r) - 3m 1250 [ | ‘ 5000+ 30




simgy SiEEE

NINGBOJIAJI

o

Pitch:3.5mm

Pitch:3.5mm

Pitch:3.5mm

<

£

NB212V-THR-3.5

NB212R-THR-3.5

NB212VS-THR-3.5

# A& ¥ Technical Date

2522 / [543 / [543 /
Screws Screws Screws
BH TER I REW, @ I T REW, @
Shrapnel Stainless steel Nlplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B Bt Bt
Homiing LCRUL94V-0 Homiing LCPUL94V-0 Homting LCPUL94V-0
EEE E/F R EEE E/FIR EEEBE/FRIR
Rated Voltage/Clljlrhrent 300 [VI/10 [A] Rate$VoItage/C3;hrent 300 [VI/10 [A] Rateé\Voltage/CL‘J/:"‘rent 300 [V]/10 [A]
53] 53] Egsi)
i 24-16 [AWG] i 24-16 [AWG] i 24-16 [AWG]
e / e / e /
Torque Torque Torque
TIRRE 40~ “ TIRRE 40 ~ ‘ TIRRE 40~ +130°
Operating té%?erature 40 ~ +130[C] Operating t(lenrl']n?erature 40 ~ +130 [*C] Operating t(tenlg'l?erature 40 ~ +130 [*C]

2 380(0-1)

sz

(1420)

210 350(4%-1)
35

T/

850

160

HHHHHPE
I

210 )
I50(XX-1)+4.2
o g
= {S— -
e 260 ‘m as0
550 10 1030 E 210 35000-1) |

3.5000-1)+4.2

Pitch:3.5mm

I

Pitch:5.0mm

Pitch:5.0mm

NB212RS-THR-3.5

NB212V-THR- 50

NB212R-THR-5.0

# K &% Technical Date # K& # Technical Date # K& Technical Date

1H20(pEF)

3s0006-1)

35000 1)#42

T420(8E7)

[IIE

55 140

50 080
S.00(0-1)

SOp0-1)+42

[=V72 124y 124y
Screws Screws Screws
Wh AW, 8 WA T REW, s@s;z e T REW, aﬁs,m
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B _ B -
Housing LCP,UL94V-0 Housing LCP,UL94V-0 Housing LCP,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [V]/10 [A] Rated VoItage/Cl’JllrLrent 300 [V]/10 [A] Rated Voltage/CllJJIrl‘rent 300 [V]/10 [A]
JEEEE FEEEE LR
Wire Rlange 24-16 [AWG] Wire R/ange 24-16 [AWG] Wire R/ange 24-16 [AWG]
158 / H5E ; H5E ;
Torque Torque Torque
TrRRE 40 - - TRRE 40 - - TRRE 40~ +130 "
Operating té%?erature 40 ~ +130[*C] Operating té%?erature 40 ~ +130[C] Operating ténr.;lpxerature 40 ~ +130[C]
50(0-1)+42
210 001
e I
ERREEY
8! it
H } s o o\e
L i 210 sopo]

— 060 —




simoy HEXPCBIRLEI
- PCBSPRINGTERMINALBLOCK

| :_r_i‘.
o JECEP
@ fg-_-L'.! ¢ !
Pitch:2.5/2.54mm

NB212VS-THR-5.0 NB212RS-THR-5.0 NB213A-2.5/2.54

Pitch:5.0mm .4 Pitch:5.0mm

# A& ¥ Technical Date # A& ¥ Technical Date

2522 / [543 / [543 /
Screws Screws Screws
BH TER, BE I REW, me I REW, @
Shrapnel Stainless steel Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Hif, %1% Big, #EH bty Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B Bt Bt
Homiing LCPUL94V-0 Homiing LCPUL94V-0 Homting PAG6,UL94V-0
EEE E/F R EEE E/FIR EEEBE/FRIR
Rated Voltage/Clljlrhrent 300 [VI/10 [A] Rate$VoItage/C3;hrent 300 [VI/10 [A] Rateé\Voltage/CL‘J/:"‘rent 150 [VI/4 [A]
53] 53] Egsi)
i 24-16 [AWG] i 24-16 [AWG] i 28-20 [AWG]
e / e / e /
Torque Torque Torque
TIRRE 40~ “ TIRRE 40 ~ ‘ TIRRE 40 ~ +105
Operating té%?erature 40 ~ +130[C] Operating t(lenrl']n?erature 40 ~ +130 [*C] Operating t(tenlg'l?erature 40 ~ +105 [*C]
2.55 2.50{xx-1)
260[p5p 254001 -
ST 7
< ® H

12.10

I
|

2.500+2.15

\i.'IHH\ HH\ \Ml\ \HH

%Ea%ﬁ\

(5
15.50(REF)

400

5.000-1)+42

240] 500" 255 Z50{w-1)
6 2540007)

L'L J‘
"‘i" “o;‘_t

‘ . #l I
Ceeee Ceeee .

Pitch:3.81mm Pitch:3.81mm Pitch:5.0mm :

NB235A—3 81 NBZ3SB—3 81 NB235A—5 0

[=V72 V73 124y
Screws Screws Screws
A W, @E%%! A - AN, %Ei% HA - AN, i)ﬁi;%
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
=i, ¥ bk =i, 5 VR =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 300 [VI/5 [A] Rated VoItage/Cl’JllrLrent 300 [VI/5 [A] Rated Voltage/CllJJIrl‘rent 300 [VI/5 [A]
e OB 22-18 [AWG] e OB 22-18 [AWG] s o 22-18 [AWG]
158 / H5E / fE /
Torque Torque Torque
IIREE | IIRaE 3 TIERE .
Operatiné’iﬂ?erature -40 ~ +105[*C] Operatinéfé%?erature 40 ~ +105[C] OperatingEénr.;lpxerature 40 ~ +105[%C]

381001} 5.00%-1)

38100-1) 5029 d [

a1 261 7 F ol 7‘\:;
rt—-———T-+15 il 3 A foz S
o o o = H H H H H H H \ e e % o o ‘ \‘\‘ ‘ ‘

B i
g | 3\ \ Lo s |
Tle ol o
[ 5 oas/
L El
©; Eoa e g|
s E DOOODa0 @
~\ g DL e
B Vi
om0 | H s |_osa]2s1
s s soifir-1) i 2,
1250 IBIXXHLE -

— 061 —



+ 7Y e
JiaJi T:E1:|:gm
\ > NINGBOJIAJI

Pitch:5.0mm

Pitch:3.81mm

Pitch:5.0mm

NB235B-5.0

NB236-3.81

NB236-5.0

2522 / [543 / [543 /
Screws Screws Screws
BH REW, @ I REW, @ I REW, @
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B B
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
EERBE/FRR EERRE/RIR EEEBE/FRIR
Rated Voltage/Cllilrhrent 300 [VI/5 [A] RateéVoltage/Cu:'hrent 300 [VI/10 [A] RateéVoltage/Cu:"‘rent 300 [V]/10 [A]
53] 53] Egsi)
Vﬁﬁaﬂ 22-18 [AWG] \A*,%?Ra%e 20-16 [AWG] \,ﬁﬁafe 20-16 [AWG]
e / e / e /
Torque Torque Torque
TIRRE 40~ “ TIRRE 40 ~ +105 [* TIRRE 40 ~ +105
Operating t«lenriﬁierature 40 ~ +105[C] Operating t(len:nﬁerature 40 ~ +105 [*C] Operating tén:'lﬁerature 40 ~ +105 [*C]

5.00(0¢-1)

381(x-1)

)

1D
B ezl

5.00(00-1)

§ ddiod 1T s |
LS L AL ERRRR
350 | 500 | 500(xx-1, 3810-1)
- N
‘/ ‘. .\ \/; .--..-‘f -.---.‘--. ”
-
fl ..Q... Ceee ‘ /
! . y
Pitch:7.5mm : Pitch:5.0mm Pitch:7.5/10.0mm ,

NB236-7.5

NB237-5.0

NB237-7.5/10.0

¥ RS H Technical Date
/

# K& # Technical Date # K& Technical Date
/ /

™M i

LT LT

ECE N

Screws Screws Screws
Wh AW, 8 WA AW, e AW,
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
HiE, EiB HiE, EiH HiE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/RR ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/10 [A] Rated Voltage/Clljjlrl‘rent 300 [VI/12 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/12 [A]
i 20-16 [AWG] i 20-12 [AWG] i 20-12 [AWG]
158 / H5E / H5E /
Torque Torque Torque
T :Efs o, T :EF; o 2EIF§ o
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.ﬁierature -40 ~ +105 [*C] OperatingEénr.}\pxerature -40 ~ +105 [*C]
0000-1) 75000-1)
o 1 10.000-1)
=7 —— 7 250
© e e ®! / 9150
N [ sl | | |[elojolplo =T S
= M } D 4 B %
75000-1)+6.35 ] g it [ /)ﬁ L
i [ —— ] — 57 7% =

s e EE
MMM“W

530|500 500 250
500(-1)
500KE1.5D

a0

00

—min

@) owo
@ (1o
@] Owo

=D

IRIRY
l279 7.5000-1)
T0000r1)
750(0-1)#6.50
T00(01)+550

— 062 —




<) wERPCBIELETF

JiaJdi
o

PCB SPRING TERMINAL BLOCK

Cece -

<Pn
L
on
n

Pitch:5.08mm

Pitch:5.0mm

i

Pitch:5.0mm

NB238-5.08
_____#mASE TechnicalDate

NB239R-7.5
_____#ASE TechnicalDate

NB239V-7.5
______#ASH TechnicalDate |

2522 / [543 / [543 /
Screws Screws Screws
A TEW, ER A BN, & BA TN, ER
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Hif, %1% Big, #EH Hig, #EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated

-40 ~ +105 [*C]

Operating temperature

i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
EEE E/F R EEE E/FIR EE R /R
Rated Voltage/Clljlrhrent 300 [VI/10 [A] Rate$VoItage/C3;hrent 600 [V]/40 [A] Rateé\Voltage/CL‘J/:"‘rent 600 [V]/40 [A]
s e 3z 42 5
i 22-16 [AWG] i 24-8 [AWG] i 24-8 [AWG]
HE HE HE
Torque / Torque / Torque /
TIERE TIERE TIRRE

-40 ~ +105 [*C]

Operating temperature

-40 ~ +105 [*C]

Operating temperature

8 0 60 0 b
EEE S EE
[EEE S

cogooo
0 0 @ \\\\u 0 0
I 2

B B8 8,8 8 8

180
12.45(R68)

2,

750+1.8

£3| e[l || e f%ﬁﬁ
)i @] o
L g:]

750 | 170 080
75000-1) 285 1320 1.90
215

=

| AR

COCOU)

===

B

7500418 1850

2415

a—
a—

t
—
S

6a5 | 750 |

i

i

| =
Pitch:10.0mm

t_ P
'/.Lé/L :

-7,
~ - ’
- £ i
» I’, " ’
Pitch:10.0mm ’

Pitch:10.0mm

NB239R-10.0

NB239V-10.0

NB240R-10.0

¥ RS H Technical Date
/

RS H Technical Date
/

R BH Technical Date
/

2% 1500

L b=

Screws Screws Screws
Wh AW, BE WA AW, R e AW, A
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
=i, ¥ =i, 5 =g, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B - B - B -
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated VoItage/Cl’J):'Lrent 600 [V1/66 [A] Rated VoItage/Cl’JllrLrent 600 [V]/66 [A] Rated Voltage/CllJJIrl‘rent 600 [V]/51 [A]
JEEEE JEEEE LR
Wire Rlange 18-4 [AWG] Wire R/ange 18-4 [AWG] Wire R/ange 18-4 [AWG]
158 / H5E ; H5E ;
Torque Torque Torque
TrRRE 40~ +105 TRRE 40~ +105 TRRE 40 ~ +105
Operating té%?erature 40 ~ +105[*C] Operating té%?erature 40 ~ +105[%C] Operating ténr.;lpxerature 40 ~ +105[%C]
# =1 if:qs'm 250 10000418 8
| N b b b P/ g )(Li\; i
g N i 16 C: o
g o | T i ] ] : g
liaad 0 : ) 4\ T
I i /] dob
[ L 1 /|
235 1000 Lzso |
200 b2 7.500-1)
P.C.B. LAYOUT
29.00 10.00XX+1.8 7.5K%+1.2
oo/ 1o &) 7 ‘ 7 )i Zj ”
=2 [EEEE o ” i
oo || 8 |2 N
I E A L D [ [ o [P\ | l
5 | 2l )
o il 1 m 4

410

i g L fuww e

270 500

425 |25

7.50%-1)




C ) e

3500414

350001}

3500140

1350

Jiadi J
\” NINGBOJIAJI
——
o - e
e <o,
g eses ERA
. ; J oy 2N
Pitch:3.5mm Pitch:3.5mm Pitch:5.0mm
NB241V-3.5 NB241R-3.5 NB241V-5.0
AR EH Technical Date A 8% Technical Date ¥ A 8% Technical Date
2522 / [543 / [543 /
Screws Screws Screws
WA TREmW, B wh TR, B we TR, B
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
=i, #5% HiR, EH =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
/B -/ i} -/
Ratggﬁﬁ?’a’ggﬁu@rent 300 [VI/10[A] Ratgaﬁa%!%ﬁrent 300 [VI/10 [A] Ratfgf\%ﬁ%a%é%ﬁent 300 [V]/20 [A]
j,%ﬁj?n%e 24-16 [AWG] vﬁﬁ?ﬂ 24-16 [AWG] vﬁﬁ?ﬂ 24-12 [AWG]
e / e / H5E /
Torque Torque Torque
= . AE . BE .
Operat%giénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iémferature -40 ~ +105 [*C] Operat%gﬁemferature -40 ~ +105 [*C]
350(06-1) 360 35000-1) 360 0
T il g
T || 2888
il =
& e

=

- ,;_7'.._ - Y P
L 4 s
. ’ 1
- : ® ,
eam™ Sop
*®ee "o
Ve T J f
» y
Pitch:5.0mm Pitch:5.0mm Pitch:7.5mm
NB241R-5.0 NB242-5.0 NB242-7.5
ARS8 % Technical Date K AKEH Technical Date KRS H Technical Date
8z , [ , [ ,
Screws Screws Screws
wp TRBW, B T TRBW, B we TRBW, B
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
HiE, #5 B, #E5 B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
okt PA66,UL94V-0 okt PA66,UL94V-0 ot PA66,UL94V-0
EEBE/ERIR EEBE/ERIR TEERE/EB R
Raten Vortasaomrent 300 [V]/20 [A] Raten Voreaaaonrent 300 [VI/30 [A] Raten Voreaaaomrent 300 [V]/20 [A]
Bt 24-12 [AWG] i 28-12 [AWG] it 28-12 [AWG]
iE ; i ; i ;
Torque Torque Torque
TERE o TIIERE o TIERE °
Operating’iemf:erature -40 ~ +105 [*C] Operating’iemferature -40 ~ +105 [*C] Operating’iemjjerature -40 ~ +105 [*C]

—_——
f————
ol
3|
n Fany
[ ——
= -
L

5.00XX+1.4

13.50

5.0000-1)

2.50

500%-1)

I e

T & &
IR Yoo abonol
SEEERR 00

5000+1.5 zn

=81
5ol
R
=pl
5ol

" a® @ sl

E \

S @))@ o © Tr

29

W

)

b

750010

oL,




<) WMEXPCBIELETF

JiaJdi
o

PCB SPRING TERMINAL BLOCK

Yhae LT
| M

1'|'lg

il A
FFF,

—

Pitch:5.0mm Pitch:5.0/5.08mm Pitch:7.5/7.62mm
NB243A-5.0 NB245-5.0/5.08 NB245-7.5/7.62
AR EH Technical Date A 8% Technical Date K E 8 Technical Date
Y24 pea 24
S%%ievls / 5{%6715 / Sw?;ievls /
e FBW, B T TFBW, B e TREW, ER
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
=i, #5% HiR, EH =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
- /E - /E 7 - /E
Ratggﬁﬁ?’a’gg}‘é’u@rent 300 [VI/15 [A] Ratgaﬁa%!%ﬁrent 300 [VI/15 [A] Ratfg%ﬁ?’a%é%ﬁent 300 [V]/15 [A]
Vﬁﬁj?ﬂ 26-14 [AWG] M*,%?REEQ 26-14 [AWG] Mi’;ﬁ?fe 26-14 [AWG]
58 , e , fsE ,
Torque Torque Torque
= . B . i .
Operat%giénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iémferature -40 ~ +105 [*C] Operat%gﬁemferature -40 ~ +105 [*C]

T
[CirD iy

16.3(EF)
5
=

li==g
55

15

-
A
E(

so00-1)
S08(01)

500 355

5000122
50822

i

A@D

355

75001
780-1)

[ 7e

@ sﬁ—
@ o
& o
LI
[

1410

750003
762003

AED

i

W

7500-1)
7.62(00-1)

LT TS
EEFyE
hhkh
EEeg

Pitch:5.0/5.08mm

Pitch:7.5/7.62mm

Pitch:10.0/10.16mm

NB245T2-5.0/5.08

NB245T2-7.5/7.62

NB245T2-10.0/10.16

# K &% Technical Date # K& # Technical Date # K& Technical Date

5.0800-1)

g / g / g /
Screws Screws Screws
Wh AW, 8 WA AW, e AW,
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
HiE, EiB HiE, EiH HiE, #5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
B B Bt
Housing PA66,UL94V-0 Housing PA66,UL94V-0 Housing PA66,UL94V-0
HERBE/RR HERBE/FRR ENER /R
Rated Voltage/Cl’J):'Lrent 300 [VI/10 [A] Rated Voltage/Cl’lerl‘rent 300 [VI/10 [A] Rated Voltage/Cl'JJIrl‘rent 300 [V]/10 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
158 / H5E ; H5E ;
Torque Torque Torque
TIFaE . TIFaE . TIFEE |
Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.ﬁierature -40 ~ +105 [*C] Operating’iénr.}\pxerature -40 ~ +105 [*C]
5.0(-1) %::; 1000 -
A
U‘ 1 | L ® i [} o
o H*\\‘\i% o r—\‘r—\ I ﬁi]_‘,"_‘iy_‘ u
=== ==l == ali= = PE E=N P = 9130 i
| NI —— 4 el |
Iﬁﬁ = = = = @ il © RE
sagoeio s I
‘ z K TOIB(N1)+6.0
AR !
LD
A 22 =2 I = -
TT] 77T g O 00 1. A
i raon) sy ng;% P

7H200-1)

1000(00-1)

— 065 —

TOTE=TT



#/\ ==

SFEAE4E
JiaJi Ti& {:I: gm
v NINGBOJIAJI
- - - -- = B
aaasd asdd .- =
12481
‘333 T Ly ‘a‘a;‘ﬂ jumes 4l
o ==
Laa: [raaa gas | 2233 e s mm
Y FELE Saas FELL S 3aid aadd
Pt 2222 o 2333 et B
Qadd qudd ey
333 XS EEE
Pitch:5.0/5.08mm U Pitch:7.5/7.62mm g A Pitch:10.0/10.16mm
NB245T3-5.0/5.08 NB245T3-7.5/7.62 NB245T3-10.0/10.16
AR EH Technical Date K EH Technical Date K E 8 Technical Date
2522 / [543 / [543 /
Screws Screws Screws
B B, BR B R, B B B, B
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Pin headeer BE%SESIH g%aft%d Pin Z\.jeiateer Blﬁif_lsln glgaiid Pin headeer BEiSES'n ﬁlgaiid
i PA66,UL9I4V-0 i PA66,UL9I4V-0 i PA66,UL94V-0
Ratggﬁﬁ?’a’ggﬁu@rent 300 [VI/10[A] Ratgaﬁa%!%ﬁrent 300 [VI/10 [A] Ratfgf\%ﬁ%a%é%ﬁent 300 [V]/10 [A]
i 28-12 [AWG] i 28-12 [AWG] i 28-12 [AWG]
Tzﬂrtfge / TZ%Ee / TZH:Ee /
TIERE o TIERE o TIERE o
Operatinéﬁémferature -40 ~ +105 [*C] Operating’iémferature -40 ~ +105 [*C] Operating{;’EemJ:erature -40 ~ +105 [*C]
| I \f
I : I
e ﬁﬁﬁ‘;ﬁﬁ e e e
ah |
= ‘ i
75006-1)46.0
g%:} g 782{XK-1)+6.0 10.00(XX-1)+6.0
L TOTEBH60
a =
HHBMHHN | il
EEE i
I A i
it idE) ihﬁjﬁ
A IRBERE TT T
T e S
2330 23%% O
- a- - a = = =
X — ad — saaaid SEmm—
::dl ‘-9-995 :=‘4 "g;ss dddd AT
i‘ii - ““ -.i-‘ 'lﬂ\‘ ‘--—.’
i g.ga.a it 2333 “4.2 a9 ¥
aash RASSS aast RESES coh R
Pitch:5.0/5.08mm o Pitch:7.5/7.62mm o Pitch:10.0/10.16mm e
NB245T4-5.0/5.08 NB245T4-7.5/7.62 NB245T4-10.0/10.16
ARS8 % Technical Date K AKEH Technical Date KRS H Technical Date
gz , gz , gz ,
Screws Screws Screws
A - IR, HER HE IR, FER e - REEN, fE
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
Pin Z\a_eiteer Blﬁisl?jsln g%a%d Pin Feﬁ;eer BE%SESIH g%%d Pin Feitleer BE%SESIH g%jid
okt PA66,UL94V-0 okt PA66,UL94V-0 ot PA66,UL94V-0
S E/EB T =EE/B == R /E
Ratsxgﬁ%a%e/%lﬂ}rent 300 [VI/10 [A] Ratggﬁﬁ?'a%e/%dlrhrent 300 [VI/10 [A] Ratgami\f)%a%e/%glrl‘rent 300 [VI/10 [A]
i 28-12 [AWG] i 28-12 [AWG] it 28-12 [AWG]
H: !
Tf)r(fge / Tzrége / Tzﬁigge /
i o mE o mE o
Operat%g’iénr.ﬁfpgerature -40 ~ +105 [*C] Operat%g’iemja:erature -40 ~ +105 [*C] Operat%g’iemjjerature -40 ~ +105 [*C]
7.50000-1) U
) 3] Jﬂﬁ
(S e s o TE e s
BEEAE | |-
AR A P
i ] \Jw» oHc
L
q
LI W;QLJLJ
| i)
fil
WL?ZZ‘JL? s L




<) WMEXPCBIELETF

JiaJdi
o

PCB SPRING TERMINAL BLOCK

=
]/

=
Yssag

aul

TS

4 ;] J
Pitch:7.5mm Pitch:10.0mm Pitch:3.81/5.08mm '
NB246-7.5 NB246-10.0 NB249-3.81/5.08
AR EH Technical Date A 8% Technical Date ¥ A 8% Technical Date
2522 / [543 / [543 /
Screws Screws Screws
WA TR, B wh TR, B we TRam, B
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
=i, #5% HiR, EH =i, EH
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
i PA66,UL94V-0 i PA66,UL94V-0 i PA66,UL94V-0
/B -/ i} -/
Ratt??%ﬁga%g%u@rent 300 [V1/30 [A] Ratgﬁﬁa%!%ﬁrent 300 [VI/30 [A] Ratféiﬁa%é%ﬁent 300 [V]/10 [A]
Vﬁﬁj?ﬂ 24-10 [AWG] \A*,%?REEQ 24-10 [AWG] Miﬁﬁffe 26-16 [AWG]
e / e / H5E /
Torque Torque Torque
B o BE o R g
Operat%giénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iémferature -40 ~ +105 [*C] Operat%gﬁemferature -40 ~ +105 [*C]
i
2y 5 ‘
i [ [ ] 1T
= e e e
= SEE . )
=l=i=—Im
N G [ = £ QS
=y <
&
X
I v
o T BN 100 200 700 -0

0
381(x-1)
50B(1)

LrLrerr. ,', fadda F e TN
i {154
" 1
a s
’ 1 i
1 L]
] = B | ] H J J
Pitch:2.5mm Pitch:3.5mm Pitch:5.0mm
NB250-2.5 NB250-3.5 NB250T-5.0
ARS8 % Technical Date K AKEH Technical Date KRS H Technical Date
Y22 2 4
S%%J/s / S%:%evls / S{%J/s /
wp TRGBW, B T TRBW, B we TRBW, B
Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated Shrapnel Stainless steel, Niplated
HiE, #5 HiE, #5 B, 5
Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated Pin headeer Brass,Sn plated
okt PA66,UL94V-0 okt PA66,UL94V-0 ot PA66,UL94V-0
() - fﬁ {—) - 2% {—) o 2%
Ratfgﬁﬁ%a%e/%lﬂyrent 300 [VI/4 [A] Ratggﬁﬁ?’a%e/%glrbrent 300 [VI/5 [A] Rats’a—[ﬁi\‘/ﬁ)ﬁ?’a%e/%glrl‘rent 300 [VI/10 [A]
i 28-20 [AWG] i 22-18 [AWG] it 20-16 [AWG]
i p i p i p
Torque Torque Torque
i o mE o mE o
Operat%g’iénr.ﬁ%erature -40 ~ +105 [*C] Operat%g’iemj?erature -40 ~ +105 [*C] OperatingEemperature -40 ~ +105 [*C]

2500415

uliin)

aE | [CaE

?
U

i
@
i
Cln

r380(rer)

075 | 350
i 3500-1)
1800415

325 5.0000-1)
[ 4]lé &
i
i
g s
5 i
.
e e ®
®
PR AN
HE P
(&) o)
e
= 15.00 470 500(0-1)

— 067 —



#'/‘ = 3 =%
JiaJi Tlﬁﬁ::gm
\ > NINGBOJIAJI

Pitch:2.5/2.54mm

NB251-2.5/2.54
AR EH Technical Date
7 ,
Screws
BE BN,
Shrapnel Stainless steel, Niplated
Hif, %1%
Pin headeer Brass,Sn plated
2]
i PA66,UL94V-0
Rateﬁdm%ﬁga%!f%ﬁrent 150 [VI/4 [A]
i 28-20 [AWG]
HE /
Torque
TIERE o
Operating’iém}a:erature 40 ~ +105[*C]
51 81.10 -
{% oo 4o
Hesoe |
. g
234 254(X0-1)
25000-1)
P.C.B. IAYOUT

2540415 "
2500H5 1+

ik

14.45(REF)

234 2540¢-1)
250001)

13.70(REF)

— 068 —



Terminal Block Professional Manufacturer

=iz % in =+
BARRIER TERMINALBLOCK

WMEXELR T, BEEMAT, TLUEEREN0.Smm?2 E50mm? NTERENSE, BE56.35-27mmeJ#iEiE, mJiE
HES. k%, BEEEIERR. FRIRITFAFSIEC60998, UL1059, UL486E. CSA C22.2 No.158FEriniE.

Barrier terminal blocks, connecting easily, provide the wire size from 0.5mm? to 50mm? , Available with different
pitches from 6.35mm to 27.0mm. with cover and without cover. The product is designed in accordance with [EC60998,
IEC61984, UL1059, UL486E, CSA C22.2 No.158 standards.

— 069 —



+ b [ 4E
JiaJi Tl&{:tgm
v NINGBOJIAJI

MODEL:NB25C MODEL:NB25S
| 7.62(X¢-1) 456 2
S — . i
I
\& egg . 7.62 EI E| LEAE : sgge ‘?WT %
d —— | el
[P.CB. 14v0UT L P.C.B. IAYOUT
], ‘ I
Lk S
T e d
120 7.620.2
— 456 ; :}(:rft) x,mmfi'jffa . - T
S SECTION A-A B2XX+1.

MODEL:NB25H MODEL:NB25R

620K+

= ===

| S=|
o | A
Tl B
L] k-] k-] L::3 ©
-
! e — | | i e e | W J%mzm—vﬂ‘ U U 1 U— -H—
E.CB. LAYOUT P.C.B. LAYOUT
— g

—t30—

10—
H
|

L0

% % & P % % [l e ‘a
\ 7 iR i
ST - L o —
KRS Technical Date
422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
ENERR 15[A] Rated current 15[A]
FER%R 22-14[AWG] Wire range 22-14[AWG]
REEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 070 —




singy MHERIBERT
\» BARRIERTERMINAL BLOCK

MODEL:NB25CM MODEL:NB25SM
LTI ==
2 ][ | e 3 ST s C
W«\\. T JN e e s

1510
=
=
s
H ]
|

5.4040. 304-—'4&3&%2‘[7
H-

D

N

D

D
\
I

0.80 A=
685 12 75200(7-%*“ O P S AN PR S
- 762(1%-
_ 381 ) 26z
76200+2)

> P
MODEL:NB25HM MODEL:NB25RM
\ \*;%%%*\ | 2
1 e

37—

o
h
§
@
7\
N4
Y —

o | o PP S
P.C.B. TAYOUT ‘\‘7‘“ P ‘

[—ﬂ 30£0.24—

H

]
oz

D

N

|
-
D

215

.
H
H

TUVI e l

X 7
= . B2((¥-1)

—Hom

990£0.50—

[
13—

51040

HARESH Technical Date

422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BUEERR 15[A] Rated current 15[A]
FER%R 22-14[AWG] Wire range 22-14[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 071 —




. /\
JiaJdi
o

Lo PN =+ 4=
TR {ESR
NINGBOJIAJI

MODEL:NB35C MODEL:NB35S

—— — 3 s —part- =SSi=Si== S=SI=S=

ARIE ST B @
op.mz. LiyouT ] T SESSE S ESIES

5 a2 %TH EEHSS 5@;75

ol LU
,, B [l ) )
5% - “ 25()0(—?)25!Dz J.mmzfi :]:jg‘ § koo Qs(xxfﬂm“m'

SECTONAA

SECITON A

250+

MODEL:NB35R

e

100~
H—
L

25N

e

4@@§§e@e

T At ——| & .—a.zﬁ(xx—v);m‘\' % SSSE S SE S
i i o T TTTTT
éé ANl i | Py T % éi kﬂéa]@&akj
N T B L]
IR iR g g g
mﬂ 1,;07 L sasqor-y 2202 — 5 57— ! % I 300 \a.z?(xx—1 8.2520.
KRS Technical Date
422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
ENERR 20[A] Rated current 20[A]
FER%R 22-12[AWG] Wire range 22-12[AWG]
REEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 072 —




singy MHERIBERT
\» BARRIERTERMINAL BLOCK

L.

| 120 825402
*8.25(X4-1)

413 +B25(Xx+1)

8.25(X+2)

MODEL:NB35CM MODEL:NB35SM
e ‘ w2 - | _ng?‘ ’
; - REEEEER - BT -
i * R R

16,1040.256—

H

5‘“*”'”—‘\’*- 4027

—120 P

MODEL:NB35HM
i lﬂiﬁwﬂ ] o L . ‘
e REREREE gy

i
-

“u*
(=

BASH
422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
ENERR 20[A] Rated current 20[A]
FER%RE 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 073 —




Y paspe g
JiaJi J l&{:l:gﬂ
\” NINGBOJIAJI

MODEL:NB45C
.
aEvris 9515
501 e 9500-1)
EN 57w | 95001)
&L l l I
s E
3 R &4 .
Pca oo
P.C.B. LAYOUT 950201
0
B E
EE Tﬁ 4T
om0 JU/ M/ Hoom
T 150 0z |
1630 e -
SECTONA-A SECTONAA

MODEL:NB45H

100
|

=
%%U
e

HARESH Technical Date

422 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
ER%E 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 074 —



) RS T

FiaJi
Jiadl BARRIER TERMINAL BLOCK
MODEL:NB45CM
950042) ' 95(0+2) ) 9.50(XX+2)
9.90 “095(”4) ‘9.90 ‘ 990 85N e ‘
?Iellal\gﬂ E
: | Ty
;‘f‘v* ol 9.50 o 1.50
MODEL:NB45HM MODEL:NB45RM
9.5(Xx+2) 9.5000+2)
9.90 9.500-1) 9.90 990 950-1) 990
I = e — | \ o
e L el |1
% P.C.B._LAYOUT 9.5(XX-1) f Sh—
.. Yo (072 10
T R g
KRS Technical Date
22477 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%R 22-12[AWG] Wire range 22-12[AWG]
EEEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 075 —




+ b [ 4E
JiaJi Tl&{:tgm
v NINGBOJIAJI

MODEL:NB55C MODEL:NB55S
vaurx’x%‘ l %L Eru;f“;’i i ’
SEIT T s

18.30-

32102 — 19 1 10202

MODEL:NB55H MODEL:NB55R

)

|
\
1 opor-1)— %, ‘

+ N e top-1yr12—=
P.C.B. LAYOUT P.C.B. LAYOUT
| !
Joi-t,

1 O?}T‘
iR
R
ﬂ44
%

HARESH Technical Date

422 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
ER%E 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 076 —



singy MHERIBERT
\» BARRIERTERMINAL BLOCK

MODEL:NB55CM
‘-mjjﬂj‘a(xx—v;arm-‘ —_T \“i@ . gn:jf{xx—w)a{ jg K — - N
@) @ fod (7 N 7NN
1 é L l( \l\ #{ N> % Y/ ' F.CE. SAYDUT G 4 @@ @@ )
P.C.B. LAYOUT = — ——== ===

18.30

LT;H’Q

MODEL:NB55HM MODEL:NB55RM
T | e e — -
f;igg; < e g @ N

50040.3-4—]

10001

g
s

HARESH Technical Date

10 60+0 }‘r-fm 26—
i
—
P

422 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
ENERR 20[A] Rated current 20[A]
ER%E 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 077 —




+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

MODEL:NB65C MODEL:NB65S

10042

|
T»—e &

2l

1720
1m0

($ o

100-1)
P.C.B. [AYOUT

11X02 TIX2

100-1)

1(01)
"

ap
i ; %‘
R
I
7
11.00£0.2 200

MODEL:NB65H MODEL:NB65R

02

== 5

Ty

i

1
&
i
;ﬁ ‘
(26.80)
=

100-1)

P.C.B. LAYOUT

1850

1030

|

! N x
| :‘ 1100202 400

|
seftonss

BASH
22477 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%RE 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [*C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 078 —



ooy MER IR

Jragi BARRIERTERMINAL BLOCK

MODEL:NB65CM MODEL:NB65SM
% e ——
%uwﬂ\iﬂ

MODEL:NB65HM MODEL:NB65RM

110232

1O+

1) 11.00

L

18,50

1350503 | 1030

T02)i2

=

022

1-1) 11.00

BASH
22477 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%RE 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [*C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 079 —




=T +=
JiaJi T:&ﬁ::gm
o

NINGBOJIAJI

MODEL:NB28C MODEL:NB28S
7.62(x¢-1) 466 T Q‘
= Ssissisiis=i= P 1
82| | = B
g ; n
\s% eaggé dop Szl Sl ] o ® aaggea &
P.C.B. LAYOUT e ===
P.C.B. LAYOUT
(14.20) o
o | eRaaplianlian) I
8 L i i L I ESES ey B as
_|080 62402 | [ om Tz
B B e R =l U
(7.10) ‘—‘W SECTION A rezpoct) x
SECTIONAA 2001

MODEL:NB28R

J~4@ ® eag{fe =l = =

e
P.C.B. LAYOUT

D)
"]

‘ w
I W“J‘

=D
PRI

TR

i
L

T
P T

O Rt
BASH
422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 15[A] Rated current 15[A]
FER%R 22-14[AWG] Wire range 22-14[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 080 —



singy MHERIBERT
\» BARRIERTERMINAL BLOCK

MODEL:NB28CM MODEL:NB28SM

7e20041) 38

==l sy =T
JETTRTT |
riun g
2 L
3 iz zew02
§ 7.6200-1) | o ]
18 7.52001) Jﬁ‘
7.62(X+1)47.62

MODEL:NB28HM

T
I

P.CB. LAYOUT

2

‘ 2

< T

| _
s MQQQ
e | s0r s

razc)
e
7 aHH] 72

HAE&H Technical Date

422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 15[A] Rated current 15[A]
FER%R 22-14[AWG] Wire range 22-14[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 081 —




+ Y s =
JiaJi T:&ﬁ::gm
o

NINGBOJIAJI

MODEL:NB38C MODEL:NB38S
R — e
L i [P0 R

ol
T
n
T

(42403

14
il i i i =) @71 i ey
] o080 A Ea

530 8250%-1)
250 1)+1060

420403

1)
2500~ 1)4+10

MODEL:NB38H MODEL:NB38R
e o i NN
(s [ — I

Y
Y
G

D

—~it—080

g H H H H il [
| ijan I i i L
= N A ! 1
[, Sant0t é _L w03 I
.—azs(xx v)

—ponsar -
| F ol

SECTION -4

HARESH Technical Date

422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%R 22-12[AWG] Wire range 22-12[AWG]
EEEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 082 —



ooy MER IR

Jiadl BARRIER TERMINAL BLOCK
MODEL:NB38CM MODEL:NB38SM
T — —
;ﬁ%@ = L —=—1| oY
65@ w/\g PGB, LIOUT {i ::7:%7 Yo ;‘:{764& (L $<< ° g\269\ === =
B E— — (i
e i H H H H i
R @iﬁéﬂ;
(] el S P
SECTONAA . s z:of:i::t;)zs . zsfxm)w
442
oy
MODEL:NB38HM MODEL:NB38RM
= =i 0 § el
;‘ e% %_CTSS:U%Q& I R ‘i?m{h?a : - f i ==1=S1S S1=S :g L
— P.C.B. LAYOUT ‘L‘\?‘ o
et i
S @ H Aﬁﬁa S < 1 1
el e el s 3

HARESH Technical Date

422 M3.0, i, R Screws M3.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%R 22-12[AWG] Wire range 22-12[AWG]
REEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
HiE 0.5[Nm] Torque 0.5[Nm]

— 083 —



+ | = + 4=
JiaJi Tl&{:tgﬂ
\ > NINGBOJIAJI

MODEL:NB48C MODEL:NB48S
935?:::3) ‘ s ‘ ys:(xﬁ) 9.506+3
NERERI R
(Xx-1) — 9.5(X(-1)
L o 5 | gégggg gggggggggg -
= Tg\f (e e 11 ? = = = ?
it v‘kgvsmz — ,H 1.50 g‘ts.ﬁmz — H 150

MODEL:NB48H MODEL:NB48R
mgifx‘:fé e ‘ o
s T
SO e A1 | Y
— ¢szswu) v
i i il r T
22 é% EBlas - gl | 1= %%’%@'%% = |
TULEVY g
e THYV LRV, LT
a5 ’ g
KAREH Technical Date
22477 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%R 22-12[AWG] Wire range 22-12[AWG]
BESTE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
R4E 1.2[Nm] Torque 1.2[Nm]

— 084 —



) RS T

JiaJdi
o

BARRIER TERMINAL BLOCK

950402

MODEL:NB48CM
9.5(0x+2)
e — s f— — s
v 18 | = b RS !
= | CEREEEED S LA R
iESE e
§| |:(J(J‘(HS\\\>(] TT@ ':TTiTiﬁiiiiicTQ

950,
|

o

N

Ak

MODEL:NB48RM
Z:E;);f; 9.5(x+2)
_ HW‘L 9:“ 55001
LIl -
P.CB._ LAYOUT JJ I jmmi ! T,
ER e e
E ':TTTTT;&TTT;T;Q
oy . ﬁﬂu I TLJ il

Technical Date

422 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
ER%E 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 085 —




Y paspe g
JiaJi J l&{:l:gﬂ
\” NINGBOJIAJI

MODEL:NB58C

MODEL:NB58S

15.00

10.006+2

10.0(0-1)

19.10

L

4.00£0.3

10.0040.3

150

15.00

10.006+2

10.0(xx-1)

8.20£0.2
a2

1910

150 ||

MODEL:NB58H

MODEL:NB58R

10.00-1)

L Ll

10.0KK+2

10.0(0¢-1)

(LT T
i

P.C.B. LAYOUT

820400

1500

10.0K6+2

10000-1)

820402

ﬁﬁ Aniasiasia s

kB I i i
e §‘ RiNE 100003 &U- |roousos|
RARASH Technical Date

422 M4.0, W, R Screws M4.0 Steel Ni plated

Ll HEese, BB Pin Header Copper alloy,Sn plated

B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%RE 22-12[AWG] Wire range 22-12[AWG]
BESE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]

H4E 1.2[Nm] Torque 1.2[Nm]

— 086 —




N R

JiaJdi
o

o
BARRIER TERMINAL BLOCK

MODEL:NB58CM

MODEL:NB58SM

10.0(x¢+2)

TO0(R=1)

15.00

19.10

m
oL
M
5
m
o
M

i

n
i
n
i
n
i
]

Y]

|
e

4.00£0.3

‘ 1000403 150

10.000+2)

10.0001)

15.00

19.10

#

, J|_o.g0
B

400£0.3

10.0040.3

MODEL:NB58RM

10.0(X¢+2)

10.0(0¢-1)

10.00

19.10

815403

1000£0.3 ||

10000r+2)

1000 10.0(%-1)

82002

520403

1500

lwess]

miian
iy

BASH
22477 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%R 22-12[AWG] Wire range 22-12[AWG]
BESEE -40 ~ +105 [*C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 087 —




+ ) = =+ 4=
JiaJi Tl&{:tgﬂ
\ > NINGBOJIAJI

MODEL:NB68C MODEL:NB68S
/ I | & @% $<} o | — ;Zﬁ:u=,== i
|/ k : - R
) 11.000XX-1) = =% §=7§7§§
| [ B Y O 1 ;”1?12?” :
e :\ Af 0 ]
[ A [T 3 s

SECTIONA-A

MODEL:NB68H MODEL:NB68R
5[ T*kga - gg g I S e %
PCB LaYoUT 0 i
P.C.B. LAYOUT
i ]
3 (SRS 2uas
—F 11 ‘(ET IHES |
[sssaz i
3.10
BAREH Technical Date
23272 M4.0, W, IR Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
oLl PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
ER%E 22-12[AWG] Wire range 22-12[AWG]
REEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
4 1.2[Nm] Torque 1.2[Nm]

— 088 —



) RS T

FiaJi
Jiadl BARRIER TERMINAL BLOCK
MODEL:NB68CM MODEL:NB68SM
,,=7 § 2N 92,00 @ i g R R R ge
g V 8| D ? Q 1% S §> %% Dee
1100042) ‘ 11.00 11.00(xx-1) 11.00 :1'1’0'0__ T@;’:_E_T ;a
P.C.B. LAYOUT
N e — i
é T
L L
W%T ﬂ'u' 388202 -l 7
z; 11.0000+2)
MODEL:NB68HM MODEL:NB68RM
11.00XX+2.5 11.0000¢-1)
350 g @é 2 ’= e o [¢] 100 11 00:x¢f5)
{} E==g = = E==3 E / \ ol | 11.00(XX-1, _
] | C R | e
100 11.000¢-1) 1.00 | R e s | S g% VA B
P.C.B. LAYOUT 11.00 11.00(%-1) 11.00 L: / .
T1.00(X6+2) it i e 1 i e 1§ it B
g | | | = )ggg 5
L1 na= SN N
H g J. LT
SECTIONA-A § [T i B % A aopoes2) I
KRS Technical Date
22477 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 300[V] Rated voltage 300[V]
BERR 20[A] Rated current 20[A]
FER%RE 22-12[AWG] Wire range 22-12[AWG]
REEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 089 —




+ ) [N el = A=
JiaJi Tl&{:tgm
v NINGBOJIAJI

MODEL:NB78C MODEL:NB78S
WL | e e
PAC.HY.JXX;YOUT - 1200630
A= ‘ T Il
e z R e g » o [ oy u Bl

MODEL:NB78H MODEL:NB78R
TN AEs Fgﬂri [ GE i 1 1 1 58 é 1300207 = Usz
T o [EATTEEIER f@ﬁ\\t%il bt i . M
] s e ey o| I R R R |
P.C.B. IAYOUT o PCE. LAYOUT ! A )
Ar— A;—’ 19003
E PN R figan I
LSEEWON ;7 13.00£0.2 %

BASH
22477 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 600[V] Rated voltage 600[V]
BUEERR 40[A] Rated current 40[A]
FER%R 18-10[AWG] Wire range 18-10[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 090 —



singy MHERIBERT
\» BARRIERTERMINAL BLOCK

MODEL:NB78CM MODEL:NB78SM
= 7j - g 1300022 T =T
| e EEEEEE
et | F DT T R R
& | i
- ‘ ) | ol g%u =3

40403

Al—

£ T“*‘

MODEL:NB78HM MODEL:NB78RM
S AR ] T 1 | 8 uminy
T :ﬁ» 2 13000x42) 4270 |8 | 0
sy g i y— wn T elmse] f i /- w12
I s L) b b bl ( 2] sy NGOG E I
£ J L oy [ oes 13006+2) = J ﬁg Eg: :@ g: L Lass
P.CB. 14YOUT I it i P.C.B. TAYOUT L e —
oo Loz [ 0 no‘o& —_— 1300 ot |
- \ i
2 |
: 5 5 e
R, iy
| ] | 1 1 B
@ @ S’»@ﬂ A - 1950 13001) ~
= Ef AT T3000X2)

HARESH Technical Date

422 M4.0, W, R Screws M4.0 Steel Ni plated
Ll HEese, BB Pin Header Copper alloy,Sn plated
B PA66, UL94V-0 Housing PA66, UL94V-0
MERE 600[V] Rated voltage 600[V]
BERR 40[A] Rated current 40[A]
ER%E 18-10[AWG] Wire range 18-10[AWG]
BESEE -40 ~ +105 [°C] Temp.range -40 ~ +105 [°C]
1H4E 1.2[Nm] Torque 1.2[Nm]

— 091 —



q .
Jiags T iR IELR

o

NINGBOJIAJI

Pitch:7.62mm

Pitch:6.35mm

Pitch:6.35mm

MODEL:NB06

MODEL:NB16

MODEL:NB16A

(650)

R

{ VD_ 3 L7 ] [ 7 [
_{_os ¥ 100
23403 4L 7.6200-1) 7.6240. JAL

27

i
[

(2EdiE

20

3540, A
o 11T ]

6.6£0.3,

(=473 M3.0, M, &R 872 M3.0, 1, R (=73 M3.0, ), R
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated
= WEE, EH 2 mEw, EH il mEw, EH
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B B B
Homting PAG6, UL94V-0 Homting PAG6, UL94V-0 Homting PAG6, UL94V-0
EERE AERE EERRE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
TR HEE TEE T
RaiﬁeﬁEcurl:gnt 15[A] Rag;*eTaEcurl:gm 10[A] Rag;tﬁEcurI:gnt 10[A]
fERLRE _ ER%E . SRR -
Wire range 22-14[AWG] Wire range 22-16[AWG] Wire range 22-16[AWG]
N=| ;‘é’,@ _ - o N=| :;‘EE _ - o ;E :;"é@ _ ~ o
Tg]rlhﬁrange 40 ~ +105 [*C] Tleflrl;-uﬁrange 40 ~ +105 [°C] Tenrl-ln?range 40 ~ +105 [*C]
HE HE B
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
s ﬁ_f’. Sl 535102 S0l
R T E “y s
R N I N //% i
3 ANV 9 816 1 oo .
Y AE 0 7 i
7;:?;&;29 g 6,35 (0-1)+1.5 - ;ﬁ;ﬁ;”; -
P.CB. IAYOUT P.C.B. LAYOUT I R
7.62(XX-1)+9.0 - P.C.B. LAYOUT
635 0-D)+7.5 _— | | ! !

63500014750

Pitch:6.35mm

Pitch:8.5mm

Pitch:8.25mm

MODEL:NB16R

MODEL:NB26

MODEL:NB36

# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

SECTION -4

A M3.0, ), #ER 124y M3.0, 0, #HR (-7 M3.0, 0, #HR
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated
2R wWae, #iH 2 wWae, #H el wWae, #H
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B : B : B :
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
MERE ENERE ENERE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
ERERBIR ERERBIR EERR
Rated curllfgnt 10[A] Rated curI:gnt 20[A] Rat)éd curI:gnt 20[A]
fER%E _ ERZ%E - ERZ%E R
Wire ran;e 22-16[AWG] Wire ran;e 22-12[AWG] Wire rang;;e 22-12[AWG]
N=] ;\"E",E _ - o N=| :;EE _ - o N=| 3"@@ _ - o,
T':“mﬁrange 40 ~ +105 [°C] T’:“mﬁrange 40 ~ +105 [°C] T’e“;ﬁ;ange 40 ~ +105 [°C]
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
sand) zs(xx(—u)ri.m —~
8.25(XX-1, N
: = e S | R e e e
EE w E === =
Y T i = %j e ® )V i ( N é o of o ?!—j
5 i B
E‘Jﬁ } I P.C.B. LAYOUT % é ]
63500-1)
S350 1)475 H L L P H P.C.B. LAYOUT
P.C.B. LAYOUT
_=— sy e . 501104
A U1 —
‘ el —
1
[E2E=E § ] 2
| T
- J—L;W - [L FJ
- I STV A = b —lgost02i— 1.00
41040 25+ 3

— 092 —




singy MHERIBERT
.~ BARRIERTERMINAL BLOCK

Pitch:8.25mm Pitch:8.25mm Pitch:8.25mm
MODEL:NB36SG MODEL:NB36A MODEL:NB36G

(=473 M3.0, M, &R 872 M3.0, 1, R (=73 M3.0, ), R
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated
= mEw, E% 1R mEw, EH 1R mEw, EH
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B B B
Homting PAG6, UL94V-0 Homting PAG6, UL94V-0 Homting PAG6, UL94V-0
EERE AERE EERRE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
TR HEE TEE T
RaiﬁeﬁEcurl:gnt 20[A] Rag;*eTaEcurl:gm 20[A] Rag;tﬁEcurI:gnt 20[A]
fERLRE _ ER%E . SRR -
Wire range 22-12[AWG] Wire range 22-12[AWG] Wire range 22-12[AWG]
N=| ;‘é’,@ _ - o N=| :;"é@ _ - o ;E :;‘E@ _ ~ o
Tg]rlﬁﬁrange 40 ~ +105 [*C] Tgl:;wﬁrange 40 ~ +105 [°C] Tenrl-ln?range 40 ~ +105 [*C]
HE HE B
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
82500%-1)
B4 éﬁ ‘__w_}” I N | W
e o™ - T[4 & e e
Y e ‘ QL | ik, ] i et [
Il o8 Y EEK el @ge fﬂ“ E - ==
3 ) P e ===zl === i BI5(0-1)+945
P.C.B. LAYOUT
P.CB. LAYOUT P.C.B. 1AYOUT

I — s 2007 A

| | 250X 1)49.4
I
425102 [

I
1520

8.25(X1-1)
8254024 ‘
|

1615

D |
.

—f—0.60

8%
a2506-1)

]
A

[ oa
A
400403 875007

1520 azs(0-1)

(—6.20~]

SECTION A-4

500403

B2500-1)+845

SECTION A-A

Pitch:9.5mm | Pitch:9.5mm Pitch:9.5mm
MODEL:NB46 MODEL:NB46SG MODEL:NB46A

By M3.0, #, $EiE s M3.0, §, $EE s M3.0, 1, 8
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated
2R wWae, #iH IR wWae, #H il wWae, #H
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B : B : B :
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
MERE ENERE ENERE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
=7 HEEE 7T FEE
Ragt)ﬁéﬁEcurI:gnt 20[A] Ragt)éﬁEcurI:gnt 20[A] Rag;)éf:IEcurI:gnt 20[A]
fER%E _ ERZ%E R ERZ%E R
Wire range 22-12[AWG] Wire range 22-12[AWG] Wire range 22-12[AWG]
BES o RET ° IBEE °
N -40 ~ +105 [C] N -40 ~ +105 [*C] N -40 ~ +105 [*C]
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]

950+1.5
55 9500-1)

49

e

i

9.5K+5.0

178

9.640.3

145

i

| assz 134402 | 25401 | ‘
SECHION A4 b 178 9.5(0¢-1) L = =
° 050+1.2 SECTION A-A L

;
[

— 093 —



Y paspe g
JiaJi Tl&{:tgm
\” NINGBOJIAJI

Pitch:9.5mm Pitch

:9.5mm

Pitch:9.5mm ‘

# A S # Technical Date

MODEL:NB46G

# RS Technical Date

MODEL:NB46GA

# RS Technical Date

MODEL:NB46GX

P.C.B._LAYOUT N
A ——— P.

C.B. LAYOUT

184y M3.0, W, {8 185y M3.0, R, &8 124y M3.0, R, &8
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated
= WEE, EH 1R mEw, EH 1R mEw, EH
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B B B
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
EERE AERE EERRE
Rat)éd voltage 300[V] Rattd voltage 300[V] Ratéd voltage 300[V]
TR HEE TEE T
RaiﬁeﬁEcurl:gnt 20[A] Rag;*eTaEcurl:gm 20[A] Rag;tﬁEcurl:g’nt 20[A]
R _ ER%E . SRR -
Wire range 22-12[AWG] Wire range 22-12[AWG] Wire range 22-12[AWG]
AET N BEED o REE °
Tl;;;rar%e -40 ~ +105 [*C] Tﬁﬁrﬁe -40 ~ +105 [*C] T;:n;rar%e -40 ~ +105 [*C]
HE HE B
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
ErE—— =
3 9501 5(0-1) N
I~ =l ‘ = M==— = =l
s | " | 15 Sl 6 e 4 & &
‘ PrTE ‘ 4 {tu_,g i] ) e
| ‘ DENEEN | [ ‘ I =, m,
| | T p
P.C.B. LAYOUT

950014110

ERI=IEIN

95015
16 9.5(0-1)

;‘Wg anta

=
ol
—

B — Ml L5 9.5£0.2

Pitch:9.5mm

Pitch:11.1mm

Pitch:11.1mm

# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

MODEL:NB46GG

MODEL:NB66

MODEL:NB66A

A M3.0, ), #ER 124y M3.0, 0, #HR (-7 M3.0, 0, #HR
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated
128 WEE, #5 IR wWae, #H il WEE, ES
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B : B : B :
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
MERE ENERE ENERE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
ERERBIR ERERBIR EERR
Rated curllfgnt 20[A] Rated curI:gnt 20[A] Rated curI:gnt 20[A]
fER%E _ ERZ%E - ERZ%E R
Wire ran;e 22-12[AWG] Wire ran;e 22-12[AWG] Wire ran;e 22-12[AWG]
R=1 :“-If,lﬁ R N o =] -;‘-é@ R N o =] :‘EE R N o
T‘é‘“mﬁrange 40 ~ +105 [°C] T‘:“mﬁrange 40 ~ +105 [°C] T':;ﬁ]’,ange 40 ~ +105 [°C]
HE HE HE
Torque 0.5[Nm] Torque 0.5[Nm] Torque 0.5[Nm]
sspon) ! B 6.31£0.3— 1001}
8l ; I | ] [ ===21
1Y 6.3t —1lA11
H gng $J \% % 1 SL% ((1 ", »%ma{ %
" 3 3 & ™ 2
| 3 CATARACL | | s =
g IO P.C.B. LAYOUT T (x-1)+1262 »ﬂﬁ&x‘gﬂz;a |
P.C.B. 14YOUT P.C.B. LAYOUT =
IS-1)+110 1 A TR
i 810
S ENENESEN B
A H A T
== A — ﬁﬂDerC Dﬁ
| —r—0.800.1 JT
8‘ o k56203 {11027 —1.30 N— L—— - —t—
E T |ssean] 5 1.1100-1). i
95(xx-1) :




) RS T

JiaJdi
o

BARRIER TERMINAL BLOCK

-

> 7Y

SECTION BB

L5103

1860

a6

520403

=
=i
=4
="
=

1500

Pitch:9.5mm Pitch:9.5mm Pitch:10.0mm
A S ¥ Technical Date A S ¥ Technical Date #% A S Technical Date
184 M4.0, 4, R (-7 M4.0, i, R 473 M4.0, 0, #E8
Screws M4.0 Steel Ni plated Screws M4.0 Steel Ni plated Screws M4.0 Steel Ni plated
IR mae, #H 2 mWEE, &5 il wWEE, EH
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B B B
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
EERE AERE AERE
Rat)éd voltage 300[v] Rattd voltage 300[v] Ratéd voltage 300[V]
=R HeEE HE E
RaiﬁeﬁEcurl:gnt 20[A] Rag;*eTaEcurl:gm 20[A] Rag;tﬁEcurl:g’nt 20[A]
ER%E _ ER%E _ ER%E R
Wire range 22-12[AWG] Wire range 22-12[AWG] Wire range 22-12[AWG]
AET N BEED o REE °
Tl;;;rar%e -40 ~ +105 [*C] Tﬁﬁrﬁe -40 ~ +105 [*C] T;:n;rar%e -40 ~ +105 [*C]
HiE HiE HiE
Torque 1.2[Nm] Torque 1.2[Nm] Torque 1.2[Nm]
T 9.5XK+4T 10.0XX+3.3
[ — " o500 1) . 9500-1) 0.0(Xx-1)
_ e | = R
“\'Mﬁ*ﬂ* £ oo o+ &
e g Yol
5520 i v
P.C.B. 1AYOUT PLB. LAYOUT |47 | gsn09|

SSgass

500405

=
=t

i

320

=Ll

Pitch:9.5mm Pitch:11.0mm Pitch:14.0mm
# K& % Technical Date # K& % Technical Date # K& % Technical Date
184y M3.5, i), iR (2222 M3.5, i, EiR (2222 M4.0, i, 8%
Screws M3.5 Steel Ni plated Screws M3.5 Steel Ni plated Screws M4.0 Steel Ni plated
12§ HEE, EHE = HEE, EHE = HES, EHE
Pin Header Copper alloy,Ni plated Pin Header Copper alloy,Ni plated Pin Header Copper alloy,Ni plated
B R B R B R
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
REBE BEBE BEBE
Ra%tcxiEvoltage 300[V] RattﬁEvoltage 300[V] Rat}é’}voltage 600[V]
ooy hRz=N 7
Ragt)ﬁéﬁEcEErI:g nt 20[A] Ragt)éﬁEcEErI:g nt 25[A] Ra%tﬁEcEng:g nt 30[A]
P57 %R %R
\I{%Eran{ge 22-12[AWG] Vﬁfmnfge 22-12[AWG] \Af%r’?m‘ge 22-10[AWG]
ERFEIY o, R=1 -;‘-‘- o, ;EI :;-‘- o,
N -40 ~ +105 [C] N -40 ~ +105 [*C] N -40 ~ +105 [*C]
izb:zl izbizl izbizl
Torque 0.8[Nm] Torque 0.8[Nm] Torque 0.8[Nm]
9.50(XX+1)+7.50
9.50(0+ 1)
| " o Qk@ H(XX—UHIZ;
@ P Aomlelelelele
o o {@\E Aol |4,
i Helk el &
i iy l
P ! Lo SECTIONA-A
15.20 11(XX-1) ¥
T Ek
T

— 095 —




simgy SiEEE

o

NINGBOJIAJI

Pitch:8.5mm

Pitch:8.5mm

Pitch:8.5mm

MODEL:NB10-8.5

MODEL:NB10C-8.5

MODEL:NB10L-8.5

# A& ¥ Technical Date

B50X+2)+45

B500-1)

&

-
H

541

”__E

B5(X+2)H45

B500-1)

B F:
P o Y

SISl

asean

(=473 M3.0, M, &R 872 M3.0, 1, R (=73 M3.0, i, &
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated
= WEE, EH =] mae, #H 2 mae, EH
Pin Header Copper alloy,Sn plated Pin Header COpperalloySn plated Pin Header CopperalloySn plated
B B B
Housing PBT, UL94V-0 Housing PBT, UL94V-0 Housing PBT, UL94V-0
EERE AERE AERE
Rat)éd voltage 300[v] Ratéd voltage 300[v] Ratéd voltage 300[v]
Soph s Soph s oo e 2
RaiﬁeﬁEchErl:gnt 20[A] RaimeTaEchgrl:gm 20[A] Rag;tﬁEchgrl:g’nt 20[A]
fERLRE _ ER%E . ER%E R
Wire range 22-12[AWG] Wire range 22-12[AWG] Wire range 22-12[AWG]
BREES o RESE ° B °
Tg;;rar%e 40 ~ +130 [C] Tg;;rar%e 40 ~ +130 [%C] T';:n;ra%e 40 ~ +130 [C]
HiE HiE HiE
Torque 1.0[Nm] Torque 1.0[Nm] Torque 1.0[Nm]
as(ir )4 Bs(unr )45 8s(rke )46
B Wmij LT i 7J O e i i mij
Slescsie ® G °REEE ¢

10.80 |

B5X+2)+45

8500-1)

g
g

”_;I

85041

Pitch:11.0mm

Pitch:11.0mm

Pitch:11.0mm

MODEL:NB10-11.0

MODEL:NB10C-11.0
# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

MODEL:NB1

0L-11.0

[V M4.0, R, $ER 124y M4.0, X, iR 422 M4.0, 1, {EE
Screws M4.0 Steel Ni plated Screws M4.0 Steel Ni plated Screws M4.0 Steel Ni plated
Y2 WEE, #5 12 was, # 12 wWae, #H
Pin Header Copper alloy,Sn plated Pin Header Copperalloy Sn plated Pin Header CopperalloySn plated
B R Bt ; Bt R
Housing PBT, UL94V-0 Housing PBT, UL94V-0 Housing PBT, UL94V-0
HEBE EEFE EEFE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
B EB R
RateﬁEcurl:gnt 30[A] Ragt)ﬁéd curI:gnl 30(A] Rag;)éﬁEcurI:gnt 30[A]
fERLRE _ ERZ%E - ERL%E _
Wire ran;e 22-10[AWG] Wire range 22-10[AWG] Wire ran;e 22-10[AWG]

RESEE
Temp.range

-40 ~ +130 [°C]

RESEE
Temp.range

-40 ~ +130 [°C]

RESEE
Temp.range

-40 ~ +130 [°C]

HOpKH)80

180

1.0(0%-1)

3250

)

%

1.0p0t1)+80

1.00-1)

3250

i i il
Tirége 1.8[Nm] Tinfﬁe 1.8[Nm] Tinfﬁe 1.8[Nm]
11.00061) 11.0006+1) 11.0(061)
:@ I = N ) 7: gl S — - : B N = I
EEEE TEE s
L3 I I
e e s e 1 2a —— e - -

1.0peH)+80

1.00%-1)

3250

"
i

1100 |

ales
e

1100620




) RS T

JiaJdi
o

BARRIER TERMINAL BLOCK

Pitch:13.0mm

Pitch:13.0mm

Pitch:13.0mm

MODEL:NB10-13.0

MODEL:NB10C-13.0

MODEL:NB10L-13.0

H

R4y M4.0, %, fER [=¥3 M4.0, i}, ¥R (=022 M4.0, ), R
Screws M4.0 Steel Ni plated Screws M4.0 Steel Ni plated Screws M4.0 Steel Ni plated
= WEE, EH 2 mWEE, &5 2 mEw, EH
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B B B
Housing PBT, UL94V-0 Housing PBT, UL94V-0 Housing PBT, UL94V-0
EERE R E EERRE
Rated voltage 600[V] Rated voltage 600[V] Rated voltage 600[v]
Soph s Soph s oo e 2
RaiﬁeﬁEchErl:gnt 50[A] RaimeTaEchgrl:gm 50[A] Rag;tﬁEchgrl:g’nt 50[A]
fERLRE , ER%E - SRR _

Wire range 22-8[AWG] Wire range 22-8[AWG] Wire range 22-8[AWG]
=l ‘;EE‘ R N o =l EE‘ R N o =) EE‘ _ N N
Tleflrlﬁﬁrange 40 ~ +130 [*C] Tlenrl;'l?range 40 ~ +130 [°C] T’ej?'lﬂ?range 40 ~ +130 [°C]

HiE HiE HiE
Torque 1.2[Nm] Torque 1'2[Nm] Torque 1'2[Nm]
13000+1)+11 0 130004+1)+11 0 13000+1)+11.0
13.0(XX+1)+1.0 50 13.0(0+1)+1.0 13.0(XX+1)+1.0
13.50 1350
e EEE
o) = BRI -
4 H i

Pitch:16.0mm

Pitch:16.0mm

Pitch:16.0mm

! = =
S{ES(EY 2 el SESIER S
i | |
aligalialial === il
28 | e 150 0 “ | — 0 e | — 170
13.0(0¢-1}+15.40 13.000-1)+15.40 13.0(XX-1)+15.40
18y 4

MODEL:NB10-16.0

MODEL:NB10C-16.0
# K& % Technical Date # K& # Technical Date # K& ¥ Technical Date

MODEL:NB10L-16.0

16.0(0+1)

50

[T

5.20)

@)
@]
JZN\
L [T

16.0(0+1)

le.50 1600

N
@)

[T

A M5.0, 0, #ER 124y M5.0, 0, #Ei8 (-7 M5.0, 0, #ER
Screws M5.0 Steel Ni plated Screws M5.0 Steel Ni plated Screws M5.0 Steel Ni plated
YRR wWae, #iH 12 wWae, #H 12 wWae, #H
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B ; Bt ; Bt -
Housing PBT, UL94V-0 Housing PBT, UL94V-0 Housing PBT, UL94V-0
HEBE EEFE EEFE
Rated voltage 600[V] Rated voltage 600[V] Rated voltage 600[V]
B35 SET HE R
RateﬁEcurl:gnt 65[A] Ragt)ﬁéﬁEcurI:gm 65[A] Rag;)éﬁEcurI:gnt 65[A]
fERLRE _ e - ERL%E -
Wire ran;e 14-6[AWG] Wire range 14-6[AWG] Wire ran;e 14-6[AWG]
N=| :;"E", o N=| :;"é o N=| 3"@ o,
Ti;‘“mi?ra,%e -40 ~ +130 [C] T';;;ran@ge -40 ~ +130 [*C] Tlemn11§|/'an@ge 40 ~ +130 [*C]
H5E H5E H5E
Torque 2.5[Nm] Torque 2.5[Nm] Torque 2.5[Nm]
16.000+1)+13 16.000+1)+13 16.0(X(+1)+13

16.0(X¢+1)

16.00

e
@
@]

by
ATHE

= IERIT

e

16.00
Ev 60(XX-1)

16XK+3.0




+ b [ 4E
JiaJi Tl&{:tgm
\ > NINGBOJIAJI

Pitch:21.0mm

MODEL:NB10-21.0

Pitch:21.0mm

MODEL:NB10C-21.0

Pitch:21.0mm

MODEL:NB10L-21.0

i
N

(=473 M6.0, M, &R 872 M6.0, 1, iR (=73 M6.0, i, R
Screws M6.0 Steel Ni plated Screws M6.0 Steel Ni plated Screws M6.0 Steel Ni plated
= mEw, E% 1R mEw, EH 1R mEw, EH
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
Bt B B
Housing PBT, UL94V-0 Housing PBT, UL94V-0 Housing PBT, UL94V-0
R E R E EERRE
Rated voltage 600[V] Rated voltage 600[V] Rated voltage 600[v]
=R SER e R 32
Raiﬁefcﬁgrl:gm 115[A] RaimeTaEchgrl:gm 115[A] Rag;tﬁEchgrl:g’nt T15[A]
fERLRE _ R . SRR _
Wire range 8-2[AWG] Wire range 8-2[AWG] Wire range 8-2[AWG]
EESEE 40 - N EEEE 40 N EEEE 40 . N
St 40 ~ +130 [C] N i 40 ~ +130 [°C] PRron] 40 ~ +130 [°C]
HE HE B
Torque 3.0[Nm] Torque 3'0[Nm] Torque 3'0[Nm]
21.00XK+1)48.0 21.000XK+1}48.0 21.00(KK+1)+8.0
21.00(XX+1)-5.0 21.00(XX+1)-5.0 21.00(XX+1)-5.0
6.50 1850 | ‘ 6.50 1850 650 18.50 "
] LT 1] 5 | ‘ 1]

S00on

sEEE

EEEEC

550
[12.00]

ssol] ||
[1200]

35.00

35,00

29.50
56.00

29.50
56,00

i
D)
%4

]
E
b
E
]

e =]
Sk wE

|
| ) |
2800 21.00 [ 2800 21.00 ! [ 28.00 [ L aw ] ! !
21.00x-1) 21.00-1) 21.0(0¢-1)
21004300 2100300 21.000+3.00

Pitch:27.0mm Pitch:27.0mm Pitch:27.0mm

MODEL:NB10-27.0 MODEL:NB10C-27.0 MODEL:NB10L-27.0

A M8.0, M, #HiR 124y M8.0, M, #HiR (-7 M8.0, M, #HiR
Screws M8.0 Steel Ni plated Screws M8.0 Steel Ni plated Screws M8.0 Steel Ni plated
YRR WEE, #5 2 WEE, #5 el WEE, ES
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B R B - B R
Housing PBT, UL94V-0 Housing PBT, UL94V-0 Housing PBT, UL94V-0
MERE EEFE EEFE
Rated voltage 600[V] Rated voltage 600[V] Rated voltage 600[V]
B =7 FEE
RateﬁEcurI:gnt 170[A] Ragt)ﬁéﬁEcurI:gm 170[A] Rag;)éﬁEcurI:gnt 170[A]
fER%E - ERZ%E _ EFR%E -
Wire ran;e 10-2[AWG] Wire ran;e 10-2[AWG] Wire ran;e 10-2[AWG]
N=] ;\"ﬁ o N=| :;"é o N=| 3"@ o,
Ti;‘“mﬁra,%e -40 ~ +130 [C] T';;;ran@ge -40 ~ +130 [*C] Tg;;;an@ge 40 ~ +130 [*C]
HE HE HE
Torque 6.0[Nm] Torque 6.0[Nm] Torque 6.0[Nm]
27.00%-1)457.00 27000 1)+57.00 2700%-1)+57.00
272000 1)+4400 27000 1)+44.00 272000 1)+4400
65 6.5 220 1 65
LL | i | L]
= ek i = i :’;;l =
F i F ) il @:k =

440

i
wm

2700
27.00¢-1)

27006440

e

2700
t " 7p1)

2700240

|
270006-1)

270040

p==l
==
il
==1

— 098 —



) RS T

JiaJdi
o

BARRIER TERMINAL BLOCK

Pitch:7.62mm

Pitch:8.5mm

Pitch:11.0mm

MODEL:NBCZX7620

MODEL:NBCZ8500

MODEL:NBEM-1

18y M3.0, W, & 184y M3.0, W, HEER 472 M4.0, W, EBS
Screws M3.0 Steel Ni plated Screws M3.0 Steel Ni plated Screws M4.0 Steel Au plated
= WEE, EH 2 mWEE, &5 il mWEE, Ee
Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Au plated
B B B
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
EERE AERE AERE
Rat)éd voltage 300[V] Rattd voltage 300[V] Ratéd voltage 300[V]
Soph s Soph s oo e 2
Raiﬁefcﬁgrl:gnt 15[A] RaimeTaEchgrl:gm 15[A] Rag;tﬁEchgrl:gnt 20[A]
fERLRE _ ER%E . SRR -

Wire range 22-14[AWG] Wire range 22-14[AWG] Wire range 22-12[AWG]
BESBE 40 ~ o BESBE 40 ~ o BESBE 40 ~ o
Tgﬁrange 40 ~ +105 [*C] TI:rlHﬁrange 40 ~ +105 [°C] Té‘,‘_‘n?range 40 ~ +105 [*C]

HiE HiE HiE
Torque 0.5[Nm] Torque 0.5[Nm] Torque 1.2[Nm]
11.00XX+3.80
v 260 17.000-1) 5250
< L 7.62(xx-1)+9.04
K (fﬁ( ﬁ 3 e | ‘u
I~ = A L gu I T F‘ uﬂl‘\“quu%%@ 2
7.6200=1) E e
7.62(XX—1)+9.04 s ¥ A RY E @ thut
“ U ‘9 2.50 S
e} 11.00XX+12.40 o
3 11.000+090
o ¥ 1 =
1= = : ==)==) = | NN
g ‘ ! 680 i : SIN
R Hﬁ oabd B = \ NG
7.62(XX-1) 4.00 11.&)_
11.00(XX+1)+8.20

Pitch:11.0mm

Pitch:11.0mm

Pitch:11.0mm

MODEL:NBEM-1A

MODEL:NBEM-2

MODEL:NBEM-2A

# K& % Technical Date # K& # Technical Date # K& Technical Date

[V M4.0, ), ES [ =F22 M4.0, X, EE 422 M4.0, X, ES
Screws M4.0 Steel Au plated Screws M4.0 Steel Au plated Screws M4.0 Steel Au plated
YRR wEE, e 2 WEE, Ee el WEE, B
Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated
B : B : B :
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
MERE ENERE ENERE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
TEFBIR ERERBIR EERR
Rated curllfg'nt 20[A] Rated curI:gnt 20[A] Rated curI:gnt 20[A]
fER%E _ ERZ%E - EFR%E R
Wire ran;e 22-12[AWG] Wire rang:;e 22-12[AWG] Wire rang:;e 22-12[AWG]
R=1 :‘E@ R N o =] -;‘-é@ R N o =] :‘-é@ _ N o
T‘é‘“mﬁrange 40 ~ +105 [°C] T':;ﬁrange 40 ~ +105 [°C] T’e“;?;ange 40 ~ +105 [°C]
HE HE HE
Torque 1.2[Nm] Torque 1.2[Nm] Torque 1.2[Nm]
11,00;;)(4) 250 2 260 E 2.50 _ ﬂ |
0 N [ 1l L
1 n
ol [lmymn g ®, ’ i h%%u@((m@d‘ :
3 @{ I==lis= < = s ) E
02.50 |00 ] = & 1 7 (62)%50
11.00XX+3.80 ] 11.00(XX-1) ] 2 11.0000¢-1)
11.00XX+12:40 - 11.00KK+3.80 % 11.00X+0.90
11.00X%+0.90 11.00X+0.90 B - -
13.05 i — 1305 T 11,0\0
e n. i
o o S g
; |E2]E< /I g s Bl
/ g 7o : -
[t :f #6.80 u u ,l g .40
I 8 ,J 2 HE] EH L] ] #3.40
o g = ¥ w00 | | —H _ 1 J A J_Lu 400 - J h LQO_JJLJ
H ~ N N —
g 11.00(0¢+1)+8.20 & 11000 = :; ZZﬁ;ﬁigg

— 099 —




+ ) = + 4=
JiaJi Tl&{:tgﬂ
NINGBOJIAJI

o

Pitch:11.5mm

Pitch:8.8mm

Pitch:12.5mm

MODEL:NBEM-3

MODEL:NBEM-4

MOD

EL:NBEM-5

# A& ¥ Technical Date

18y M4.0, W, #ES 184y M3.5, ¥, ES 472 M4.0, W, EBS
Screws M4.0 Steel Au plated Screws M3.5 Steel Au plated Screws M4.0 Steel Au plated
=) mWEE, Ee 2 mWEE, Ee 2 mWEE, Ee
Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated
B B B
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
EERE AERE AERE
Rat)éd voltage 300[V] Ratéd voltage 300[V] Ratéd voltage 300[V]
SR SR TEE T
RaiﬁeﬁEcurl:gnt 20[A] RaimeTaEcurl:gm 15[A] Rag;tﬁEcurl:g'nt 30[A]
fERLRE _ ER%E - SRR -
Wire range 22-12[AWG] Wire range 22-14[AWG] Wire range 22-10[AWG]
BREED o RESE ° B °
Tg;%rar%e -40 ~ +105 [C] N -40 ~ +105 [C] N -40 ~ +105 [*C]
HiE HiE HiE
Torque 1.2[Nm] Torque 0.5[Nm] Torque 1.2[Nm]
49.60 . 82.70 44.00
43.60 ‘ 12.50
82.80
J— ‘ z
lyjestasiey 38 | | By
% SlliszisaIEs i
d wl O U] R L |
T 3 g o -
36,00 H 28.10 5
T - 17.60 . 2500
[Ejass z Dl Et
‘ ; SlElel : JEEH]
: ntl | T ] I 3 Il
CJH W - U H L, L= Te
sal gy g A P 5 —
2300 3 30.40 8
SECTION:A-A SECTIONA-A - SECTION: -4~ ¥

Pitch:12.5mm

Pitch:12.5mm

Pitch:11.0mm

MODEL:NBEM-51H

MODEL:NBEM-52H

MODEL:NBEM-1H

# K& % Technical Date # K& # Technical Date # K& Technical Date

[V M4.0, ), ES [ =F22 M4.0, X, EE 422 M4.0, X, ES
Screws M4.0 Steel Au plated Screws M4.0 Steel Au plated Screws M4.0 Steel Au plated
YRR wEE, e 2 WEE, Ee el WEE, B
Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated
B : B : B :
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
MERE ENERE EEFE
Rated voltage 300[V] Rated voltage 300[V] Rated voltage 300[V]
B W WEER
RateﬁEcurl:gnt 30[A] RateﬁEcurI:gnl 30(A] RateﬁEcurI:gnt 20[A]
fER%E _ ERZ%E - EFR%E R
Wire ran;e 22-10[AWG] Wire range 22-10[AWG] Wire ran;e 22-12[AWG]
N=] :;"é’, o N=| :;"é o N=| 3"@ o,
Ti;‘“mi?ra,%e -40 ~ +105 [*C] T';;;ran@ge -40 ~ +105 [*C] Tlemn11§|/'an@ge 40 ~ +105 [*C]
HE HE HE
Torque 1.2[Nm] Torque 1.2[Nm] Torque 1.2[Nm]
41.30 5950 11.00XX+2.10
N : T ; R : 140 A 1100
— i —A 1 16.90 /® °
|| D dP o ® o |l 7 |edee |
H | Hi | ey
17 | . oso gy ipmim el
- S T oo o ] o3 | A 3
sl s 2 H < 000x-1) | <
12.50 12.50 - § Mv__l A o O[ « i §
o0 40 % SECTION:A-A ] g R SECTION:A—A 10000+ 1)41.50 5
) ‘ - 400
e ‘ ‘ Eli E o g E ﬁ ﬂg % 02.50
) 2 = i) ik
@ #2.50 11.00XX+4.20
] 4410 11.00(XX+1)+8.30




) RS T

JiaJdi
o

BARRIER TERMINAL BLOCK

Pitch:11.0mm

Pitch:11.0mm

el L

4

Pitch:12.65mm

MODEL:NBEM-2H

MODEL:NBEMT-2

MODEL:EMT-3

# RS Technical Date

[V M4.0, ), ES [2¥22 M4.0, 1, ES 422 M4.0, X, EE
Screws M4.0 Steel Au plated Screws M4.0 Steel Au plated Screws M4.0 Steel Au plated
12 mWEE, Ee 2 WEE, Ee 12 mWEE, Ee
Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated Pin Header Copper alloy,Au plated
B B B
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
EERE AERE AERE
Rat)éd voltage 300[V] Rattd voltage 300[V] Ratéd voltage 300[V]
ey S S
Raiﬁefcﬁgrl:gm 20[A] Rag;*eTaEchgrl:gm 20[A] Rag;*eTaEchErI:g’nt 30[A]
fER%E _ ER%E - ER%E R
Wire range 22-12[AWG] Wire range 22-12[AWG] Wire range 22-12[AWG]
AES N BEED o REE °
Tl;;;rar%e -40 ~ +105 [*C] Tﬁﬁrﬁe -40 ~ +105 [*C] T;:n;rar%e -40 ~ +105 [*C]
HiE HiE HiE
Torque 1.2[Nm] Torque 1.2[Nm] Torque 1.2[Nm]
11.00XX+2.10 20 o £
14.90 A, 00 . i 7@1
E =HEN ala 4 -0 [ .
1 8| NZANZ : :
g\ i )} ' ‘ B3 B I|E= B B
~ 1 | T
T i AN ﬁ
4.00 P 42 3 E|
A o E
b 11.00(XX~1) g . 7
: ‘ Fa .y .
© 11.00XX+4.20 RN [ox |@S @Sl
al (@ i % | [POD il
o s 5 El B 0 L i
5 nkiing q i Lﬁ;lj]iﬁﬂ =0 1 '
¥ - ‘ 3 1 I

a
f.,.

Pitch:11.0mm

Pitch:11.0mm

Pitch:11.0mm

MODEL:NBEMT-4

MODEL:NBEMT-21
# K& % Technical Date # K& # Technical Date # K& Technical Date

MODEL:NB246-7.5

3 M4.0, i, #Hg (287 M4.0, 0, HHER (-7 M4.0, 0, $E8R
Screws M4.0 Steel Au plated Screws M4.0 Steel Ni plated Screws M4.0 Steel Ni plated
IR wae, Ee 2 wWae, EE 12 wWaE, EE
Pin Header Copper alloy,Au plated Pin Header Copper alloy,Sn plated Pin Header Copper alloy,Sn plated
B : B : Bt :
Housing PA66, UL94V-0 Housing PA66, UL94V-0 Housing PA66, UL94V-0
HEBE EEFE EEFE
Rated voltage 300[v] Rated voltage 300[v] Rated voltage 300(v]
ERERBIR ERERBIR EERR
Rated curllfgnt 30[A] Rated curI:gnt 30(A] Rated curI:gnt 30[A]
fER%E _ ERZ%E - ERE R
Wire ran;e 22-12[AWG] Wire ran;e 22-10[AWG] Wire ran;e 22-10[AWG]
N=] ;\EE _ - o N=| :;EE _ - o N=| 3"@@ _ . o
T‘:nmﬁrange 40 ~ +105 [°C] Tgmmﬁrange 40 ~ +105 [°C] Tlen:1§|/'ange 40 ~ +105 [°C]
HE HE HE
Torque 1.2[Nm] Torque 1.2[Nm] Torque 1.2[Nm]
. e R
8 < ;
Nl=s] ﬁ % || oo ook D‘
;J‘ f t t t -M, 110008.70 2
‘ H;{ Lu Lu Lu 7 2110 % 11.00X%+2 00 11.00XK+2.00
— g N 11.000%-1) 2110 11.00(0¢1)
E A 1] A 0]
500
== — ] gﬁ* gg E [z
N ‘ [T ] N «ij H H H i || 30 ﬂ H lJ U ‘ ‘ | |30
g T o 1 an oo [ ] 7
H:J Hj{ ; ‘EH LE% g ﬂ.ﬁa(xxu)m.ua 10000+1)+5.00
48.00 =

— 101 —




	页 1
	页 2
	3: 企业简介
	4: 目录
	5: 螺钉式
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 93
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101
	页 102
	页 103

